&S 58 TR HRIBF SRRE |7 | BRES | hE(m) | FEKe) BRERE
1 |FEHI0FE10A28  |EIIH Koo ET 3 4EK 47 2 =]
2 |ER31E1A3E EAGHT S ET ;. e 65 6 =]
3 |FRBIF2A1TH  |EHH BE ET ;. RRER 100 #130 =3
4 |FEm3143A28 FERT =/ E kT H REER 87 #20 =43
5 |FEm3143A8H mARET |ELE T iy REER 85 10-15 =43
6 |FRSIE3IA22E  |ENIH Boa ET 3 RRER 85 14 =]
1 |FE31£3A268 |(FBEWm (/A ET ;. RRER 120 HEE40 =]
8 |®RMILFETA298 BEHMH AEAR ET ;. 4E #130 1 =]
9 |RFIE8A22H [ITEIA:) MR T 3 e #160 5 =i
10 |SFIEIA1TH FEARET EE ET ;. 4E 62 T =3
11 |SF1F10A21R  |BERTH [KEFER bk L. RRER 135 65 =3
12 |9F1F10A21R  |BERT [KEFER bk L. e 95 30 =]
13 |®F1F10A24R |MRMHH |BH ET ;. 4E 80 20 =3
14 |SFM1F10A278 |(HERT |BREF) bk ;. REER 150 100 =3
15 |®F1F10A28R |HERT |®REFWL bk 3 e 85 30 =]
16 |®F1F10A288 |HERT |BETRE bk 3 REER 140 100 B
17 |SF1F10A30R |HERT ®BREFAR bk L. e 60 20 B
18 |SFIFI0A31R |BERTH |[‘KEEFEH bk 3 e 80 10 =i
19 |SFIFI10A31R  |BERTH |[&KEEH Fh ;. 4EK 90 13 =i
20 |SFILE11A1R EEERT  |RESHRE bk 3 REER 130 75 =i
21 ||MILE11A1R EEERT  |RESHRE bk 3 e 90 25 =33
22 |SMIL11A1R BR#HTH |EiE ET ;. REER 110 50 i
23 |SMIL£11A28 EEERT  |RESHRE bk ;. e 70 20 =i
24 | SMILE11A28 EEERT  |RESHRE bk 3 REER 120 55 B
25 |SFI£E11A28 EEERT  |RESRE bk ;. REER 140 60 B
26 |FHMIENANE |(HERT |[RETARR bk 3 e 60 20 i
2] |FWIFENAI12E |EXTH L3R5 ET 3 e 75 35 i
28 | HHMIFNA12E  |HERT |RESTRE bk ;. e 65 25 =i
29 |HHMIFNAIBE |HEERT |REEHFH bk 3 REER 100 50 =i
30 |HMIFNAME  |[HERT |&ETRE bk 3 e 65 25 =]
31 |HMIF11ABE |FEREFET |ER ®T ;. e 67 8 =i
32 |HMIFNANIE |HBERT |REFHR bk 3 REER 140 70 =i
33 |HMIFNANIE  |[HERT |[&EFWUL bk 3 e 60 15 =i
4 | HMIFNANE  |[HERT |&EHRE bk 3 e 60 20 =i
35 |HMIFIAIBE  |HERT |&EHRE bk ;. REER 135 65 =i
36 |HMIFI11AI1BE |HERT |KEFHR bk 3 REER 130 70 =]
37 |HMIF11A18E |HERT |RETAR bk ;. e 80 25 =]
38 |HMIFI1A208 |HERT |[&ETRE bk ;. e 65 20 =i
39 |HMIFINA2ZE |BERT |[&EEH bk 3 REER 120 60 =]
40 |HMIFIA24B HBERT |RETKR bk 3 e 45 6 =i
a1 |\HMIFIA248  |ERFEH  |=4 ®T 3 REER 110 60 =i
42 |HMIFI1ABE |BERRT |[&EEH ®T ;. e 50 10 =i
43 |HMIFI1A2IE |HBERT |REFBHR bk 3 REER 110 40 =i
4 |HMIFINA2IE |BERRT |REFHR bk ;. e 80 15 =i
45 |HMIFNA2IE  |BIE =i bk 3 REER 144 52 =i
46 ||MIEI11A288 |ERET B0/ L ik ] H SER 75 15 =412
47 |SMIE1A298  |pERT (AL bk 3 e 60 15 =i
48 |HMIFI1A298 | KHHT I0]::] bk 3 RRER 110 65 =i
49 |HMIF1A298 HBERT |[RE=7XK bk ;. e 80 14 =i
50 |®MILFL11A298 |/bEART |- bk 3 RRER 120 60 =i
51 ||MILEI11A298 |mREHFEH |- bk ;. RRER 120 65 =i




= &R TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
52 |SHMILE11A0R |EAXT iR s s RRER 110 50 =3
53 |HHMIE1TA0R |HERET |&E bk ; RRER 140 60 (=]
54 |SHMILE11A0E |[HERT KRETAR s ; RRER 120 70 =]
55 |HMI1£12A1H HERT |REFWU s ; RRER 120 70 (=]
56 |HMI1&F12A1H /NEET |- s L RRER 125 100 =3
57 |&MI1£12A1H % )I18T 2R} s s HE 85 13 =]
58 |HMI1£12A2H0 EXH iR s ; RRER 100 50 =3
59 |HMI1£12A2H EXH fRi s L RRER 111 21.4 =3
60 |HMIF12A2H BRMAT  |FER s ; RRER 103 28 =3
61 |HM1F12A28 /MERET |BE s L RRER 128 135 =53
62 |HMIF12A28 % )I18T = s ; HE 91 12 =3
63 |HMIF12A28 % )I18T = g | R B 13 20 =3
64 |HMIF12A28 =5 RAR bk [ RRER 76 40 =3
65 |HM1F12A3H EL#RHET ARAR g | R HR 90 17 =]
66 |HM1F12A3H AINF Bra bk h HEK 80 7 =3
67 |HMIF12A3H EL#RHET ] bk L RRER 145 110 =]
68 |HM1F12A48 ¥R ET REEF g L RRER 80 40 =3
69 |HMIF12A48 /MERT (BEN g L HE 60 15 =]
70 |[HM1F12A48 NGRS g B HEK 50 25 =]
| SM&E12A48 FEARET XEEH g [ ; RRER 98 70 =3
72 | SM1£12A5H /MERET (KR g L SHE 90 40 =]
13 | HMI£F12A58 =5 BE g [ ; RRER 12 60 (=3
74 |[HMI£12A6H /MERT (BEN g [ HE 50 15 =3
75 | HMI£12A6H /MERT (BEN g L RRER 60 25 =3
76 |HM1£12A7H EXH th Ik g B RRER 112 40 (=]
77 | SM&E12A7H HERT |REEFH g L HE 70 8 (=3
8 | HME12A7H MHEW | LEE g [ RRER 120 90 it
19 |[HMI£E12A78 ITp14:) AW g [ ; RRER 125 55 =3
80 |HMIL£12A8H FAINF Bora g [ ; RRER 150 45 =3
81 |HMiI&£12A8H EXH L35 g [ RRER 140 45 (=]
82 |HMILF12A9A ANNF Bora g [ RRER 120 30 =3
83 |HMILF12A9A =5 it i [ RRER 102 34 =]
84 | HMILFI12A9H EL#RHET ERAR e ;3 HE 90 15 =3
8 |HMILFI12A9H EL#RHET =] g [ SHE 80 15 =3
86 |HMILFI12A9A /MERT (BEN g i RRER 120 70 (=3
87 |HHMILE12A108  |tREHET R EKE e i RRER 110 80 (=]
88 |HMILFI12A10A |MREMHTH (AW g [ RRER 101 28 (=]
89 |HHMILF12A10R |EiRHET & g [ RRER 80 20 (=]
90 |HHE12A11A  [IUdLHr A g [ RRER 127 60 (=]
91 |HHILF12A12B  |EREMT  |KHE g [ RRER 84 18 (=]
92 |HHMILE12A138  |EERHET =] g [ RRER 110 60 (=3
93 |HHNILF12A13R |HA#ET  |&E/DH g [ RRER 130 80 (=3
94 |HHILF12A138  |HA#RET  |&E/DH g [ HHE 50 8 (=3
95 |HHILE12A13R |[HAEET |[KEEH g [ HE 65 8 (=3
96 |HHIEI12A14R  |WAEET REEF g [ RRER 85 35 (=3
97 |SME12A148 | EH™H FuWl g [ RRER 83 23 =3
98 |HMIFI12A148  |RHH FuWl g 3 RRER 150 109 (=3
99 |FMIFI12A158 |RHH FuWl g [ RRER 106 15 (=3
100 |HHMI1E12A15A |(#HERT |GESH g [ HE 90 20 (=3
101 |S#F1E12A158 | EERET ERAR e 3 RREK 130 100 (=3
102 | HMIE12A168  |FINF Bra e 3 RRER 150 75 =3
103 | HHMIE12A16A |(#HERT | &EEH T | FH| HR 30 H =]
104 | SHI4E12A168  |HAEET REKE e [ HE 120 70 (=3
105 |HHIE12A168  |FINF Bra e i HE 80 10 (=3
106 | HHIE12A168  |FINF Bra s [ HHE 80 8 (=]




= &R TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
107 | SM1E12A168  |FINF Bra bk ; HE 80 8 =]
108 |S#I1F12A17R 7540087 AR s L RRER 80 40 =]
109 |wM1F128188  |/MART |- g ; RRER 100 80 =]
110 | HME12A198 | KHET ®F g L RRER 80 40 =3
1M |SMIF12A198 |&BHH FEF g ; RRER 132 80 =3
112 |Sf1F12A198 |&HH RAR s L RRER 122 80 =3
113 | HM1E12A210 | EERHET & M s ; RRER 110 45 =]
114 |Sf1F12A218 |#HH iR s L RRER 142 60 =3
115 |S#1F12A218 554087 k] g L RRER 100 80 =3
116 | SMIFE12A228  |(#HERT |&XEH s L RRER 120 60 =]
17 |SM1E12A228  [IUdLHEr AR g ; RRER 132 75 =]
118 |4f1F12A22A |&HH el ke AR g ; RRER 92 30 =3
119 |4f1F12A228  |&HH dtx% Ein g [ ; RRER 92 25 =3
120 | SM1EFE12A22A  |(#HERT |®EE=7XK ik L RRER 130 40 (=]
121 | SM1E12A23 |(#HERT |&E=H g L RRER 130 80 =3
122 |SM1FE12A238  |BERE |24l ik L RRER 75 20 (=]
123 |SHM1F12A23R  |BERE |24l ik L RRER 83 40 (=3
124 |SH1FE12A24R  |EBRRAT |[KREEHLEHF bk [ HEK 80 8 (=]
125 |S5f1F12A248 | &HH it g L RRER 110 40 =3
126 | HMI14E12A258 | KFHET =E g L RRER 140 130 (=]
127 | HM14E12A258 | KFHET 1)) bk [ ; RRER 80 30 (=3
128 |S#MI1£E12A26R |[HBRT |REEHPE ik [ RRER 120 90 =]
129 | HM14E12A268  |HAEET il g [ RRER 120 90 =3
130 |Sf1412A268 |[/MEERT |[EEE g [ RRER 110 80 =]
131 | HM1E12A2TH | KFHET =E g [ RRER 80 40 (=3
132 | HM14E12A278  [IUdLHEr SN g [ ; RRER 115 45 (=3
133 |4f1£12A288 |&HH BE g L RRER 134 50 (=]
134 |S5#1E12A288 |&HH BE g B RRER 130 50 =3
135 | HHMI14E12A308  [IUdtHr EHEN g [ RRER 115 45 (=3
136 | HMI4E12A31A  |WEET REME e [ RRER 90 40 (=3
137 |SM2&E1A1R ITp1A:) s g [ RRER 100 40 =3
138 | HM2&E1A2R =5 EELIR g L RRER 114 55 (=3
139 | HM241A3R FiEH &R e ;3 RRER 155 95 (=3
140 | HM24E1A4R FANNF Bra e ;3 RRER 130 60 (=3
141 | SM2&E1/A4R KT 1) g [ RRER 90 50 (=]
142 | SM2&E1A4R KT RE g [ RRER 90 60 (=]
143 | HM2&E1A4R KT &iR g [ RRER 132 80 (=]
144 |\ SMI24E1A6R HERT |RE ET L HE 70 7 (=3
145 | HHI24E1A6R =5 REARTR g [ RRER 100 20 =3
146 | HHI24E1A6R =5 REARTR b ;3 RRER 100 20 (=3
147 | SM2&E1A6R =5 REARTR g [ RRER 125 30 (=3
148 | HMI2%E1A7TRH HERT | REEF g [ RRER 100 50 =3
149 | HM2&E1/A148 AINF Bra g L RRER T 60 (=]
150 | HHI24E1A148 =5 FRFRAA e i RRER 106 70 (=]
151 | HHM24£1A158 HERT | REEF g [ HE 70 15 (=3
152 | HMI24E1A16H =5 REARFFE g [ RRER 76 25 =]
153 | HMI2&E1A17H %1187 NELW g [ RRER 100 50 (=]
154 | HMI24E1A198 HiEET | REFAR g [ HE 60 15 (=3
155 | HHI24E1A198 HiEET | REFAR mE | R HR 70 15 =3
156 | HHI24E1A198 HiEET | REFAR mE | R HR 55 10 (=3
157 | HM2&E1A198 %1187 =i e [ RRER 135 78 (=]
158 | HHI24E1A20H HERT |REFWU s 3 HE 65 15 =]
159 | HHI24E1A208 LiSEBr =EHN g 3 RRER 120 50 =3
160 | HHI24E1A218 % )I18T B e i RRER 140 80 =3
161 | HM2&E1A218 %1187 =i mHE | R AR 140 65 (=3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
162 |S#251A218 %1187 =i e L RRER 130 50 =]
163 |S#251A21H HERT |REEF e it RRER 140 80 =]
164 |S#251A218 HERT |RERE g | R B 125 60 (=]
165 |S#1251A21H %1187 e s i HE 120 30 (=3
166 |SF1241A22H =5 BE s it RRER 85 25 =]
167 |S#251A22H =5 Ex4 s i RRER 100 30 =3
168 |S#1251A24R HERT | REEFLEH e s HE 80 30 (=3
169 |S#1251A24H b 1) hE s it RRER 106 15 (=]
170 |%#0241A25H0 HERT | REERMTE s L HE 110 70 (=]
171 |5#251A25H0 %1187 =i e ; HE 80 20 =3
172 |5#0251A268 YR ET R EME e L RRER 70 40 =]
173 |%#251A27H FEARET WHEER s ; RRER 100 70 (=3
174 |S#251A27H MERT (RF bk i HEK 40 15 =3
175 |5#0251A29A0 FFEH 5 H bk L RRER 100 45 =3
176 |<#0241A30H FFEH E&ER e L RRER 133 55 =3
177 |%#0251A30H HERT |REEF ET L HHER 80 20 (=53
178 | HM2%2A1R K3tHHET =E g i HE 80 10 (=3
179 | SM2%2A1R #HiERT | RE=4K e i RRER 100 50 (=]
180 |HHMI2%2A1R HiERT | RETRE e L HER 65 15 =]
181 | HHM242A2R HERT |REEHE g i RRER 110 50 =]
182 | HHM242A3R HERT | REEF e i RRER 100 40 (=]
183 | HHMI242A3R HERT | REEH e i RRER 110 50 (=]
184 |S#I252A48 ELARHT - e it RRER 80 18 (=]
185 |S#I242A48 ELARHT - e i RRER 80 15 (=]
186 |HHMI242A4R HiERT | RETRE e L RRER 140 80 (=3
187 |HHM242A5R ELARHT =] g it RRER 170 120 =]
188 | HHMI242A6R FiFEH iR bk i RRER 105 40 it
189 |S#I252A7H FBRM |75 e it RRER 158 93 =3
190 |H5HM242A7RH FB8RT |=/EB e i RRER 90 40 (=3
191 | SM242A7RH %1187 =i e [ HE 70 20 it
192 | SM242A7RH HERT |REIR b i RRER 155 80 (=3
193 | HM242A7RH FEARET WHEER g [ RRER 100 70 =]
194 |\ SMI242A7RH L) REEF e ;3 RRER 110 30 (=3
195 | HHI242A7RH /MERT (BEN g i RRER 130 40 (=3
196 |HM252A7AH EARHT AERERT g ;3 RRER 150 100 (=3
197 |HM252A9A KT RE g [ RRER 120 80 (=]
198 |HM252A9A KT == e ;3 RRER 130 90 (=]
199 | HM252A9A P L) &R e [ RRER 133 72 (=]
200 |SF2£42A108 HEARET  (BAE e i RRER 90 90 =3
201 |SF2£2A118 %Iy = e ;3 RRER 129 37 (=]
202 |SF2£42A118 %Il E7 = e i RRER 113 25 (=]
203 |SF2£42A118 FB8RMm |=/B b i RRER 160 25 =3
204 | SF2£2A118 —Eir =B e i RRER 102 20 (=]
205 |SF2£42R128 —Eir hE e i RRER 161 80 (=]
206 |HH24&E2A12H BB x5 e i HE 50 15 (=3
207 |SF2£42R138 L) % e 3 RRER 140 90 (=]
208 |F242R14R KT == e i RRER 80 40 =]
209 |SF2£42R148 K3tHHET == e 3 RRER 160 120 =]
210 |SH2£2R148 1) B s [ RRER 148 80 =3
211 | 5M2£&2R148 1) B e 3 RRER 136 50 (=]
212 | 5M2£52R148 1) B e 3 RRER 113 20 (=]
213 |SH242A 148 HERT R e 3 RRER 120 80 (=3
214 |SHM242A15H HERT R e 3 RRER 140 60 =3
215 | SM2£2R168 ZEHr - e i RRER 123 45 =3
216 |SH24&2A16H i EL) R EME e [ HE 60 15 (=3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
217 |SHM24E2A16H HiERT | RETRE e L HE 80 25 =]
218 |SHM24E2A16H HERT | REEF s ; RRER 90 30 =3
219 |SHM24E2A16H HERT | REEF g L RRER 60 30 =]
220 |SHM24E2RA17H FFEH ITE s s RRER 100 55 (=3
221 |SHM24E2R17H % )I18T e s s RRER 127 44 =]
222 |SHMI24E2A19H FRERM |78 s L RRER 160 96 =3
223 |SHI24E2A19H ITp14:) N s ; RRER 130 70 =]
224 |SH24E2A19H HERT & s i RRER 150 70 =3
225 |SHM24E2A218 FEARHET RE e it RRER 100 70 =]
226 |SHM24E2A218 E#RHET ARERT g L HE 90 18 =3
227 |SHM24E2A218 EXH iR s L RRER 149 75 =3
228 |SHMI24E2A21H SR #/A s L RRER 97 34 =3
229 |SHM24E2A24H EXH E#EiR bk [ RRER 100 50 =3
230 |SHM24E2A24H ITP14:) s bk L RRER 130 75 =]
231 |SHM24E2A24R KT =E bk L RRER 100 70 =3
232 |SHMI24E2A24H Kilr RE e [ RRER 148 65 =]
233 |SHM24E2A24H HERT |REEHE g L RRER 140 70 (=3
234 |SHM24E2A24R HiERT | RE=7K g L RRER 80 40 (=]
235 |SHMI24E2A25H EL#RHET ARART g [ ; HEK 90 17 (=3
236 |SHM24E2A25H % )I18T = g L RRER 140 30 =]
237 |SHM24E2A25H % )I18T = g L RRER 120 25 =3
238 |SHMI24E2A25H =5 Ex4 g L RRER 90 20 =3
239 |SHM24E2A26H EXH iR bk [ RRER 100 40 (=]
240 |SHI24E2A28H KT 1)) g L RRER 100 45 (=]
241 | 5HM24E2A28A KT 1)) bk B RRER 90 40 =]
242 | SHI24E2A29H HiERT | RETRE e h RRER 80 25 (=3
243 | SH24E2A29H HERT | REEF g [ ; RRER 100 50 (=3
244 | SH24E3A1H HERT |REFWU g L HE 70 12 (=3
245 |SHM24E3A28 HERT |REEF g [ RRER 100 50 (=3
246 |SHI24E3A2R %1187 e g [ RRER 100 50 it
247 |SHM24E3A3R =5 iR g [ RRER 95 30 =]
248 |SH24E3A5H HiERT | RETRE e [ RRER 80 25 (=3
249 |GH24E3A5H HiERT | RETRE e [ RRER 140 70 =3
250 |GHM24E3A5H EXH L35 e ;3 RRER 144 80 (=3
251 |SH24E3A5H HERT | REEH g [ RRER 80 20 (=3
252 |GHI24E3A6H EXH th Ik e i RRER 95 40 (=]
253 | M243A6R KT == e ;3 RRER 100 50 (=]
254 | M2£43A9A EL#RHET Bot g i RRER 100 25 (=3
255 |H243A108 TRy =l g [ RRER 75 18 (=]
256 |SM243A118 =5 hE ET B RREK 130 60 (=]
251 |SM243A118 TRy =l g [ RRER 60 15 =3
258 |SM243A118 L ET =l g ;3 RRER 60 15 (=]
259 |GH24E3A11H i F# mE | R AR 60 15 (=]
260 |SF243A128 —Eir hE g [ RRER 115 30 (=]
261 |SM243A128 —Eir hE g [ RRER 113 30 (=3
262 | SM243A14R —Eir - g [ RRER 101 25 (=]
263 |SHM243A15H HiEET | REFAR e 3 RRER 130 50 (=3
264 |SH24E3A16H HiEETm | RETRE e 3 HE 70 20 (=3
265 |SH24E3A16H HiEET | REFAR e 3 RREK 130 50 =3
266 |SHI24E3A16H FiEH FT&ER s [ RRER 95 20 (=3
267 |SM243A16R ITE4 ITP]4 g [ RRER 75 12 (=]
268 |SHI24E3A18H HERT | REEH s [ RRER 100 50 =]
269 |SH243A19H HiRET | REHEW s 3 RRER 80 20 =3
210 |SH243A19H 3 x4 e i RRER 92 30 =3
211 |5 M243A20H HERT | REEH e i RRER 110 60 (=3
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272 |SHM24E3A21H HERT |REEHE ET y RRER 100 30 =]
213 |SHM24E3A21H BRMAT  |$iE bk ; RRER 83 23 =]
274 | SHM24E3A22H KT X3t g L RRER 80 40 =]
215 |SHM24E3A22H BRMAT AWl g y RRER 105 76 =3
216 |SHM243A23H /MERT (BHEN g L RRER 80 30 =3
277 |SHM243A23H #HERM |SHRE s ; RRER 130 60 =3
218 |SHM24E3A23H #HERM |STRE s ; HE 65 15 =]
219 |SHM24E3A24H KT 1)) ik 3 L BB 90 45 =i
280 |SHI24E3A26H MERT |BR g i RRER 110 50 =3
281 |SHMI24E3A26A =5 Flil s ; RRER 128 45 =3
282 |SHMI24E3A29H KT =E s L RRER 120 70 =3
283 |SHM24E3A30H /MERT (BHEN s L RRER 90 30 =3
284 |SHM24E4A2R K3tHHET =E bk [ RRER 110 80 =]
285 |GHMI24E4A3R HERT |REEF g i RRER 110 70 =3
286 |SHM24E4A5H HERT  |REEF g i RRER 90 40 =]
287 |SHM24E4A6H HERT | REEN g it RRER 60 20 (=53
288 |SHI24E4A10H K3tHHET m g it RRER 110 60 =]
289 |SHMI24E4A10H K3tHHET m g i RRER 80 40 =]
200 |SH24E4A14H HRET | RENH g [ RRER 100 60 =]
291 |SH245A98 HERT | REEF ET L RRER 100 E ]
292 |5HM24E5A8H EXH fR g [ ; RRER 127 60 =3
293 |SHM24E5A14H KT &iR ET L RRER 90 T 233
204 |SHI24E5A13H KT P bk L RRER 120 45 (=]
205 |GH24E5A12H #HERT |REHR g L RRER T 80 (=3
206 |SHI24E5A12H HiERT | RE=7K g L RRER 130 55 (=3
297 |SHMI24E5A14H b 1) hE bk [ RRER 110 30 (=3
208 |SHI24E5A14H b 1) hE bk [ RRER 141 60 it
299 |GHM24E5A14H ot 1) hE g L RRER 120 30 (=3
300 |S#245A14H ot 1) hE g L RRER 111 30 (=]
301 |SHM245A 148 ot 1) hE g L RRER 120 35 it
302 |GHM245A15H FiFEH E&ER g [ RRER 90 20 =3
303 |S#M245A15H =5 Yo g [ RRER 118 70 =]
304 |GH245A16H HiRET | REHEW g [ ; SHE 60 15 (=3
305 |G#M245A15H BRHT  |MEF e ;3 RRER 72 20 (=3
306 |H245A17H MERET |BE g [ RRER 120 60 =]
307 |SF245A208 /MERT (BEN g [ RRER 70 30 =]
308 |GFI245A20R /MEET R g [ RRER 120 70 (=]
309 |SF245A22R /MERT |BR e i RRER 110 60 (=3
310 |H245A228 —Eir - g [ RRER 121 35 (=]
311 | 5M245A228 —Eir =B g [ RRER 103 25 (=]
312 |[5HM245A22H AINF Boro e i RRER 120 48 =3
313 | 2458298 KT BAR ET [ HE a4 3 (=]
314 | 5M245A228 %Il Ey = g [ RRER 90 30 (=]
315 |SHM245A21H BRHT  |FER g [ RRER 162 80 (=]
316 |SHM245A21H BRHETm  |WEH e i RRER 126 41 (=3
317 | 5HM245A238 —Eir —BFEE g [ RRER 121 40 =]
318 | H245A26R /MERT K e 3 RRER 90 30 (=]
319 |SHM245A26H EXH iR e 3 RRER 100 60 (=]
320 |SHM245A27H BRHETm  |EH e 3 RRER 112 28 =]
321 |SHM245A25H HiEET | RETRE e [ RRER 140 60 =]
322 |SH245A218 HEET | REED e b3 RRER 80 20 =]
323 |SH245A218 1) B g 3 RREK 149 55 =3
324 | H245A29R8 B ARMET =] e 3 RRER 110 40 =3
325 |SH245A318 MERT (BE g [ RRER 100 85 =3
326 |SHI245A30H BRAT  |FRFET g [ RRER 115 40 (=3
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327 |S#M245A30H HERT |REEF bk ; RRER 90 40 =]
328 |SHM24E5A31H % )I18T e i ; RRER 146 75 =]
329 |SHM24E6A3R KT RE ET L RRER 120 70 =]
330 |SHM245A31H FBRT |=/B s ; RRER 130 45 =]
331 |SHM24E6A3R b 1) ZEF&EWLA g L RRER 96 20 =3
332 |SHM24E6A3R HERT |REE#R s ; RRER 130 60 =3
333 |SH24E6ATH K3tHHET wE s L RRER 120 70 (=3
334 |SHM24E6A5H 1) hEFESE s L RRER 124 30 =3
335 |SHM24E6A5H b 1) hEFESE s L RRER 125 35 =3
336 |SHM24E6A6H %1187 = s L RRER 100 40 =3
337 |SH24E6ATH % )I18T AH g | R R 129 40 (=]
338 |SHM24E6A8H HiERT | REIE s L RRER 124 40 =3
339 |SHM246HA8H /MERT |A4H bk [ RRER 85 35 =3
340 |SHM24E6A5H FRWAT |FH bk L RRER 161 77 =]
341 | SH24E6A6H BR#HT | LERE g [ RRER 138 75 =]
342 | SH24E6ATH BRMT |EE bk B RRER 174 84 =3
343 | SH24E6A6H (L 3k Er ITE4:) g L RRER 95 20 =]
344 | SH24E6A8H ot 1) hEFAIEH SR g L RRER 117 40 (=]
345 |GHI24E6A10H FEARET WHEER g L RRER 60 40 =3
346 |SH24E6A12H b 1) - g L RRER 127 40 =]
347 |HM246A12R 1) hE g [ ; RRER 114 30 =3
348 |GHI24E6A14H EXH iR g L RRER 130 80 (=3
349 |GH24E6A16H FEARET A bk L RRER 50 20 (=]
350 |GHI24E6A14H FAINF Bra bk L RRER T 20 (=3
361 |SHI24E6A18H =5 W ET B RRER 100 40 =]
362 |GHI24E6A14H =5 BT g L RRER 70 15 =]
363 |SHI24E6A20H K3HHET &= bk [ RRER 70 40 it
354 |GHI24E6A20R /MERT (BEN g [ RRER 110 60 (=3
3656 |GHI24E6H24H FEARHET WHEER g [ RRER 90 60 =3
356 | H246A24R FB8RT |=/EB g [ RRER 43 3 (=3
357 |SHI24E6A26H % )I18T = g [ RRER 100 40 =]
368 |HHMI24E6A27H ot 1) hEFESE g [ SHE 67 7 (=3
359 |HH246A27H 1) hEFESE e ;3 SHE 67 6 (=3
360 |H246A27H 1) hEFESE e ;3 HE 67 5 (=3
361 |SHM246H26A RN |RER e ;3 RRER 108 18 (=3
362 | HH246A28R 1) - g [ RRER 115 30 (=]
363 |H246A28R 1) - g [ RRER 135 40 (=]
364 |SH24&ETA1R FEiRET =% e [ RRER 90 60 (=3
365 |SH24&ETA1RE KT == e i RRER 80 20 (=]
366 |SHM24ETA3A KT RE g ;3 RRER 60 6 (=]
367 | HM2£TA3A FiFEH IE g [ RRER 100 45 (=]
368 |HHM24&ETA3A E3i0 mE e i RRER 128 50 (=3
369 |SHM24ETA8H HiERT | RE=H e 3 RRER 130 80 (=3
370 |SHM24TAH13H HERT | REEF bk [ RRER 88 B ]
371 |[SHM24TA13AH /MERET NEETRFII g i RRER 90 35 (=]
372 |SHM24ETA14RH K3tHHET KFETHE e 3 RRER 90 30 =]
3713 |SHM24TA15H ZEHr “EH—& g [ RRER 70 5 =]
374 |SHM24&ETA16H BB RBMEE b i RRER 140 30 (=]
375 |SH24&ETA16H b 1) o = e 3 RRER 70 5 =]
376 |SH24&ETA16H b 1) o = s [ RRER 76 5 (=]
377 |[HM2£¥TA1TRH FiEH FELLE g [ RRER 100 35 =]
378 |SHM24ETH20H =5 EHmlx4 ET B HE 30 3 =]
3719 |SHM24TH20H HiRET | REHEW s 3 RRER 130 70 =3
380 |24 7A218 ZEHr hEFH/ A s [ RRER 130 40 (=3
381 |HM2£7A218 ZEHr hEFAIEE R s [ RRER 76 5 (=3
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382 |SHM24&ETA21H ot 1) hEFAIH SR s y RRER 77 5 =]
383 |SHM24&ETA21H ot 1) hEFAIH SR s L RRER 73 5 =3
384 |GH24&ETA21H b 1) hEFAIH SR g L RRER 78 5 =]
385 |GHM24ETH24H KT SR/ ET L HHE 45 4 =3
386 |SHMI24ETH24H HiERT | RETRE e ; RRER 110 50 (=]
387 |SHM24ETA23H K3tHHET =E g L RRER 50 10 =53
388 |SHMI24ETH26H K3tHHET wE s L RRER 70 30 (=3
389 |GHM24ETA24H =5 INR®R s ; RRER 75 20 =3
390 |SHM24ETA22H HERT | REIR s L RRER 153 62 =3
391 |SHM24ETA21H FFEH ITE s ; RRER 100 45 =3
302 |SHM24ETA26R =5 B g L RRER 112 100 (=3
393 |SHM24ETA29H KT =E s L RRER 100 50 =3
394 | SH24ETA30R P L) K ET [ RRER 106 40 =]
305 |GHM24E8A1H KT RE ET h HEK 40 3 =3
306 |SHM24E8A1RH KT wE bk [ HER 60 5 =3
397 |SH24ETA30RH =5 Ex4 bk [ RRER 112 70 =3
398 |SHM24E8A1H /MERT (BHEN g L RRER 110 50 =3
399 |SH24ETA3IA /MERT K g [ ; RRER 90 30 =3
400 |SH24E7AH30RH =5 FRMNR g [ ; RRER 120 50 =3
401 |SHM248A3R BRMAT  |FER g | R B 68 1 (=]
402 |SHM248A3R b 1) —BFEE g L HE 89 8 (=]
403 |SHM248A3R b 1) —BFEE g L HE 85 8 (=]
404 |SH248A1H % )I18T =i e [ RRER 147 40 (=]
405 |SHM248A2R % )I18T AH g L RRER 127 30 (=]
406 |SHM248A2R %1187 £H g | R B 135 32 =]
407 |SHM248A4R BRFAT |RER g L HE 65 8 (=3
408 |SHM248A4R K3HHET RE bk L HE 50 10 it
409 |SHM248A4R =5 =5Eak g [ RRER 120 55 =3
410 |SHM248A6H K3HET RE g L HE 50 5 (=]
411 | SHM248A6H K3tHHET RE g [ HE 60 10 it
412 | SM248A5H HiERT | RE=7K g L RRER 135 85 =3
413 | SM248A9R FBRM |75 g [ RRER 120 45 =]
414 | SHM248A6H /MERET R g [ RRER 110 50 (=3
415 |SM248A8H KT wE g [ RRER 120 90 (=3
416 |SHM248A9R KT BE e ;3 RRER 120 50 (=]
417 | SHM248A9R KT RE g i RRER 60 12 (=]
418 |SHM248A9R KT RE g [ RRER 60 12 (=]
419 | SHM248A9A K3tHHET EXH g [ RRER 60 10 (=3
420 |SHM248A9R KT EXH g [ RRER 60 10 (=]
421 |SHM248ATH FiEH iR e [ RRER 120 60 (=]
422 | SHM248A11H E3i0 1B e i RRER 79 38 (=]
423 |SHM248A8H E3i0 B e i HE 78 25 (=3
424 |SHM248A8H i 1B e [ HE 78 25 (=]
425 |SHM248A8H i B e [ HE 78 25 (=]
426 |SHM248A11H KT HE g [ HE 70 15 (=3
421 |SM248A11H K3tHHET wE g [ HE 60 10 (=]
428 |SHM248A10H %1187 £H g 3 RRER 128 34 =]
429 |SHM248A11H HERT |REFWU g i RRER 130 55 (=]
430 |SHM248A12H F8RM AR s [ RRER 130 45 =]
431 |SHM248A12H BRMT |G s [ RRER 106 21 (=3
432 |SHM248A5H FBRm 1R s 3 RRER 90 40 (=3
433 |SHM248A13H =5 =5Eap e [ RRER 100 50 (=3
434 |SHM248A15H KT HE g [ HE 60 7 =]
435 |SHM248A16H =5 FiR g [ RRER 110 56 =3
436 |SHM248A18H /MERT K g [ RRER 100 30 (=3
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437 |SM248A21H K3tHHET =E s L HHE 60 10 =]
438 |SHM248A23H KItHHET P i L RRER 110 60 =]
439 |SHM248A21H b 1) —BFEE g ; RRER 133 50 =]
440 |SHM248A24H MERET |BE g y RRER 100 50 =3
441 | SHM248A23AH =5 ®E s L RRER 129 60 =]
442 |SHM248A25H FEARHET T s L RRER 120 80 =3
443 |SHM248A25H b 1) - s L RRER 80 8 (=3
444 | SH24E8A21H =5 hE s L RRER 110 50 (=]
445 |SHM248A23H =5 Il g | R B 80 25 (=]
446 |SHM248A26H KT m g L HE 50 6 =3
447 |SHM248A21H b 1) hE s ; RRER 150 70 =3
448 | SH24E9A1H KT RE s L RRER 60 15 =3
449 | SH24E9A1R =5 FRMNR bk [ RRER 140 60 =3
450 |SH24E9A1H % )I18T =i e L RRER T 40 =3
451 |SHM24E9A3R KT P bk L RRER 120 80 =3
452 | H2£F9A3A 1) hEFH/ A g [ ; RRER 158 60 (=53
453 |SHM24E9A3A ot 1) ZEF&EWLA g L RRER 143 60 =3
454 | SHI24E9A4R % )I18T =i ET B HER 46 2 =]
455 |SHI24E9ATH 1) —BFEAF g L RRER 134 60 (=3
456 |SH24E9ATH KT 1)) g [ ; RRER 120 80 =]
457 |SHM24E9A8H KItHHET RE g L SHE 60 7 =3
458 |SHMI24E9A10H /MERT (BHEN g L RRER 90 30 (=]
459 |SH24E9A10H b 1) hEFNE g L HE 76 5 (=]
460 |SH24E9A10H HiERT | RETRE e L RRER 110 40 =]
461 |SH24E9A11H KT EXH g L HE 60 12 (=3
462 |SH24E9A11H KT &= bk L HE 60 7 (=3
463 |SHM24E9A14H K3HHET RE bk L HE 60 12 it
464 |SH249A14H K3tHHET P g L HE 60 10 (=3
465 |SHM24E9A14H K3HET HE g [ ; HE 60 8 (=]
466 |SHM249A15H MERET |BE g [ RRER 120 80 =3
467 |SHM249A15H FiFEH FT&ER g L RRER 120 70 =3
468 |SHM249A16H KT &= g L HE 70 15 =]
469 |HHM249A16H K3tHHET &= e ;3 RRER 110 45 =]
470 |SH249A17H FiFEH E&ER e ;3 RRER 110 35 (=3
AN | SM249A17H % )I18T = g [ RRER 163 64 (=]
472 | SHM249A18H FiEH 5 H e i RRER 65 45 (=]
473 |SHM249A18H HiEET | REFAR g [ RRER 60 10 =3
474 | SHM249A23H 3 BE e i RRER 80 12 (=]
475 |SHM249A23H E3i0 BE e i RRER 80 12 (=]
476 |SHM249A23AH b 1) - e ;3 RRER 115 30 (=]
477 |SHM249A23H b 1) - e i RRER 131 50 (=]
478 |SHM249A23H KT RE g [ RRER 60 15 (=3
4719 |SHM249A23H KT P g [ RRER 60 15 (=]
480 |HHM249A23H HiEET | RETRE WmE | FB| FH T T (=3
481 |HHM249A24H B ARHET =] e ;3 RRER 140 40 (=3
482 |HHM249A24H MERT (BE g [ RRER 80 45 (=]
483 |HHM24E9A24H HiEETm | RE=4K e 3 RRER 130 45 (=3
484 |SHM24E9A24H #HERT  |BREIR e i RRER 80 25 (=]
485 |HHI24E9A24H HERT  |REIR e 3 HE 64 6 =]
486 |SH24E9A24H #HERT |REIR s [ HE 66 6 (=]
487 |SHM249A25H KT 1)) e 3 HE 60 12 (=]
488 |HHM249A25H KT HE e 3 RREK 70 20 =3
489 |HHM249A28H 3 I mE | R AR 100 50 =3
490 |HH24E9A29H 3 BE e i HE 80 12 =3
491 |SHM249A29A /MERT (BEN g i RRER 70 20 (=3
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492 |SHM24E9A29H FRERM |78 s ; HHE 80 9 =3
493 |SHM24E9A29A FBERM |78 bk L HE 80 9 =]
494 | SH24E9A29A HERT |[RETARR g ; RRER 60 15 =]
495 |SH24€E10A1H MERET |(RF g L RRER 50 20 =3
496 |SHM24E10A1H KT wE s L RRER 70 15 =]
497 |SHM24E10A2A8 HERT |REFWU s ; RRER 110 55 =3
498 |SHM2410A5H EL#RHET B/ L s ; HHE 80 7 =]
499 |SHM2410A5H EL#RHET ARAR s ; HHE 80 8 =3
500 |S#2410A5H KT =E s ; RRER 90 25 =]
501 |S#M2410A5H HERT |[RETARR s L RRER 80 30 =]
502 |S#M2410A5H HERT |REREUE ET ; HEK 75 15 =]
503 |SHM24E10ATH KT wE s L RRER 70 15 =3
504 |SHI24€E10ATH =5 BE bk L RRER 80 15 =]
506 |GHI24E10A8H FFEH iR bk L RRER 105 37 =3
506 |SHI24E10A9A ot 1) hE bk [ RRER 102 25 =3
507 |S#M24E10A9A HEARE |BEL bk B RRER 85 55 =3
508 |HM2£410A13B |FBERT |=/F g L RRER 150 70 (=3
509 |HHM2&E10A13E |HEERT |[&EEEW g [ ; RRER 140 65 (=]
510 |S#M24€E10A14R |BAKET |@AE g L RRER 80 12 =]
511 |SM24E10A148 | K3HHT RE g L RRER 70 20 =]
512 |SM24E10A148 | K3HHT HE bk [ ; RRER 100 50 (=3
513 |SHM24E10A148 | K3HHT HE g [ RRER 120 90 =3
514 |SM24E10A148 | FFH IE g L RRER 85 15 =3
515 |HM2410A168 |#FB8ERT |H/A g [ RRER 85 12 =]
516 |HM2410A168 |FBERT |H/A g L RRER 85 12 (=3
517 |HM2410A168 |#B8RT |H/A g L RRER 85 12 (=3
518 |HHM24E10A168 | KIHHT &= g L RRER 70 20 (=]
519 |SHM24E10A168 | KIHHET m ik L RRER 110 60 (=3
520 |HM2£410A16B |BFB8ERT |=/F g L RRER 90 15 (=]
521 |HM2£410A16B |#F#8ERT |=/F g L RRER 90 15 (=3
522 |HM2£410A16B |#FB8ERT |=/F g L RRER 90 15 =3
523 |SHM2&10A198 | E&RHET =] g L RRER 110 60 (=3
524 | DH2E10A198 | KHHr RE g ;3 RRER 110 70 (=3
525 |GH2&E10A198 | K3HHT 1) e ;3 RRER 70 15 (=3
526 |GHM2&E10A198 | KHHET /i e ;3 RRER 140 100 (=3
527 |HHM2&E10A198 | KHHET RE e ;3 RRER 120 60 (=]
528 |HHM2&E10A198 |EX™H iR e ;3 RRER 50 30 (=]
529 |HM2&E10A198 |EX™H L35 e ;3 RRER 145 70 (=3
530 |HM2E10A198  |#ERT  |KRETRE g ;3 RREK 80 25 (=3
531 |HM2410A168  |#AERT  |KRETRE g i RRER 65 20 (=3
532 |HM2410A168  |#ERT  |KRETRE g i RRER 130 60 (=]
533 |HM2&E10A16B |EXH X e ;3 HE 50 10 (=]
534 |HHM2&E10A218 | K3HHET RE g i RRER 60 15 (=]
535 |HH2E10A218 | KFHHET &= e i RRER 60 15 (=]
536 |HHM24E10A228  |FHHET HE g [ RRER 60 50 (=3
537 |HM2410A228 | 3HHET #/A g [ RRER 50 20 =]
538 |HM2&E10A228 |FFH &R e 3 RRER 130 60 =]
539 |HM2410A238  |WHLHET s g [ RRER T 45 (=]
540 |GH2410A238 | KFHHET RE s [ RRER 80 20 =]
541 |GHM2410A238 | K3HHET HE s [ RRER 100 25 (=3
542 |GH2410A238 | KFHHET =E s [ RRER 60 10 (=3
543 |HM24&10A268 MRS |[KREFWL g 3 RRER 140 75 (=3
544 |\ GH2410A268 |#AERT  |RESTRE e 3 RRER 100 35 (=3
545 |GHM2&10A268 MRS |[&REFWL g 3 RRER 100 40 =3
546 |GHM2410A268  |sh3HET A e i RRER 120 70 (=3
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547 |5M2410A268 | FE4RHET AR bk L RRER 60 20 =]
548 |HH2410A268 |REW hE bk it RRER 150 60 =]
549 |GHM24E10A268  |shFHET iR g ; RRER 105 60 =3
550 |GHM24E10A268 | KHHET E 5 A4 s ; RRER 104 45 =]
551 |&#2410A258 |RBW BE s i RRER 98 25 (=]
562 |GHM24E10A258  |sh3HHT #/0 s L RRER 130 80 =3
563 |HHM24E10A268  |shFHET itH s L RRER 80 130 =3
5564 |GHM2&E10A25R |HAEERT |&EIIR s ; RRER 120 62 (=]
555 |HHM2410A28 |FEEET |ER b i RRER 88 12 =3
556 |GHM2410A28E |FiFEH ITE s ; RRER 105 T 233
567 |GHMI2€E10A268 | KFHHT HE g it RRER 60 15 =]
568 |GH2&E10A27R | KFHHET 1)) s L RRER 100 20 (=3
559 | M2410A278 |/hERW | EFH g L RRER 110 25 =3
560 |SHM24E10A288 | KFHHT HE bk i RRER 70 15 =]
561 |SHM24E10A288 | KFHHT =E bk i RRER 90 25 =3
562 |SHM24E10A29R |ZEHT hEFESE g i RRER 110 40 (=]
563 |&M2410A298 |/ERT R g [ ; RRER 110 60 =3
564 |GH2E10A298 | KFHHT HE g s RRER 110 30 =3
565 |SHM24E10A298 | KFHHT P g [ ; RRER 120 50 =3
566 |SH24E10A308 | KIHHT RE g [ ; RRER 60 15 =]
567 |SHM24E10A288  |sh3HHT #/0 g L RRER 100 60 (=]
568 |GHM24E10A308  |sh3HHT HE g i RRER 60 20 =3
569 |SHM24E10A308  |sh3HHET HE g i RRER 60 20 =3
570 |SHM24E10A318  |sh3HHET #*/ A@EL g L RRER 100 40 =]
571 |SHM24E10A318  |sh3HHT #*/ A@EL g L RRER 134 80 (=3
572 |SHM24E10A31R | ZEHr —BFHAERF ik L RRER 102 30 =]
573 |SM2410A298 |/MEERT |BERAE g it RRER 140 75 =]
574 |SH2&E11A18 K3tHHET =E g H RRER 100 20 (=3
575 |SHM24&E11A28 ot 1) hE g [ ; RRER 98 15 (=]
576 |SHM24&11A3AH i) HE g b3 RRER 115 60 it
577 |S#M24&11A3A8 i) HE g | R B 65 20 =3
578 |SHM24&E11A4R L3k Er iR g L RRER 80 13 =]
5719 |SHM2£&11R48 /NERT i [ RRER 110 70 =]
580 |HHM24&E11A3A KT BE e ;3 RRER 70 15 (=3
581 |SHM24&11A3A HERT | REPEH e b3 RRER 85 10 (=3
582 |HHM2&E11A2A8 =5 i g | R B 100 40 (=3
583 |HH2£11A6R EL#RHET BoL g [ RRER 100 15 (=]
584 |H2£11A6R EL#RHET Bot g i RRER 95 12 (=3
585 |GHMI24&E11A8A EL#RHET ARARL g ;3 RRER 90 13 =3
586 |SH2&11A8A EL#RHET BoL g i RRER 95 15 =3
587 |G M2£&11A8A EL#RHET ERART g ;3 RRER 90 15 (=3
588 |G HI2&11A5R F8RM | Xl e ;3 RRER 120 23 (=]
580 |H2£11A7TH FB8RMm |=/B g [ RRER 80 14 (=3
590 |SH2£11A7H =5 R e i RRER 91 60 (=]
591 |SHM2£11A78H KT m e i RRER 120 90 (=3
592 |SM2£11A8A K3tHHET P g [ RRER 110 70 (=]
593 |SH2£11A9A KT = e 3 RRER 130 110 (=3
594 |SH2£&11A8A FiFEH iR e i RRER 135 70 (=]
595 |H2£11A9A B ARHET ERART s 3 RRER 150 98 =]
506 |GHI24&E11A8A HiERTm | REEHR e 3 RRER 130 60 =]
597 |SM2£E11A108 | Z“FHE —BFEEE e 3 RRER 99 15 (=]
508 |GHMI24&E11A8A HEET | REPR e 3 RRER 120 56 =]
599 |GH2£&11A8A =5 BE g i RRER 100 25 =]
600 \HM2ENANB | ZER —BFRrBF e 3 RRER 101 20 (=]
601 |HM2E1A12B | KHHT == e [ RRER 80 15 (=3
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602 |SH2E11A128 | K3HHET pi s L RRER 130 110 (=]
603 |HM2411A6H EXH L35 bk ; RRER 110 60 =]
604 |SH2E11A13E  |HEERT |[&EEW g ; RRER 120 50 =]
605 |SHM2&E11A148 |HERT |[&EEW g L RRER 90 25 =]
606 |SHM2E11A148 |[HAERT |[‘REHFWL g L RRER 170 105 (=]
607 |SHM2&E11A14R | E&RHET ARERT g ; RRER 150 59 =]
608 |SH2E11A11R | E&RHET ARERT s L HE 80 8 =3
609 |FH2E11A13E  |FFEH T &HIR8294T3R ik ] ; RRER 90 20 =]
610 |SHM2E11A13R | KHHET REFRvARY ik L RRER 100 23 =]
611 |SM2E11A13R | KHHET HIRFENMR s L RRER 90 20 =]
612 |SH2E11A138 | KHHET /T s ; RRER 85 20 =]
613 |SHM2E11A158 | KHHET FAER s ; RRER 90 50 =3
614 |SM2&E11A168 | E&RHET EREH DA g [ ; RRER 120 26 =3
615 |SM2&E11A168 | ERHET ARERT g L RRER 90 13 =3
616 |SHM2E11A148 | KFHHET =E bk [ RRER 100 60 =3
617 |SM2E11A168 | KFHHET =E bk B RRER 90 30 =3
618 |HM2E11A16B |EX™H iR g [ RRER 50 30 =]
619 |4M2&11A17TR /pEET (B g [ ; RRER 80 20 =3
620 |SH2E11A168  |shFHHET BRR g [ ; RRER 80 35 =3
621 |SH2€E11A1TR  |P3HHET #/A g L RRER 100 80 (=]
622 |SH2€E11A1TR  |sh3HHET HE bk [ ; RRER 115 40 (=3
623 |SH2&E11A108  |sh3HET itH g L RRER 150 130 (=3
624 |SM2&E11A248  |/ERT  |[BEN ik [ RRER 110 80 =3
625 |SM2411A23 |HHERT [KETAKR ik L RRER 65 25 =3
626 |SM24E11A258 |HHERT |[&EEW g h RRER 75 25 (=3
627 |SH2€E11A198  |sh3HHET #/A g L RRER 95 30 (=3
628 |SH2E11A198  |sh3HHET #/A g L RRER 95 30 (=3
629 |HHM2E11A238  |hFHHET #/A g [ RRER 82 20 (=3
630 |HHM24E11A238  |hFHHET iR g L RRER 135 80 =3
631 |M2&E11A208 | EHH FRNR g L RRER 55 35 (=3
632 |M2£&E11A248 | BHH FRNR g L RRER 140 100 (=3
633 |RM2&E11A21 | ZER —BFRBA g [ RRER 110 15 (=3
634 |GH2E11A288 | K3HHET 1) g [ RRER 80 25 (=3
635 |GHM2&11A278  |WdLHET =N g ;3 RRER 80 30 (=3
636 |HM2E11A308 | ZEH —ETHE g [ RRER 111 30 (=3
637 |HHM2&E11A308  |h3HHET BRiR g [ RRER 95 30 (=]
638 |HHM2E11A268 |P3HHET #/A g ;3 RRER 85 25 (=3
639 |HM2&E11A268 |FiFH IE g [ RRER 100 40 (=3
640 |GHM2&E11A268  |hFHHET A b i RRER 82 25 (=]
641 |SM2&E11A288 | FIF Bra g [ RRER 104 95 (=3
642 |GHM2&E11A28R |HAEET |&EPR e ;3 RRER 10 75 (=]
643 |SHM24&12A1H EL#RHET AERARL g [ RRER 150 60 =3
644 |\ HH2£12A1R FB8RMm |=8 g [ RRER 95 35 (=]
645 | HH24&12A1R FB8RMm |=8 e i RRER 95 35 (=]
646 |SM2£12A28 KT 7RH g i RRER 150 132 (=3
647 |SHM24&12A28 MEET | EEHE e 3 RRER 70 15 =]
648 |GH24&E12A1H HERT  |REGR e 3 RRER 115 70 =]
649 |GH24E12A2A8 LSEEr s g [ RRER 80 30 (=]
650 |SHM2412A3AH FiEH ITE e 3 RRER 160 150 (=3
651 |SHM24&12A3AH B ARHET =] s [ RRER 80 12 (=]
6562 |GHI24&E12A3A B ARHET =] e 3 RRER 170 68 (=3
653 |HHM24&12A3AH YR ET % g [ RRER 110 50 (=3
654 |GHI24&E12A7H EXH iR ET [ RRER 120 80 =]
655 |GHI24&E12A6H HRET | REED s [ RRER 130 55 (=3
656 |SH24&E12A7TH K37 HE e i RRER 70 15 =3
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657 |SHI24&E12A6H K3tHHET ®E s ; RRER 130 90 =]
658 |SHMI24E12A6H ot 1) - i L RRER 107 35 =]
659 |GH2E11A308  |h3HET #/0 g L RRER 120 75 =]
660 |SHM24E12ATH i) BRiR s s RRER 100 35 (=3
661 |SHM2412A8A KT wE s s RRER 80 15 =]
662 |G M2412A8A b 1) - g s RRER 101 25 =53
663 |SHM2412A3A =5 BE s L RRER 160 100 =3
664 |SH24E12A4R ITp14:) N s L RRER 120 50 =3
665 |SHM24E12ATH ITP14:) N g ; RRER 70 20 =3
666 |SH2E12A108 | KFHHET =E s ; RRER 120 80 =]
667 |SHM2&E12A11R | ZEHT hEFHEE s L RRER 135 50 =]
668 |HM2&E12A12B |FEFH iR s L RRER 110 25 (=3
669 |SHM2&E12A10R |HERERT |&EPR g [ ; RRER 105 38 =3
670 |SHM2&E12A10A |HERT |&EIIR g L HEK 50 15 =3
671 |SM2&E12A11R  |HAERT |&EPH g L RRER 125 43 =3
672 |SM2&12A138 RN |[REFHR ik L RRER 130 70 (=]
673 |SM2&E12A138  |HAERT  |[RE/DK g L RRER 110 40 (=3
674 |SM2E12A138 | FEFH FT&ER g [ ; HE 80 8 =3
675 |SHM2&E12A138 | KFHHT HE g L RRER 90 15 =3
676 |S2412A148  |RBW RAR g [ ; RRER 122 95 (=]
677 |SHM2412A9A =5 =5Eak bk L RRER 60 40 (=3
678 |SHM2412A1H =5 W g [ ; RRER 70 40 (=3
679 |SHM2412A9A =5 =5Eak g [ RRER 60 40 =3
680 |GHM24E12A14R | EARHT ERART g L L 160 63 =]
681 |SM24E12A168 |FiFH IE g L RRER 105 30 (=3
682 |HM2412A168 |BARET |ELEEL ik [ RRER 115 75 =]
683 |HHM2&E12A158 | KFHHT =E g L RRER 130 80 (=]
684 |GHM2&12A168  |tREHET % ik L RRER 110 60 (=3
685 |SHM2&12A178  |tREHET RHEIUPRRE g L RRER 120 65 =3
686 |GHM2&E12A208 |HHERT |[&EEEW g [ RRER 70 25 (=3
687 |&M2£&12R198 |/hERT R g L RRER 90 40 (=3
688 |M24&12R198 |/hERT R g L RRER 90 40 (=3
6890 | LM2412A188 | KHHT == e ;3 RRER 150 130 (=3
690 |HFM2E12A198 | KHHT == e ;3 RRER 90 25 (=3
601 |SM2£&12A128  |FHH FWl g ;3 RRER 85 30 =]
692 | HM2E12A188 [T #/0 e ;3 RRER 90 30 =]
693 |HM2£&E12A208  |H3FHET BRiR e ;3 RRER 85 30 (=]
694 |HM2£12A218  |Hh3FHET BRiR g [ RRER 120 80 (=3
695 |L2412A188  |E#RET AXERW g ;3 RRER 80 16 =3
696 |HM2E12A218 | KHHT == e i RRER 80 40 =3
697 |HM2E12A228 | KHHT = e i RRER 90 25 =3
698 |HM2&E12A228  |HERT  |RESTRE e i RRER 80 25 (=3
699 |HM2£12A248 | Z“EHET hE g i RRER 175 80 (=]
700 | HH2E12A238 | K3FHET 1) g i RRER 100 40 (=]
701 | GFI24E12A24R | K3HHET BE e i RRER 80 20 (=3
702 | GFI24E12A25R | EARHET BiE/ b g 3 RRER 126 50 =]
703 |HHM2512A258  |EERET BB/ T g 3 RRER 80 13 =]
704 | GFI24E12A258  |HREEET KEBEREL i 3 RRER 120 80 =]
705 |S2412A268 |/MpEEWT | LEH e 3 RREK 80 15 =3
706 |GFI24E12A25R | KEHET REL/E e 3 RRER 90 25 =]
707 |[GFI24E12A25R | KEHET REL/E e 3 RRER 90 25 (=]
708 |GFI24E12A25R | KEHET REL/E e 3 RRER 90 25 (=3
709 | HH2E12A298 | KEEHT &R g [ RRER 141 70 =3
710 | SH3&E1A1R B ARMET BEF g [ RRER 110 32 =3
T | SM2E12A298 | KHHT BE e i RRER 130 75 (=3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
72 | SH3E1A48 MERET R s i RRER 120 50 =3
N3 | SHM3E1A28 ot 1) - i it RRER 110 55 =]
74 | SH3&E1A58 EL#RHET AARL g L RRER 120 40 =3
715 | §M2412A28R |Z=EHT THE g it RRER 130 100 =3
716 |[SH2£E12A218  |sh3HHET #/0 g ; RRER 100 55 =3
N1 | SHM3E1A28 i) BRiR g L RRER 125 100 =53
78 | SHM2£12A28R |Z=HT THE s it RRER 90 30 =]
79 | SH3E1A3AE b 1) - s it RRER 93 30 (=]
720 |[SFI3£E1A5H8 i) #/0 g ; RRER 125 65 =3
7121 | SHM3E1A28 =5 FuWl s ; RRER 95 30 =3
722 | SHI3%E1A3AE K3tHHET HE s it RRER 90 25 (=53
723 | SHI3%E1A48 #HiEET | REFAR b it RRER 60 20 2]
124 | SHI3%E1A5H8 #HiEET | REFAR e it RRER 60 20 2]
725 | GHI3E1A6H HERT |REFWU g [ RRER 130 55 =3
726 |[SFI3E1ATH FFEH ITE e L RRER 105 25 (=3
121 |[SHI3%E1A9E #HiEET | REFAR i it RRER 80 25 ]
728 |SFI34E1A8H ot 1) —ETHE g [ ; RRER 118 25 =3
729 |HM3E1A8H ELARHT WARRE g [ ; RRER 90 18 =3
730 |[SFI3E1A48 =5 g g i RRER 130 60 =]
131 |[SH3E1ATH =5 BE g i RRER 80 20 =]
132 | SHI3E1A9A EL#RHET AfLLE bk L RRER 180 83 (=3
733 | SHI3E1A9IA EL#RHET ARART g h RRER 80 14 (=]
734 | HHM3EF1A14R /MERT (BEN g i RRER 65 20 (=]
735 | HHM3&E1A13R FAINF BT # bk i RRER 140 80 =3
736 |HHM3E1A13R FANNF BT # g i RRER 110 40 (=3
137 |HHM3&E1A13R #HiERT | REFAR fhE i RRER 70 25 ]
738 | HHM3E1A14R HERT |REHFWU g L RRER 120 60 (=3
739 | HHM3&E1A15H /MERT |HE g i RRER 60 20 =3
740 | HHM3&E1A15H FEARHET WHEER g L RRER 90 40 =3
41 | HM3&E1A150 /MERET |HE g b3 RRER 50 15 =3
742 |HM3&E1A16R K3tHHET =E g i RRER 110 60 =]
743 | HM3E1A16RH NEL) RILAGE e [ RRER 120 95 =]
744 | HH3LE1A1TA /MERT (BEN e ;3 RRER 120 60 (=3
745 | GHI3L&E1A18H HiEET | REEM e i RRER 120 90 (=3
746 | HHSE1A198 1) hEFAIH SR e [ RRER 96 20 (=3
747 | SHI3&E1A19A HiEERT | REEHR e ;3 RRER 130 60 (=3
748 | HHMSE1A218 1) —&F%5H g ;3 RRER 115 30 (=3
749 | HH3E1A208 EARHT A g i RRER 115 42 (=3
750 |wHSE1A228 —Eir —EFFHE e ;3 RRER 110 30 =3
751 | HH8E1A228 —Eir hEFRE b [ RRER 107 30 (=3
752 | HMSE1A228 KT &R e i RRER 123 40 (=]
753 | HHSE1A238 HiERTm | REEHR b i RRER 130 65 (=3
754 | HI341A25H /MERET (BEN g i RRER 100 45 (=3
755 | HHSE1A1TA =5 F# e i RRER 110 40 (=]
756 | HHSE1A25H8 L) BEW b i RRER 130 80 =]
157 |[#I34&1A22H EXH ARl b ;] RRER 133 60 ]
758 | HHSE1A28R8 BLARHT AERARL g 3 RRER 100 28 =]
759 | GFI34E1A28H HiEETm | RETRE e [ RRER 130 75 (=3
760 | HHS3E1A30R 1) —BEET s [ RRER 110 30 =]
761 | HHSE1A298 1) —EFFHE e 3 RRER 138 80 (=]
762 | HH3E1A308 1) KEA e b3 RRER 128 50 (=3
763 | HH3E1A308 /MERET R e 3 RRER 110 50 (=3
764 | GHI3L&E1A27H =5 w g i RRER 100 35 =]
765 |[HHSE1A3IA i EL) % e 3 RRER 70 20 =3
766 | SHM3E2A1R FiEH iR e i RRER 120 60 =3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
767 |[SHI34&E2A3A FEARET A s i RRER 100 50 =]
768 | HHI3E2A3AE ot 1) hEFHN/TF s L RRER 170 80 =]
769 | SHI3E2A4B BEARET  |EHE ET L HE 64 7 =3
770 |[S#I34E2A2H EXH iR s L HE 50 30 (=3
1M | SH3%E2A38 HERT |REEHE e RRER 105 50 =]
172 |[5HI342A58 /MERT (BEN s i RRER 65 20 =3
1713 | SHI34&E2A6H K3tHHET P s ; RRER 110 50 (=3
774 | SHI3%E2A6H KT 1)) s L RRER 70 15 (=]
775 |[S5HI34E2A58 FBERM |75 g ; RRER 90 21 =3
7716 | SHI34E2A5H8 i) #/0 s L RRER 80 125 =]
1771 | SH3%E2ATH i) BRiR s L RRER 90 40 =3
718 |[SHI34%E2A8H i) iR s L RRER 129 50 =3
719 | SHI34E2A8H % )I18T =i e L RRER 120 50 =]
780 |HFI34E2A8H EXH iR bk L RRER 100 70 (=3
781 |HHM3&2A10R HERT |[REBE ET [ RRER 130 50 ]
782 | HHI3E2ATH HEERT | REEM e i RRER 120 80 (=53
783 | HFI34E2A8H (L 3k Er N g i RRER 80 25 =]
784 | GHI3E2A9R =5 iR g [ ; RRER 75 20 =]
785 |HM3&E2A10R HERET | BER g it RRER 80 20 (=3
786 |HHM3EF2A11RH b 1) —BFmiE g i RRER 143 60 (=]
787 |HHM3&2A10R FBRM |75 bk i RRER 140 89 (=3
788 |HM3&F2A11RH HERT |REEHE bk i RRER 120 55 =]
789 |HM3EF2A11RH KT &R e [ RRER 85 25 (=]
790 |HHM3&F2A13R b 1) e i RRER 107 30 (=]
791 | HM3&F2A11R P L) /i e [ RRER 125 70 (=3
792 | HM3&F2A11RH FINF Bra g i RRER 80 50 =]
793 | HHM3&E2A13R HiEET | REFAR e i RRER 85 25 (=]
794 | 5HM34&2A13R FBRMm |=/E i i RRER 140 83 ]
795 |HM3&E2A14R EL#RHET B/ L g L RRER 110 55 =3
796 |HHM3E2A11RH L) BEW g [ RRER 120 70 =3
797 |HM3&E2A14R YR ET BEW g [ RRER 120 90 =3
798 | HHM3&E2A14R =5 FRNR bk L RRER 137 80 (=]
799 | SHI342A14H ANNF Bra e ;] RRER 80 15 ]k
800 |G#I3&E2A14H ANNF Bra b [ RRER 80 15 ]k
801 |HHS&E2A14R 1L 3k Er HEA e ;3 RRER 90 25 =]
802 |HHS&E2A14R TRy HEA e ;3 RRER 90 25 (=]
803 |HHI3&E2A16R %Il Ey = e ;3 RRER 115 27 (=]
804 |FI3&E2A18H /MEET R e i RRER 120 70 (=3
805 |GFI3&E2A20R /MERT |ALH g ;3 RRER 85 20 =3
806 |FISE2A19R KT &R e ;3 RRER 125 52.5 =3
807 |%#M34&E2A21H HEET | REEM b ;3 RRER 130 80 (=3
808 |G#MI3&E2A21H HEET | REEMN b i RRER 80 20 =3
809 |HHM3&E2A21H EXH tiREy AR e i RRER 80 40 (=3
810 |HHS&E2A17H i) BRiR e [ RRER 107 45 (=]
811 |SH3&E2A218 i) BRH g i RRER 100 30 (=3
812 |SH3&E2A218 i) BRiR e 3 RRER 115 60 (=]
813 |HHS&E2A23A i) R e 3 RRER 133 100 (=3
814 |HH3&E2A24R HiEETm | RETRE e 3 RRER 90 30 (=3
815 |HHI3&E2A20R FB8RMm |=/EB e [ RRER 110 20 =]
816 |HS&E2A24R mARET  |EHE e 3 RRER 120 65 (=3
817 |HH3&E2A24R 1) —BFHAEAF e 3 RRER 128 35 (=]
818 |HHI3&E2A23A HEET | RREFI g 3 RRER 140 100 (=3
819 |HHS&E2A26R mARET  (BAE e [ RRER 60 20 =3
820 |GFIS3E2A26R FiEH iR e i RRER 115 65 =3
821 |&HM34&2A28H HEERT | REPEH e i RRER 70 20 (=3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
822 |SHMI34E2A28H HERT | REDEH bk ; RRER 130 90 =]
823 |&HM3&E2A2TH =5 Ex4 s ; RRER 70 20 (=3
824 |SHM3E3IA1H FHRMm R/ A bk B RRER 140 44 ]
825 |GHM3&E3IA2R K3tHHET RE s L RRER 100 25 (=3
826 |SHMI3&E2A2TH ITP1A:) s g L RRER 150 65 (=3
827 |S#M34&E3IA3AE HERT |[REBE ET s RRER 75 H ]k
828 |SHM3E3IA3A FRERT | LME s L RRER 80 21 =]
829 |SHM3E3IASH FEARHET BA s ; RRER 55 13 (=]
830 |SHM3E3IASH FEARHET A s L RRER 60 15 =]
831 |SHM3E3IA6H /MERET R s s ; RRER 70 20 (=]
832 |SHM34E3IASH =5 XA MAR bk s RRER 85 45 ]k
833 |SHM3E3IASH FEARET WHEER s L RRER 60 40 (=3
834 |SHM3E3IASH K3tHHET wE bk [ RRER 70 15 =]
835 |GHMI3E3IASH /MERET R bk L RRER 100 60 (=3
836 |SHM3E3IA6H AINF Bra bk L RRER 75 12 ]
837 |SHM3E3IATH EXH g g L RRER T 60 (=3
838 |HHM3EIAIR =5 XA MAR bk s ; RRER 72 20 ]
839 |SHM3EIAIR FEARHET a4 ] g L RRER 100 70 =3
840 |SHM3EIAIR K3tHHET RE g [ ; RRER 90 30 =]
841 |SHM3E3IAIR BEARET  |EHE g L RRER 100 15 =]
842 |SHM3E3IAIR BERE  |ELEEWM g [ RRER 110 20 (=]
843 |SHM3E3IAIE FBRM |75 bk L RRER 112 80 ]k
844 |SHMI3E3IAIR /INERT Iz g [ ; RRER 110 70 (=]
845 |HH3E3IA10R 1) —EFFHE g L RRER 102 25 (=3
846 |SHMI3&E3IA14H FEARET ERE g [ RRER 50 20 (=3
847 |SHMI34&E3A14H HERT |REEHE g h RRER 140 85 (=3
848 |SHM34&E3A15H =5 Ex4 g [ RRER 108 20 (=]
849 |HH3&E3IA18A 1) - g H RRER 124 30 (=3
850 |S#I34E3A20H FiFEH IE g [ ; RRER 110 50 (=]
851 |G #I34E3A20H K3tHHET wE g L RRER 100 20 it
862 |GHMI34&E3IA22H K3tHHET &= g [ RRER 110 40 =]
863 |SHMI34E3A23AH EL#RHET BB/ b g L RRER 100 20 =]
854 |GHI3&E3IA22H % )I18T = i [ RRER 120 70 =]
8656 |GHMI34E3A23H F#EEm =/ F e ;3 RRER 90 18 (=3
866 |GHMI34&E3A23AH FEET =/ F e ;3 RRER 148 85 (=3
857 |GHMI34&E3A24H FiEH IE g [ RRER 134 80 (=]
868 |GHMI34E3A20H i) iR g [ RRER 128 75 (=]
869 |HHMI34&E3A23H HERT | REFREFE g ;3 RRER 70 20 (=]
860 |GH#M34E3A23AH HiERTm | REER b i RRER 60 15 (=3
861 |HHM34&E3A27H ANNF BT # b ;3 RRER 155 75 ]
862 |HHMI34&E3IA24H FEEm =/ F b ;3 RRER 90 13 (=3
863 |HHM3&E3IA22H E3i0 F# e i RRER 80 30 (=3
864 |GHMI34E3A25H i L g [ RRER 90 40 (=]
865 |GHMI34E3A20H i e e i RRER 150 100 (=]
866 |HHM3LE3IA29A FBRM |75 e i RRER 110 68 (=3
867 |%HM34E3A28H AINF Bra g [ RRER 140 68 (=]
868 |HMI34E3A28H HiERT | RERMTREW i 3 RRER 130 80 (=]
869 |HHIS&E3IA29R % )I18T =i b 3 RRER 90 10 (=3
870 |%#M343A30H EXH ERKR s [ RRER 70 40 ]
871 |SHM34&EAA2R KT mELE e 3 RRER 80 15 (=3
872 |SHM3&EAA4R HERT | REPEH e 3 RRER 105 40 =]
873 |SHM34EAA8H mARET  |EHE e 3 RRER 85 12 (=3
874 |HM3&£4A10H ANNF BT # e ;3 RRER 100. 5 20 (=163
875 |GHMI3&EAA16H HiEET | REELS e i RRER 130 60 (=]
876 |HHM3&E4A20R EXH iR ET [ FRER 100 20 ]




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
877 |S#M3%&E4A21H HERT | REIR bk ; RRER T 26 =]
878 |%HM34E4A23H ITP1A:) SN T L RRER 109 30 (=3
879 |S#M34E4A23H FRRM | K ET L RRER 120 35 ]
880 |G#M34E4A23H K3tHHET =E s ; RRER 120 85 (=53
881 |S#M34E4H25H #HERT |REDR ET s ; RRER 110 50 ]k
882 |GHMI3&E4A2TH % )I18T PENEL s ; RRER 133.5 50 (=]
883 |SHMI3EAA28H K3tHHET P s ; RRER 100 35 (=3
884 |GHMI34ESA3AE FFEH ITE s ; RRER 115 30 (=]
885 |G HMI34ESA3AE KT wE s L RRER 90 35 =]
886 |S#MI34E4A25H =5 hE s ; RRER 85 30 =3
887 |SHM34ES5A2R FFEH E&ER g ; RRER 131 60 =]
888 |GHMI34ESA6H KT wE s ; RRER 90 25 =3
889 |GHM34ESASH EXH L35 bk [ RRER T T =3
890 |S#34E5A10H K3tHHET RE bk L RRER 100 35 =3
801 |G #M345A10A KT P bk L RRER 80 25 =3
802 |GHMI34&ESA1IA BRMAT AWl T [ RRER 120 50 =3
803 |SHM34&E5A12AH K3tHHET RE g L RRER 110 60 (=3
804 |GHMI34&ES5A12AH Kilr RE g [ ; RRER 100 25.7 =3
805 |GHMI34&ES5A12H Kilr RE g [ ; RRER 95 18.7 =]
806 |SHMI34ES5A12H FB8RT |=/EB g L RRER 140 75 (=]
807 |SHM34E5A14H KItHHET RE g L RRER 80 20 =3
808 |SHMI34E5A16H #HERT |REIR g L RRER 73 140 (=]
899 |GHMI34E5A14H BT | bk h RRER 118 28 (=]
900 |G#345A18H FB8RMm |=/E bk [ ; RRER 130 55 ]
901 |%#345H20H FFEH IE bk [ RRER 105 23 =]
902 |%#I345H20H KT RE bk L RRER 90 35 (=3
903 |%#345H20H b 1) hE bk L RRER 115 35 it
904 |SHI345H20H FiEH IE g [ ; RRER 110 20 (=3
905 |GHM34E5A22H /MEET EBEI g [ RRER 110 60 (=3
906 |SH34E5A22H MERET |BE g [ RRER 90 40 =3
907 |S#M345A21H BEARET | BAE g L RRER 95 40 (=3
908 |G#MI34E5A22H ot 1) - g [ RRER 127 50 =]
909 |GHM34&E5A21AH HiEET | REME g [ ; RRER 60 15 (=3
910 |HH3&E5A22R KT = e ;3 RRER 80 20 (=3
911 |SH3&E5A228 KT =R e ;3 RRER 110 50 (=]
912 |HH3&E5A228 K3tHET pi g [ RRER 70 25 (=3
913 |HH34E5A24R HiRET | REEWL ET L RREK 115 50 ]
914 |SHM34E5A23AH HiEET | RE=4K e ;3 RRER 140 43 (=3
915 |HM345A28H KT BE e i RRER 145 90 (=]
916 |S#M345A28H /MERT (BEN g [ RRER 90 25 (=3
917 |SH34£5A318 KT == e i RRER 80 15 (=]
918 |HHSE5A29R BRMT  |EE e ;3 RRER 113 30 (=]
919 |HH3£E5A31R FaRM | LME e 3 RRER 100 30 (=3
920 |HHI3E6A2H =5 BT bk [ RRER 132 40 ]
921 |SHM3LE6A6H AINF Bora g [ RRER 103.9 62 (=3
922 |GHMI3LE6H6H BRHETm  |EH e 3 RRER 124 65 (=]
923 | HM3E6A8H KT /T e [ RRER 95 22 =]
924 |GHMI3L&E6AH10A mARE BT ET B HE 36 1 (=]
925 |GHI3LE6AIR HERT | REEH e 3 RRER 80 25 =]
926 |GHI3&E6H10A #HERT |REIR s [ RRER 153 76 (=]
927 |SHMI34&E6A10A HiEET | RETRE e 3 RRER 110 50 (=]
928 |HHSE6A12R FiEH ITE g [ HE 57 1.5 =3
929 |GHI3L&E6A1IA FoiRET =T e [ RRER 124 55 =3
930 |HHM3L&E6AH13A 3 #EH e [ RRER 59 45 =3
931 |HHSE6A14R FiEH FEGLE g [ RRER 130 80 (=3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
932 |HM3&E6A15H FEARET ERE s i RRER 123 50 =3
933 |HM3FE6A1TH EL#RHET BERT s ; RRER 90 20 (=3
934 |5H346A16H #HERT |REDEFH bk it RRER 105 35 ]
935 |H3E6A16RH %1187 £H s s RRER 110 37 (=3
936 |HM3FE6A1TH =5 it s i RRER 60 50 =]
937 |HM3&E6A20R Kier B FF A48 s L RRER 95 25 =3
938 |HM3E6A21R HERT |REEF e i RRER 100 40 =]
939 |H346A28RH BEARE |EL ET L HHE 50 1 =3
940 |HH346A25R 1L 3k Er N g i RRER 100 40 =3
941 |H5M3E6A26R 1L 3k Er HRAFH e i RRER 65 15 =]
942 |5M3E6A26R FRFAT R g L RRER 116 40 (=3
943 |HM3E6A29A b 1) hE s it RRER 107 35 =3
944 | HH3E6A29AR 1) hE bk it SHE 64 5 =]
945 |GHI3ETA4R K3tHHET =R bk i RRER 90 25 =3
946 |HM3ETA10R KT 1)) bk L RRER 150 110 =]
947 |HM3ETA12R KT RE bk L RRER 160 110 =3
948 |HM3ETA13R =5 Ex4 g [ RRER 93 30 =]
949 | 3ETA15H K3tHHET =E g i RRER 80 20 =]
950 |HM3ETA15H HEERT | REEM e i RRER 100 40 (=3
951 |HM3ETA16R BEARE |EL g L RRER 100 20 =]
952 |M3ETA18RH KItHHET wE g i SHE 50 7 =3
953 |HM3ETA18RH K3tHHET RE g [ ; RRER 90 25 (=3
954 |3ETA18RH FFEH ITE e [ HE 55 4 (=]
955 |HM3ETA19A FFEH IE e [ HE 55 3.5 (=]
956 |H3ETA18RH HERT | REEM e it RRER 120 40 (=]
957 |HM3ETA16R BRMAT  |FER g it RRER 127 50 =]
958 |3&ETA23R b 1) hE bk i RRER 79 10 it
959 |HM3ETA21R K3tHHET =E g i RRER 70 20 (=3
960 |HHM3ETA21R FiFEH IE e [ ; RRER 110 60 (=]
961 |H3&ETA25R RN |RER g [ RRER 131 40 (=]
962 |HHM3ETA24R FBRM |F5 i b 3 RRER 90 10 ]
963 |H3&ETA28RH FiEH iR g b3 RRER 110 65 =]
964 |SHSETA29R KT e b3 RRER 130 50 =]
965 |HHISETA29R P L) e ;3 HE 60 7.9 (=3
966 |GH34&ETA30R b 1) hE e ;3 HE 80 5 (=]
967 |%HM34&ETA30RH HERT | REEH e ;3 RRER 90 30 =]
968 |HHM3LETA3IA %1187 £H e ;3 HHE 40 13 (=]
969 |HHSETA30R BRMT  |EE g i RRER 119 40 =3
970 |SH3E8AIR (L 3k Er =l s [ RREK 80 27 ]
971 | SM348AI1R KT == e b3 RRER 110 50 (=]
972 |SHM34&E8A3A HiEERTm | RETRE e [ HE 60 10 (=]
973 |SHM3E8A3A b 1) hE e i HE 73 5 (=3
974 | SM348A3A K3tHET pi b i RRER 140 110 (=]
975 |SH348A3A NzL) & b [ RRER 105 30 ]
976 |HM3E8A6H KT e i HE 70 9.5 (=3
977 | SM348A6H KT e i HE 70 9.5 (=]
978 |HHM3LESAIR Kighr e 3 HE 55 4 =]
979 |34 8A5H %Il Ey = e i RRER 125 64 (=]
980 |SFI34£8AI10R 1) B s [ HE 84 8 =3
981 |SH34£8AI10R 1) - e i RRER 140 45 (=]
982 |HH34£8AI10R FiEH ITE e 3 RRER 110 30 (=]
983 |HM3E8A9A L ET A e b3 RRER 80 35 =3
984 |GHI3LESAIR 1Tk =EHN e 3 RRER 110 50 =3
985 |GHI3&E8ANIA KigHr B FF A48 e i RRER 100 29 =3
986 |HHSE8AITIRA KHHT RE s i RRER 75 19.5 =3
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987 |SHM3&E8ANIA Kilr RE s L RRER 80 21 (=]
988 |GHM34E8A12H Nz # bk L RRER 100 30 ]
989 |GHMI3E8A14H K3tHHET =E s L RRER 120 50 (=3
990 |G#34E8A1TH % )I18T B bk L RRER 136 47 ]k
991 |SHM34E8A18H % )I18T e s L RRER 136 40 =]
992 |G5HM34E8A22H K3tHHET pi g s HHE 80 7 =53
993 |SHM34E8A21AH HERT | REXH s ; HE 80 10 =]
994 |GHM3E8A22H P L) AR s ; RRER 76 17.5 =3
995 |SHMI3&E8A22H P L) BAR g ; RRER 75 17.1 =3
996 |SHM3E8A22H P L) BAR s ; RRER 77 18.1 =]
997 |SHM3&E8A22H KT BAR g L RRER 76 17.6 =]
998 |SHMI34E8A23H KHer NE s L RRER 70 20 =3
999 |GHM3E8A21AH BT | bk L RRER 121 35 =3
1000 |F1348H23H /MERT |BR bk [ RRER 100 40 =]
1001 |F1348H23H /MERT K bk [ RRER 100 40 =3
1002 |F1348H26H HERT |REEF g [ ; RRER 90 25 (=53
1003 | #1348 H25H K3tHHET 1)) g [ ; RRER 90 15 (=3
1004 |F1348H25H P L) &R g [ ; RRER 70 18.8 =]
1005 |F1348H25H P L) &R g [ ; RRER 70 17.7 =]
1006 | #1348 HA25H KT &R g [ ; RRER 70 18.4 =]
1007 | #1348 A25H KT &R g L RRER 70 20.5 =3
1008 | #1348 H25H KT &R g L RRER 70 17.9 (=3
1009 | #1348 H28H Kilr RE bk L RRER 110 38 (=]
1010 | #1348 H29H Kilr B AT A 480 bk [ RRER 110 33 =3
1011 | #1348 H29A KHlr B AT A 480 g [ HE 50 3.7 (=3
1012 | #1348 H29A KHlr B AT A 450 g [ HE 60 4.9 =]
1013 | #1348 H29A Kilr B AT A 450 g L HE 65 7 (=]
1014 | FI348H29H KHlr B AT A 480 g B HE 60 5.6 =3
1015 | #1348 A29A Kilr B AT A 480 g L SHE 65 6.5 =]
1016 | #1348 H29H KiHr B AT A 480 g [ SHE 60 5.1 =3
1017 |F1348H28H BRWT |EE g L RRER 140 60 =3
1018 | #1348 A30H KT RE g L RRER 90 15 =]
1019 | HFI348A31AH HERT | REXH g [ ; SHE 80 9 (=3
1020 |HF1348A31H ot 1) - e i HE 70 5 =]
1021 |HHM3EIA4H HERT | RE%EF ET [ RRER 109 30 ]
1022 |HHM3E9IA4H HiEET | REPEH e ;3 RRER 150 88 ]k
1023 | HH3E9A4R BRMT |EE e i RRER 113 18 (=3
1024 | 5HM3EIASH HiRET | REAME bk [ RRER 150 55 2]
1025 |HHM3EIATH KT BE e i RRER 120 60 (=]
1026 |H3£9A8AH KT RE g ;3 RRER 110 50 (=]
1027 |H349A10R FiFEH 5 H ET [ RRER 75 25 (=3
1028 |GFI34E9A11H HiEETm | RETRE b ;3 RRER 70 30 ]
1029 |H349A10R KT P g i RRER 70 15 (=]
1030 |HHI3E9IA1R KT P g [ RRER 90 20 (=]
1031 | HH3EIANR KT pi g [ RRER 80 15 (=]
1032 | H3%9A12R K37 &= T ;] HHE 60 5 ]
1033 |HHM3EFIA9AH Kighr RE g [ RRER 72 12 =]
1034 | HHM3EIA9AH Kighr RE e 3 RRER 70 13 (=]
1035 |GFI34E9A12H HERT | REEH s [ RRER 90 30 =]
1036 |HFI34E9A13H HiEET | RETRE e 3 RRER 100 45 =]
1037 | H349A13R L) & g [ RRER 120 60 (=3
1038 | HI349A13R KHHET /i e [ HE 70 10 (=3
1039 | HH349A13R KHHT /i e 3 HE 70 10 =3
1040 | F1349A13R EXH EJ g [ RRER 100 50 =3
1041 | GFI34E9A12H BRFTm  |EH e [ RRER 132 55 (=3
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1042 | FI34E9A13H K3tHHET 1)) i ; RRER 130 65 (=]
1043 | HFI34E9A14H ITpd:) Ul bk s ; RRER 90 20 ]
1044 | FI34E9A16H KItHHET 1)) s L RRER 120 50 =]
1045 | GFI34E9A16H K3tHHET 1)) s L RRER 80 10 =3
1046 | GFI3EE9A1TH HERT |RERE g ; RRER 110 50 =3
1047 | FI34E9A1TH BT |RER s ; RRER 131 65 =]
1048 | FI34E9A22H KT P s L RRER 90 12 =3
1049 | HFI34E9A22H K3tHHET 1)) s L RRER 100 15 =3
1050 |FI34E9A23H KT RE s L RRER 130 65 =]
1051 |FI34E9A24H KT 1)) s L HEK 80 10 =]
1052 |F134E9A25H YR ET % s ; RRER 110 35 =]
1053 |FI34E9A25H /MERT | ERER g ; RRER 120 60 =]
1054 |FI34E9A22H BRMAT |RER bk L RRER 82 12 =]
1055 |FI34E9A26H KT RE bk L RRER 130 60 =]
1056 |GFI34E9A27H KT pi bk h RRER 140 70 (=3
1057 |FI34E9H26H AINF Bra bk [ RRER 150 54 ]
1058 |FI34E9A27H ELARHT g L RRER 109 40 (=3
1059 |FI34E9A30H ELARHT ] g [ ; RRER 75 15 =]
1060 |FI34E9A29H K3tHHET RE g L RRER 80 15 =3
1061 |FI34E9A29A K3tHHET P g [ RRER 90 20 =]
1062 |HHI3410A4H FIFTH 1TE HhE s ; FER 90 20 =33
1063 |FI134E10A2H BRMAT |RER bk h RRER 82 13 =]
1064 |F134£10A5H (L 3k Er B8 ET [ ; RRER 134 40 ]
1065 |HI3410A4H KIHHT 7RH HhE [ AR 90 20 =32
1066 |HHI3410ATH MERT R xT s FER 59 10 =32
1067 |H#I3410A7H KIHHT 7rH HhE [ FER 100 15 =33
1068 |FI34£10A9A FEARHET g [ ; RRER 105 75 (=]
1069 |SFI3410A108  |FHIRAT g [ RRER 100 60 =3
1070 |HFI34E10A10R  |FARMAT | KEEET ik [ RRER 135 70 =3
1071 | #13410A6H BR#T  |BHE g [ RRER 89 16 =3
1072 |F13410A9A BRFAT |RER g L RRER 95 15 (=3
1073 |#I13410A6H BRMAT AWl g [ RRER 93 18 (=]
1074 |SHM3E10A158 | EERHET =] e i RRER 100 20 =3
1075 |HHM3E10A158  |EERHE =] e i RRER 60 15 (=3
1076 |HHM3E10A168  |Hxm@HET % g [ RRER 100 40 (=]
1077 |HM3&E10A18H |/MERM |BAR g [ RRER 100 50 =3
1078 | HHMSE10A18A | Z“FHT hE g [ RRER 84 20 (=3
1079 |H#M3EF10A18A |FBEW | Xl g ;3 RRER 90 20 (=3
1080 |HH3EI10A15H |EX X g B RRER 60 (=3
1081 |GFI34E10A16R |FRMH | XER g ;3 RRER 146 100 (=]
1082 | HHBEI10A218 | KHHT RE g ;3 RRER 110 30 (=]
1083 |HHM3EI10A238 | KHHT RE g ;3 RRER 90 15 (=3
1084 |5M34&10A25H |/MERWT |AH b ;3 RRER 70 40 (=3
1085 | HHSE10A25H | KHtHET BAR g [ RRER 80 14.5 =3
1086 |HHM3EF10A24R | HIRM™m |48 g [ RRER 108 20 =]
1087 |[HHI3LE10A17R  |MRMAH |KER i [ RRER 95 17 =]
1088 |GFI34E10A24R  |#AHE™ |&EPR i [ RRER 100 45 =]
1089 |HHM3E10A268 |ZEH - e i RRER 100 13 (=3
1090 |H#M3510A268 |/MEKRM  |[HRFI s [ RRER 85 20 =]
1091 |HH3EI10A258 | KHHT RE s 3 RRER 110 25 (=3
1092 |[GFI34E10A25R | KFHHET EXH g [ RRER 120 30 =]
1093 |HHM3E10A27TH  |HRMAH |#8R g [ RRER 108 25 =3
1094 | GFI3LE10A27TR  |EREM™H  |[fBR e i RRER 94 18 (=3
1095 |G#I34E10A27R |MRMH |RER i [ RRER 125 40 (=3
1096 |HH3E10A288 | KEEHT RE g [ RRER 120 52 (=3
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1097 |HHI3410A29R  |E#ARHET ] bk L RRER 90 15 =3
1098 |HFI3FE10A29R | KBEHT RE bk ; RRER 90 15 =53
1099 |GFI3&E11A1R FFEH E&ER g y RRER 100 30 =]
1100 |GFI3£&E11A1AH ot 1) hE s s HE 96 10 =3
1101 | 5#I34&E11A2AH L) % s L RRER 100 25 =]
1102 | HH3FE10A31R | KHHT 1)) s ; RRER 110 30 =]
1103 |H#3F11A1H K37 7rH HhE [ FER 120 40 =33
1104 | GFI3£E11A2AH HERT |REEF s ; RRER 110 60 =]
1105 |G#13411A5H Kilr RE s L RRER 90 20 =]
1106 |#13411A5H Kilr RE s L RRER 90 18 =]
1107 |#13411A5H Kilr RE s L RRER 90 22 =3
1108 |G#13411A5H Kilr RE s L RRER 90 18 =3
1109 |#13411A5H Kilr RE bk L RRER 95 22 =3
1110 |HH#3%11A5H FIFTH E&R HhE [ FER 140 100 =33
1111 | 5#3411A5H0 FFEH IE g L RRER 125 80 =3
1112 | 5#34&11A8A HERT |REEESR ik [ ; RRER 138 68 =]
1113 | 5H34&11A8A KT =E g L RRER 130 65 (=3
1114 |FH3FE1TA10R | KBHET /i e L RRER 120 48 (=]
1115 |[#3&E11A10A  MERT (AR ET s ; HE 72 6 =33
1116 |[SH3E11A12A  |#H#RT |[&E=7K ik B RRER 110 70 =]
117 |[SH3E11AI13R | BiARET |5 ET L HE 75 5 (=]
1118 |HH3FEI1TA16R | KBEHET /i e L RREK 90 19 (=]
1119 | HH3FE1TA168 | KRBT /i e [ ; RRER 100 23 (=]
1120 |HH3E1TA168 | KBEHET /i e L RRER 95 21 =3
121 |HH3FENANTR | KBHET RE bk L RRER 142 67 (=3
122 |HM3E11A13A |EERHET ] g L RRER 130 62 (=3
123 |HH3E11A13A  |EERHET =] g L RRER 80 14 =]
124 |HHM3ENANTR  |EERHET =] g [ ; RRER 80 15 =3
1125 |HH3E1TA21R | KRBT &R g L RRER 170 125 (=3
1126 |HH3E1TAI19R | KHHET =E g [ RRER 130 70 =3
127 |H#34&E11A208 | ZJIHT AH g L RRER 130 90 (=3
1128 |HH34E11A24R  |EHERHT =] g [ RRER 110 40 (=3
1129 | SM3E1A198 | E&RHE =] g [ RRER 80 15 (=3
1130 |[HHI3£E11A23R |#AEET |&EIIR ik [ ; RREK 125 65 =3
1131 |FM3F11A24R  BRMAT AW g [ RRER 139 80 (=]
1132 | 4HM3&E11A21R  |ERMAT | KRR ik [ RREK 80 20 =3
1133 | FHM3E11A258 | KEEHT /i e ;3 RRER 120 40 (=]
1134 | FM3E11A2ZR F#FB8RW /K ik i RRER 109 15 (=]
1135 | HHM3E11A268 |EERHE #wW g i RRER 90 15 (=3
1136 |[GHI3LE11A25R |#AEET |&ETRE g [ RRER 125 90 (=]
1137 | GHI34E11A26R |#AEET |&EHREF g i RRER 125 75 (=3
1138 | HHI34E11A28R |#AEET |&EIIR g i RRER 125 65 (=3
1139 | FHM3E11A298 | KEEHT FiR e ;3 RRER 130 73 (=3
1140 | SHM3E11A2TH  |H@HE B;2R s [ RRER 120 55 ]
1141 | SHM3E12A1R B ARHET =] e ;3 RRER 130 44 (=3
1142 | &HM3E12A1R B ARHET =] s [ RRER 120 34 (=]
1143 | HHM34E11A258 |BRMH | KER ik S [ RRER 121 40 ]
1144 | 5HM3EIATH %1187 NELW ET [ HHE 60 8 ]
1145 |35 12A5R N:L) il s 3 RRER 120 80 =3
1146 |HHM3E11A258  |IUdLHr BT T [ RRER 95 24 (=3
1147 | 5HI3412A4R8 HERT  |REIR s [ RRER 87 25 (=3
1148 | 5HI34E12A4R HEET | REEMN e 3 RRER 100 45 (=]
1149 | 5#I3412A5H #HERT  |FEAW s i RRER 110 80 =3
1150 |34 12A5R HiRET | REHEW s i RRER 150 85 (=3
1151 |5#I3412A5H AINF BT # g [ RRER 1025 75 (=3
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1152 | 5#13412A5H AINF BT # i L RRER 1035 90 (=]
1153 | H#I3412A6H ITpd:) Ul bk s ; RRER 115 45 ]
1154 | 5HI34&12ATH BRMAT |RER s ; RRER 136 65 =]
1155 | #I34E12A9A FEARHET i s L RRER 90 45 =3
1156 |GHI34E12A9A L) % s L RRER 85 20 (=3
1157 |[4#3£&£12A108 | FHFH iR s ; RRER 80 20 =]
1158 |HH#3%F12A7H K37 7rH HhE [ FER 140 95 =33
1159 | HH3FE12A128 | KHHT P s ; RRER 100 30 =3
1160 |HH3FE12A138 | KHHET RE s ; RRER 110 40 =3
1161 |HH3%F12A9H 2 )11 By =ig s s ; FER n 15 =32
1162 |H#I3&E12A12R  |#A#RT |[&EEW ik ] L RRER 90 30 =]
1163 |HHMI3E12A13R |#AEERT |&EIIR ik ; RRER 85 30 (=]
1164 |[SHM3E12A10R |FBRT |73 bk L RRER 130 49.5 (=]
1165 |H#3F12A13A | —FEH - g [ RRER 106 30 =3
1166 |H#3FE12A13A | —“FEH - bk [ RRER 103 30 =3
1167 |HH#3412A158 | KHHT HE g [ RRER 86 12 =3
1168 |HHI34F12A16R  |EARHET #W bk [ ; RRER 160 62.5 =]
1169 |HHMI3E12A17TR  |#AERT |&ETRE g [ RRER 130 80 (=]
1170 |[3412A18A | TFH E&ER HhE s ; FLER 90 20 =33
N7 |HH3FE12A1TR | KHHT =E i L RRER 135 100 (=3
172 |HM3F12A1TR | KHHT =E g [ ; RRER 100 60 =3
1173 | 5H34E12A208 | KHHET &iR ®ET [ FER 95 32.1 =32
1174 |5F13412A208 |EH™H SR xT [ FRER 95 15.5 (7153
1175 |H#3412A20R  |EARHET b=y g [ RRER 100 15 =]
1176 |[5H3412A20R | K3HHET 7rH HhE s FER 90 25 =32
177 |[%#3412A198 | ZJIHT =ig g [ FER 145 76 =313
1178 |[HHMI3412A20R |#A#ET |&EPR ik L RRER 135 74 =3
1179 | 5HM34E12A248 |HAEET |&EIIR ik [ RRER 135 72 =3
1180 |4#I3£12A250 |EHH R g [ RRER 140 68 (=3
1181 |#13412A25A |/MAERT (@R HhE [ FER 60 35 =32
1182 |&#13412A25A |/hEER™ |[AFH HhE [ FER 80 50 =32
1183 |H#I34E12A25R |J{AKAT |EL g [ RRER 130 45 (=3
1184 | GM3E12A2TH | FEH ITE g [ RRER 130 90 (=3
1185 | HHI3&E12A29R |#AHEET |&KEEH bk [ RRER 110 50 =]
1186 |H#I3412A25R |MREEHTH |= ET [ RRER 110 80 ]
1187 |HHI34E12A268 | KHHET RE g [ RRER 90 30 (=]
1188 |HHM3E12A268 | KEEHT RE e i RRER 90 21 (=3
1189 |HHM3E12A268 | KEEHT RE e i RRER 90 17 =]
1190 |HFI3EE12A27TR | KHHET RE b i RRER 85 20 (=3
1191 | SHM3E12A2T8 | KEEHT RE e ;3 RRER 90 21 (=3
1192 | 5M3E12A248 | E&RH =] e i RRER 150 40.5 =]
1193 | HH4E1A4R EL#RHET =] g [ RRER 90 13 (=]
1194 | H4E1A3R KT RE g [ RRER 110 35 (=3
1195 | 5HMAE1A5H HiERTm | REEHR e [ RREK 130 70 (=3
1196 | HHMAE1A9AH KT =E g [ RRER 140 90 (=3
1197 |5MAE1A8H HEET | REED b 3 RRER 130 70 =]
1198 |HHMAE1A8H FRMAT W g [ RRER 148 70 (=]
1199 | 5HMAE1A8H FRMAT W s [ RRER 136 60 ]
1200 HH4E1A11A 1) =B s [ RRER 120 50 =3
1201 | SH4AE1A11A 1) B g [ RRER 110 30 (=3
1202 | 5F4£&E1A12H BREFT |RER ET [ RRER 80 14 ]
1203 | H4£1A10R B ARHET =] s [ RRER 95 18 =]
1204 |SHAE1A13R KT /i e ;3 RRER 110 32.4 (=3
1205 |H4%1A13R KT /i e [ RRER 100 29.5 =3
1206 |&H4E1A13R B ARMET =] e 3 RRER 135 65 (=3
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1207 |SF4LE1A14R8 HERT |REEHE ik L RRER 130 80 =]
1208 |FI44E1A 14 KHlr RE s L RRER 85 18 =]
1209 |F44E1A14R8 Kilr RE s s RRER 95 21.5 =]
1210 | F4%E1A148 Kier RE s L RRER 100 28.5 =3
1211 | SHMA%E1A148 L) % s L RRER 100 60 =]
1212 | HMA%E1A148 ot 1) hE s s RRER 110 35 =3
1213 |[5#M4%£1A15H0 FERT =/ F s ; RRER 158 99 =3
1214 |5#451A15H #8RNm |=/E HhE i FER 83 15 =32
1215 |5#451A15H #8Rhm |=/E HhE i FER 83 15 =33
1216 | 4518150 #8Rhm |=/E HhE s ; FER 83 15 =32
1217 54518158 #8Rh |=/E HhE s ; FER 83 15 =33
1218 |H#451A15H #8RMm |=/E HhE [ FER 83 15 =32
1219 | SHMA%E1A16R /MERT |BE bk [ RRER 100 50 (=3
1220 | F4£%E1A17H /MEERT W T L RRER 130 50 ]
1221 | 5HMA%E1A16H EL#RHET ] bk L RRER 130 58 =3
1222 | 5HMA%E1A18H EL#RHET ] bk L RRER 120 53 =3
1223 |[HMA%E1A18H HERT | RREIR g L RRER 103 30 (=]
1224 | HMASE1A19A RN |FH g L RRER 121 35 (=]
1225 | #A4%E1A19H ITpA:) Ul bk s ; RRER 110 45 ]k
1226 |[#44E1A19H K37 P bk s ; RREK 140 85 ]
1227 |[HMA%£1A19A HiERT | RETRE g L RRER 120 65 =]
1228 |HAE1A19A HiERT | RETRE g [ RRER 125 65 =]
1229 |HMA4%1A230 ELARHT =] g L RRER 150 56 =3
1230 | 5H4&E1A22H L) % g [ RRER 65 12 (=]
1231 | HMA%£1A22H YR ET % g L RRER 75 16 =]
1232 | 5MA%E1A22H Kilr FR bk L RRER 135 80 (=3
1233 | fA&£E1A228 HERT | REEF g L RRER 130 60 (=]
1234 | FAL&E1A26R8 ITp1A:) EHEN g [ RRER 110 45 =3
1235 | HAL&E1A27H HERT |[RETARR ik i RRER 80 28 =3
1236 |HH4L&E1A27H KigHr RE g [ RRER 90 25 (=3
1237 |[5HMAL£1A27H KiHr RE g [ RRER 93 27 (=3
1238 | HAL&E1A27H KT RE g [ RRER 87 23 (=]
1239 | #44&1A27H BRFAT | ET L RRER 77 14 ]
1240 |F4L&E1A27H ITp1A:) s e ;3 RRER 115 45 (=3
1241 | 5HMALE1A27H EL#RHET BERT bk [ SHE 90 10 =]
1242 | A% 1A28R Ly EET B ET [ RREK 112 70 ]
1243 | FAL&£1A30R FiEH FT&ER g [ RRER 110 64 (=3
1244 | A% 1A28R FB8Rm |=/B g [ RRER 110 35 (=3
1245 |FA4£1A30R #HERT |[REFHR i [ RRER 125 50 (=3
1246 |HMAE2A1H KT /i e [ RRER 100 42 (=3
1247 |#HM4E2A1R EL#RHET =] g [ RRER 148 57 (=]
1248 | 4H452A2R Lk Boro g [ RRER 110 40 (=3
1249 |5MAE2A1H KT &= g [ RRER 90 20 (=3
1250 |&#MAE2A2H KHHET /i e i RRER 97 23 (=]
1251 |&5MA%2A28 KT /i e ;3 RRER 95 19 (=3
1252 |&5MA%2A2H KT /i e 3 RRER 95 21 (=]
1253 | 4H45£2A3R B ARHET =] e 3 RRER 100 23 (=3
1254 | H452A3R FEiRET R e [ RRER 110 75 (=3
1255 |&#MA%2A2H HiEET | REEOR e 3 RRER 120 65 (=3
1256 | H45£2A5R FEiRET BmARE ET [ FER 120 35 ]
1257 |&5HMA%2A5H KHHET /i e 3 RRER 95 26 (=3
1258 |&HMA%£2A3H HERT | REEH e 3 RRER 130 60 (=]
1259 |&#MA%2A48 HiEET | REFAR e i RRER 65 15 (=]
1260 |&HMAE2A48 HERT | REREH ET [ RRER 135 90 (=3
1261 | 4H45£2A6R KT pi g [ RRER 110 30 =3
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1262 |[HMA%E2ATH KT /i e L RRER 80 18 =3
1263 |[HMA%E2ATH KT /i e L RRER 75 15 =53
1264 | SHA%E2ATH FFEH ITE s L RRER 100 40 =]
1265 | HMA%E2ATH ELARHT ] s L RRER 160 70 =3
1266 |[HH4E2A6H ot 1) -= s ; RRER 118 30 (=3
1267 |[HMA%E2ATH HERT |[RETARR e it RRER 110 45 (=]
1268 |H4%E2A6H AINF Bra s L RRER 145 70 =3
1269 | HA%E2A9E Kilr RE s ; RRER 110 46.5 =3
1270 |#442A108 8RR | #/A s L RRER 120 50 =3
1271 |[5#MA%E2A128 BEARE |EL g  ; RRER 150 70 =3
1272 | 5HMA%E2A14R8 FEARET XEEH s L RRER 80 45 =]
1273 |[#MA%£2A 150 FFEH ITE s L RRER 120 37 =3
1274 |[5#MA%£2A15H /MERT (BHEN bk [ RRER 80 30 =]
1275 |[#M4%2A15H Kilr RE bk L RRER 95 26 =]
1276 |[HMA%E2A16H HERT |REEHE ik L RRER 140 80 =]
1277 |[5HMA%£2A 190 FFEH iR g L RRER 85 18 =3
1278 |H4%2H20RH KiHr FR g [ ; RRER 90 31.2 (=3
1279 |HM4%2A20H KT FR g L RRER 90 31.5 =]
1280 |#I442H20H Kilr FR g [ ; RRER 95 32.2 =3
1281 | H44E2A 19 RS8R #/A g L RRER 120 50 (=]
1282 |iF442H20R KT =E g L RRER 120 80 =]
1283 | #4%£2A22H HiERT | RETRE g [ RRER 125 70 =]
1284 |F442A21H HiERT | RETRE g [ ; RRER 130 65 =3
1285 |H442A21H HiERT | RETRE g L RRER 135 70 =3
1286 |HH44E2A22H HERT |RERE g L RRER 135 70 (=]
1287 |[HA%£2A22R0 /MERT (BEN g [ RRER 90 50 (=3
1288 |FI442A23H FiEH E&ER ET L RRER 110 45 =]
1289 | H4&£2A22H HERT |REEF g L RRER 130 80 (=3
1290 |F442A23H HERT |@&EPR iRHKE bk L RRER 131 45 =3
1291 | 5#44£2A23H FEET =/ F g [ ; RRER 150 89 (=3
1292 |F442A25H HERT |REEHERER ik L RRER 115 55 =3
1293 | #442H23H BRFAT |RER bk [ RRER 120 40 2]
1294 | HM4%2A23R FiEH iR e i RRER 90 30 =]
1295 |H4%2A23R FiFEH IE g [ RRER 100 25 =3
1296 |&HM4%2A27R HARET | @RE T B RRER 100 40 (=]
1297 | H45%2A28R FiEH IE e i RRER 142 80 (=]
1298 |HMAE3A1H HERT | REEH e ;3 RRER 100 50 =]
1299 |HMAE3A2H /MERT ER ET [ FER 87 25 =]
1300 |&#M4E£3A2H FEiRET ERE g [ RRER 90 50 (=3
1301 | HH443A3R KT R/ e [ RRER 98 28.5 (=3
1302 |HHMAE3A6H AINF Bra g [ RRER 120 67 (=]
1303 |HHMAE3A4H ITpA:) s g [ RRER 120 60 (=3
1304 |HHMAE3A8H /INERT Iz ET [ RRER 90 19 (=3
1305 | H44£3A8R KT 1 b i RRER 150 85 (=]
1306 | HH4£3A9R BRMT  |GET ET B RREK 120 60 ]
1307 | HH4E£3A9R FiEH IE e 3 RRER 140 80 (=]
1308 | H44£3A10R /MERT K e 3 RRER 80 40 (=3
1309 | GFI443A10H TPy s e i RRER 100 40 (=3
1310 |5HM4E3A9H ITpA:) s g [ RRER 110 45 (=]
1311 | HHM4E3A12R /MERT |(A%£H s [ RRER 50 20 ]
1312 | 5HA&£3A 120 KigHr RE g [ RRER 130 68 =3
1313 |[H44&E3A12H KigHr RE e 3 RRER 90 19 =]
1314 | SHM4%3A13R KT RE g [ RRER 90 21.6 (=3
1315 | HH44&E3A 120 F8RM | Xl g i HE 68 8 (=3
1316 |H44£3A 120 F8RM | Xl g i HE 68 8 (=3
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1317 | SHMA%E3A 120 FBRM | Xl s L HHE 56 5 =3
1318 |[F44E3A 14 MERT (RF bk ; RRER 100 50 =53
1319 | SHM4%E3A11H FRERM |78 g L HE 40 5~6 =]
1320 | F44E3A12H FBERM |78 g ; RRER 100 58 =3
1321 |[HM4%E3A16H FFEH iR s ; RRER 125 75 (=3
1322 | HAL%E3A16H AINF Bra s ; RRER 153 75 =]
1323 |[SHMA%E3A1TH HERT |REEFH s L RRER 90 20 (=3
1324 | 5HMA%E3A18H FEARET A ET ; RRER 90 13 =3
1325 | #443A20R KT RE s L RRER 100 25 =]
1326 |[HH44E3A21H FFEH FT&ER g  ; RRER 80 20 =3
1327 | SHA%E3A19A E#RHET " B/t g L RRER 112 35 =3
1328 |F443A23H Kilr RE s L RRER 115 58.4 =]
1329 | H443A23H KT =E bk h RRER 150 90 (=]
1330 | H#443A21H AINF Bra bk L RRER 82 7 ]
1331 | F44E3A24R FFEH IE g [ RRER 100 20 =3
1332 | F44%E3A24R Kilr RE g L RRER 85 23 =3
1333 | HH44E3A24R BERT | i ; RRER 70 15 =]
1334 | H44E3A27H HiEERT | RETRE g ; RRER 90 20.4 =]
1335 | F44E3A29A #HERT | BREDMRER ik ] L RRER 85 25 =]
1336 | HFI44E3A29A FFEH ITE s L RRER 150 80 (=3
1337 | H443A30H BERET  |EHE s ; RRER 90 20 =]
1338 | FI443A30H EL#RHET ] s L RRER 100 18 =]
1339 | HF443A30RH HERT  |REEF s ; RRER 80 40 =3
1340 | HHAEAA3HE HERT |RETARR ik ] L RRER 130 80 (=]
1341 | SHMA%EAA3HE HERT  |REIR ET L RRER 90 12.8 =3
1342 | SHMA%EAA1E KT P s ; RRER 130 90 =3
1343 | HMA%EAA2R K3tHHET 1)) s s ; RRER 100 35 (=3
1344 |5F454A6H MERT | A£H T s FRER 80 1 (7153
1345 | HA%EAA8H HERT  |REGR g L RRER 120 36 (=]
1346 | HHMAE4A11R YR ET % bk L RRER 150 80 =3
1347 | SHMA%£4A11RH K3tHHET 1)) bk L RRER 90 25 =3
1348 | HHMA5E4A16R NEL) % g L RRER 80 15 (=]
1349 | F4L%E4A1TH K37 P bk L RRER 90 20 ]k
1350 |FI44E4A18H Kilr RE g L RRER 90 20 =3
1351 | F44E4A1TH HERT |REEFH e RRER 80 15 (=]
1352 | F44E4A1TH FiFEH IE T L RRER 100 30 ]k
1353 |FI44E4H20H HERT |REDEH bk L RRER 80 30 (=]
1354 | F44E4A19R HERT |REEFH g L RRER 70 15 =3
1355 | FN44E4A19H HERT |REEFH g L RRER 80 20 (=3
1356 |F44E4A21H FRRT |ER g i RRER 140 85 (=]
1357 |#1444A23H MERET (AH ®T [ FRER 90 18 (7153
1358 |FI44E4A24R EL#RHET =] g L RRER 90 18 (=]
1359 |FI44E4A25H K3HET P bk [ ; RRER 90 25 =3
1360 |FI44E4H25H =5 BE ET [ ; RRER 113 45 (=]
1361 |F444H25H HERT |REE#E g [ RRER 110 55 (=3
1362 |[H444A27H HERT |REEF g L RRER 80 15 (=3
1363 |FI444A30R HERT |[REE# bk L RRER 85 25 (=3
1364 | HH4E5A2R FEEm =/ F g [ ; RRER 115 40 (=]
1365 |HHMAE5A2H BR#T  |BHE ET L RRER 135 70 =3
1366 |HH4E5ATR /MERT |A4H g [ RRER 100 70 (=]
1367 | HHMA&E5A11R HARE |BEL bk it RRER 110 30 ]
1368 |FI44E5A11H HERT |RERBE e ;3 RRER 125 60 (=3
1369 |HFI44E5A 120 HRET  RENH g [ RRER 130 80 (=3
1370 |[H445A 120 HiEETm | REFAR g [ RRER 120 60 (=]
1371 | HHM4%E5A13R —Eir hE g i RRER 122 50 =]
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1372 | 5#MA%5A 130 KT &R bk L RRER 95 29 =3
1373 |[SHA4%E5A16R FFEH FT&ER s ; RRER 145 80 (=]
1374 | #445H20H /MERT (BE T s HEL 75 8.6 2]
1375 |#445H20H FFEH ITE bk s ; RRER 125 35 ]
1376 |H445H20R Kilr FR s ; RRER 98 32 (=3
1377 |[5#445H20R Kilr FR s s RRER 100 26 =3
1378 | #445H23H AINF Bra s ; RRER 125 75 =3
1379 | #445H23H FFEH FT&ER g h RRER 110 25 (=]
1380 |FN44E5H24H /INERT |IIZH ET L RRER 100 35 ]k
1381 |#1445H25H MERT Tzl ET i FRER 80 12.6 (7153
1382 |#I445H28H HiEET | RETRE g ; RRER 130 65 =]
1383 |#I445H 28R HERT |REE#R g ; RRER 75 25 (=]
1384 | F44E5H29A HiERT | RETRE e [ ; RRER 70 25 =]
1385 | FI445A27H b 1) hE bk [ HE 62 5 =]
1386 |FI44E5H29A HERT | RE=H bk [ RRER 100 30 =3
1387 |H44E5H29A HERT | REEF g L RRER 150 80 (=3
1388 |FI44E5A30H HERT |REE# g L RRER 70 30 (=]
1389 |FI44E5H29A b 1) hE g [ ; RRER 112 40 =]
1390 | HH44E6A3H #HERT  |REHR g [ ; RRER 130 70 (=3
1391 | H44E6A3H HERT | REEF g [ ; RRER 100 30 =]
1392 | HA44E6A3H HERT |REEFH g h RREK 80 20 =]
1393 | HHA4E6A4R HEARE |EL bk L RRER 110 20 (=]
1394 | SH44E6ATH /MERT (BHE bk [ ; RRER 100 40 ]k
1395 | H44E6A9H BEARET  (BAE bk h RRER 115 55 (=]
1396 | HF44E6A11H KT RE ET L HHE 42 2.6 ]
1397 |[SH44E6A11H HERT |RETARR e i RRER 110 40 =]
1398 | FI446A13H EL#RHET iR e it RRER 100 35 (=]
1399 | F4LE6A17H KT =E g [ RRER 90 30 (=3
1400 | #1446 A17H ELARET ] bk B RRER 110 30 ]
1401 | F446A21R HERT |REFWU g L RRER 125 58 (=]
1402 | F446H23H FEARET e ET [ ; RRER 106 40 (=]
1403 | #1446 A25H KT RE ET [ RRER 104 25 ]k
1404 | FI44E6A26R /MERT ER e ;3 RRER 160 80 (=3
1405 |FI44E6A27H HERT | REEH e i R EK 80 25 (=]
1406 | HH4ETA4R KT &R ET [ FRER 117 50 ]
1407 | HHAETAGR HERT | REEF e i RRER 160 120 (=]
1408 | H4ETA10R EL#RET ] bk [ RRER 100 20 ]
1409 | HHMAETANR 1) hE g ;3 HE 65 5 (=]
1410 | FALETA12H KT AR b i HHE 58 6 (=3
1411 | HMALETA12H KT BAR e ;3 HHE 55 4.5 (=3
1412 | SHMA%ETA13R L) % g [ RRER 35 2 (=3
1413 | HHAL£TA13A Kighr FIR e i RRER 104 36 (=3
1414 | SHMAETA13R KHHET &R bk [ RRER 85 15.5 ]
1415 | 5HAL&£TA15H KigHr RE g [ RRER 97 15 (=]
1416 | HSHMAETA15R H#RET ] bk [ RRER 154 45 ]
1417 | HMALETA18H HERT | REEH g [ RRER 90 25 =]
1418 | HHMAETAITR K3tHHET == e 3 RRER 100 45 (=3
1419 | HHMAETA18A L) & s [ RRER 140 70 (=3
1420 |HAETA18R N:L) & s [ RRER 100 80 =3
1421 | HMA%ETA20R KT =2 e [ HE 60 7 =3
1422 | FALTA19A ot 1) B g [ HE 70 5 =3
1423 | HAL&£TA20R HiRET | REHEW g [ RRER 90 25 (=53
1424 | SHA%ETA23R FiEH ITE s [ RRER 120 65 ]
1425 |5HAL&TA23A0 HiEET | RETRE e [ RRER 70 20 (=3
1426 | HHAETA25R FiFH &R e ;] RREK 130 35 ]
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1427 | 5HAL%ETA25H FFEH ITE bk s RRER 130 40 =3
1428 | SHMAETA1TR FaRm |B/R s ; RRER 98 10 =]
1429 | SHALETATTAH FHRMm | #®/A s L RRER 90 10 =]
1430 | HF44ETA26H FFEH ITE i s ; RRER 110 25 (=3
1431 | S#4£ETA2TH KT RE ET it RRER 88 17 ]
1432 | SFALETA2TH FFEH ITE bk it RRER 145 75 ]
1433 | #44ETA21H ELARHT a5 bk s ; RRER 105 20 ]
1434 | HMAETA3IA FHRMm | #/A s ; RRER 105 35 (=]
1435 | H#44TA31H RRlr RE bk L RRER 90 16.6 ]
1436 | SHAE8A1H FFEH ITE s L HEK 76 5 =]
1437 | HMA%E8A4R HERT |REEH g ; RRER 120 62 =3
1438 | HMA44E8A5H Kilr B AT A48 s ; RRER 115 47 =]
1439 | HMA4E8A5H Kilr B AT A 480 bk [ HEK 60 7.8 =3
1440 | SHAE8ATH HiEET | REDER g [ RRER 90 25~30 =3
1441 | SHMA%E8ATH HERT |RETARR g i RRER 110 45 =]
1442 | SHA%8A8H FFEH FT&ER g L RRER 117 98 =3
1443 | 5HA%8A10R KT RE g L RRER 100 25 (=]
1444 | F448H10H FiFEH ITE bk L RRER 135 40 ]
1445 | HA48A10R FEH IE g L RRER 80 12 =3
1446 | FA448A12H 1Lk Er ITE14 g L HE 60 8 =]
1447 | HMA48A15H HERT |REIR g L RRER 135 60 (=]
1448 | #1448 H15H FFEH ITE bk L HHE 70 5 ]k
1449 | F448AH15H /INERT [T ET L HHE 42 2 ]
1450 |F448A16H HERT | REEH g [ ; RRER 120 50 =3
1451 | HA48A1TH HiERT | RE=7K ik h RREK 115 35 (=3
1452 | H4A48A18H Kilr RE bk [ RRER 95 32 (=3
1453 | FA48A18H P L) BAR g L RRER 76 24 =]
1454 | HAL%8A 18R P L) BAR g [ RRER 70 22 (=]
1455 | #1448 H20H FiFEH IE bk L RRER 80 10 ]
1456 | F448AH21H KT HE g [ SHE 50 5 (=3
1457 | FAL&£8A19A EXH iR g L HE 20 10 (=3
1458 | F448A21H EXH iR g [ HE 30 10 (=3
1459 | SH4E8A22R ¥R ET % i [ RRER 120 60 (=3
1460 |HH4E8A22R KT =R e i RRER 60 10 =3
1461 | HHA4£8A22H /MERT (BEN g [ RRER 110 45 (=]
1462 | HHMAE8A19R FB8Rm |=/B e ;3 RRER 120 60 =3
1463 | H448FA 28R P L) FiR g [ RRER 75 12.6 (=]
1464 | FAL&E8A28H KigHr FR e ;3 RRER 70 1.8 (=]
1465 | HFI448A29A EXH iR e i RRER 80 10 (=3
1466 |HFI448H29A MERET (BE g [ RRER 110 40 (=3
1467 | 448 A30R L) % e ;3 HE 50 5 (=3
1468 |HFI44£8A31AH KigHr FR g [ RRER 73 12 (=]
1469 |GF44£8A31AH KigHr FR e ;3 RRER 68 11 (=3
1470 |HH4E9A1R KHHET /i e i RRER 70 1.2 (=]
1471 | 5MAEIA1RH KT /i e [ RRER 70 10.2 (=3
1472 | 5MASIA1H KT /i e [ RRER 65 9.5 (=]
1473 | HHM4E9A1R KT /i e [ RRER 70 12.5 (=3
1474 | 5MAEIASH HERT | RE=H s [ RRER 110 50 (=]
1475 | 5HMAEIA4H HEERT | RE=H e 3 RRER 90 40 =]
1476 | HH45£9A5R L ET FiL ET [ HE 55 7.1 (=3
1477 | 5HMAEIASH FBRM |F5 e 3 HE 80 6 (=3
1478 | HH4£9A5R FBRM |F5 e 3 RRER 110 35 (=3
1479 | HH45£9A5R NEL) % s [ RRER 120 60 (=3
1480 |HHMAEIA6H HiEETm | RE=7K e 3 RRER 90 12.8 (=3
1481 | HHMAEIA6H HiEETm | RE=7K e 3 RRER 138 60 (=3
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1482 | SHMAEIATH KT RE ET L RRER 110 20.7 =3
1483 | HMAEIATH ¥R ET % s s HE 60 5 =]
1484 | SHAEIATH #HiEET | RE=7K ik ] L RRER 90 15.3 (=]
1485 | HAE9A8H 1) - ET s RRER 87 13 =3
1486 | HH4E9A8H K3tHHET P s L RRER 110 40 (=3
1487 | SHA%E9A11A ot 1) hE s s RRER 160 88 =3
1488 | HF4E9A11A 8RR #/A s ; RRER 80 8 =3
1489 | HFA4E9A11A HERT |REEF s ; RRER 100 40 =]
1490 | HF44E9A8H HERT  |REIR g L RRER 73 14 =3
1491 | SF449A13H AINF BT # g L RRER 125 38 =3
1492 | FAE9A 14 MERT (BHEN g L RRER 60 10 =3
1493 | HF449A15H KT P s L RRER 120 45 =3
1494 | FAE9A16H b 1) - bk h RRER 140 50 =3
1495 | F44E9A16H FFEH E&ER g [ RRER 140 80 =3
1496 | HF4E9A1TH #HiERT | RE=7K ik L RRER 100 12 =]
1497 | HHAE9A19A % )I18T AH g L RRER 99 25 =3
1498 | HF44E9A19A #HiERT | RE=7K ik L RRER 100 15 (=]
1499 | HF44E9A20H HERT |REEESR ik L RRER 125 77 (=]
1500 |GFI44E9A21H /MERET (R g [ ; RRER 90 40 =]
1501 | GF44E9A21H FB8RM AR i [ ; RRER 120 51 (=3
1502 | F44E9A21H P L) /i ET [ ; RRER 100 35 =3
1503 |FI44E9A26H /MERT |PEMR bk [ ; RREK 110 50 (=]
1504 |FI44E9A26H FFEH 5 H g [ RRER 85 15 =3
1505 | FI44E9A23H FBRM |75 g [ RRER 80 10 =]
1506 |FI44E9A24H FBRM |75 bk [ HE 70 8 (=3
1507 |F44E9A27H HiERT | RETRE e L RRER 70 18 =]
1508 | HHM4E9IA2TH YR ET % bk L HE 50 7 (=]
1509 | HFI44E9A27H /NERT K g L RRER 120 60 =3
1510 | FI44E9A 28R EXH iR g [ RRER 80 15 =3
1511 | 5#4410A1H HiERT | RETRE g L RRER 60 15 =3
1512 |[5#4410A2A8 HiERT | RETRE g L RRER 70 20 =3
1513 | F449A 30 FANNF Bra g L RRER 120 70 (=]
1514 | 5F449A30R ITp1A:) s g [ RRER 107 45 (=3
1515 | H449A16R FB8Rm |=/B g [ RRER 90 10 (=]
1516 | H449A16R FB8RT |=/B g [ RRER 140 48 (=]
1517 | H4%9A16R FB8Rm |=/B g [ RRER 90 10 =3
1518 |#I44£10A3A EXH iR e ;3 RRER 80 15 (=]
1519 | 5F44£10A48 HERT |REIR e ;3 RRER 93 26 (=3
1520 |F44£10A2H8 AINF Bra g [ RRER 90 28 (=3
1521 | 5F4410A6H #HERT  |REGR g [ RRER 120 30 (=]
1522 |4 10A4R KT =R g [ RRER 80 15 (=3
1523 |44 10A8R KT = e i RRER 100 25 (=]
1524 | F4410A9A HERT | REEH b ;3 RRER 110 40 (=3
1525 | GFALE10A10R  |HAEERT |[KEEH e i RREK 130 60 (=3
1526 |FI44£10A8H AINF Bra e ;3 RRER 126 70 (=3
1527 |FI44£10A9A FB8Rm |B/R g [ RRER 140 65 =]
1528 |44 10A9R F8Rm |B/R s [ RRER 87 20 (=]
1529 | HHMASEI10A1NE | KHHE RE g [ RRER 90 15 (=3
1530 | HHAEI10A1NE | KHHE pi g [ HHE 60 5 (=]
1531 | HHMASEI10A1NE | 5 ET it FER 120 70 ]
1532 | F44£10A13R  |#A#RT  |&EHW i [ RRER 85 28 =]
1533 |HHMAE10A148  |Ha@HET % g [ RRER 70 18 (=3
1534 | SHMAS10A158  |Ha@HET % e 3 RRER 60 15 (=3
1535 | GH4410A18R |#A#EET |&ETRE e [ RRER 60 18 (=]
1536 |[HHMAE10A18A |#AER™T |JREFW i [ RRER 130 70 (=3
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1537 |[H#44£10A18R |#A#R™ |&E=sXK ik ] ; RRER 100 16.6 (=3
1538 | HF4410A18R |#A#R™ |[&E=sK ik ] L RRER 100 15.5 (=]
1539 |HMAE10A18R | FBRW |/ K ik ] y RRER 120 60 (=]
1540 |SHAS10A188  |HMHET % s L RRER 85 40 =3
1541 |[4#MA%£10A19A |/hERT |BR ET ; RRER 122 60 =3
1542 |[5#44£10A19R | ZEHr —f ®ET [ FER 76 14 =32
1543 |HH4FE10A19R  |®IFH Bra s ; RRER 113 40 =3
1544 |HHAFE10A19R  |®INFH Bra s ; RRER 118 50 =3
1545 |5#14410A218 | /MERT™  (FRE ET [ FER 140 100 =33
1546 |HH4E10A21R | KHHET 1)) g L RRER 120 40 =3
1547 |HH4E10A21R | KHHET =E s L RRER 110 25 =]
1548 |HH4510A24R |EXT™ fRI s L RRER 100 20 =]
1549 | GF4410A24R  |#A#ERT |[&EFAR ik L RRER 130 70 (=]
1550 |#I44E10A24R  |#A#R™ |&EHFW ik L RRER 150 100 =3
1551 |[H#I4410A24R |#A#RT |[&E=7K ik [ HEK 96 16.1 (=]
1552 |HH4410A24R  |#XEHET % bk L RRER 80 25 =3
1553 |HH4410A24R  |#XEHET % g L RRER 80 15 (=]
1554 |HF4410A248 | KBEHET BAR bk L HHE 75 8.8 ]
1555 | 44108248 | KBEHT RE ET L RRER 124 65 =]
1556 |HH44E10A25R | KFHHT =E i [ ; RRER 90 20 (=3
1557 |#4410A250 | EJIHT R g [ ; RRER 132 48 =3
1558 |HMAE10A23A | F8RW (/K ik [ RRER 110 30 =]
1559 |HMAE10A23A | F8RW (/K ik [ RRER 109 30 =3
1560 |&#144£10A27 |/hERT™ (AR HhE [ FER 90 30 =33
1561 |#14410A278 | ZJIHT = HhE [ FER 80 20 =32
1562 | 44108288 | KFHHT HE bk [ RRER 90 15 ]
1563 |#4£10A31A  [/hAERT  |RJII HhE [ FER 110 70 =32
1564 |HHMAF10A298 | F8RW (/K ik [ RRER 118 45 =3
1565 |[F44£10A29R |FEBEWH |=/E fhE s ; FER 128 60 =33
1566 |HH44E10A31R  |#2EHET % g L RRER 80 20 =3
1567 |HH4&£11A1H LV Nl AR HhE [ FER 75 25~30 =32
1568 | #4411 A5H KT =E g [ RRER 110 25 (=3
1569 |&H4£11A3R ¥R ET % e ;3 RRER 95 25 =]
1570 |H4%11A5R ¥R ET % e ;3 RRER 70 16 =3
1571 | 5FAL&£11A6R HEET | REED g [ RRER 60 20 (=3
1572 | 5HAL&E11 A48 %1187 AH g i RRER 153 86 (=]
1573 | H4E11A6R FB8Rm |=/EB g | R AR 120 26 (=]
1574 | SH4AE11A9R FBRMm  |BRK T [ RRER 80 11.5 ]
1575 | &M4£E11A98 —EHr —£& ®ET [ FRER 80 15.5 [}
1576 | HHMASE11A108 | KEEHT /i e [ RRER 110 44.5 (=]
1577 |[SHMAL11A10R  |[#EET  |[&RIIR g i RRER 104 142 (=3
1578 | FMALE11A10R |[EATH iR e ;3 RRER 80 35 (=3
1579 | SHMAS1MANEB | KEEH B AT A 480 g [ RRER 85 29 (=3
1580 | HHAE1ANEB | KEEHT gy e i RRER 90 33 =]
1581 |HHMAE11A14B |EXTH iR e ;3 RRER 100 80 (=3
1582 | HHMASE11A13E  |H@HE & g [ RRER 76 16 (=]
1583 |HHMASE11A13E  |H@E % g [ RRER 90 27 (=3
1584 | HHASE11A13E  |Ha@HE % g [ RRER 85 24 (=3
1585 |HHAS11A13R | FBRWM |75 g [ RRER 120 20 (=3
1586 |H4€E11A148  |Fh3HHET #/A ®ET [ RRER 88 20 (=1
1587 | HALE11A19R |#AEET |&ETRE e [ RRER 60 20 (=3
1588 |FHAE11A198 |#HERT |[KRETARR i [ RRER 120 55 (=]
1580 |H#MAE11A208 |/MERM | A4£H i [ RRER 80 20 (=]
1590 |FHAE11A198  |/MERM  |ER e i RRER 150 120 (=3
1591 | FHMASE1A21R | FBRM  |&K e [ RRER 120 60 =3
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1592 | 5H4£E11A198 | ZJIHET =ig s i FER 130 58 =33
1593 | 4#MA%£11A250  |eEHHET % s L RRER 50 15 =53
1594 | SHMASE11A258  |H@E % s s RRER 45 14 =]
1595 | fM4A%E11A22A |FBRT |75 s L RRER 108 16 =3
1596 | GF4E11A24R |FBRT |75 g L RRER 130 100 =3
1597 | #4&£E11A238  FIH Bora HhE [ FER 70 40 =33
1598 |4#MA%E11A250 |EXH aRI s ; RRER 123 55 =3
1599 |HMAF11A158 | FBRW |/ K ik L RRER 103 25 (=]
1600 |S#4411A268  |L-EET ITE14 s ; RRER 70 15 =3
1601 |#4411A28 |/MER™ AR g |5 FER 85 25 =32
1602 |#4411A28R |/hAEIRT  |BIII HhE [ FER 80 20 =32
1603 | 5H14411A288 3T #/A T [ FRER 90 22 (7153
1604 | SFALE11A298 | KHHET FiR bk L RRER 80 20 =3
1605 |#14412A5H KT =E bk [ RRER 120 80 =]
1606 |FI44E12A2H FRERT |78 bk [ RRER 90 40 =3
1607 |#14412A5H AINF Bra g [ RRER 130 50 =3
1608 |FI44E12A6H EXH L35 bk L RRER 115 35 =3
1609 |FI44E12A6H EXH L35 g L RRER 115 40 =3
1610 |F4412A6H (L 3k Er AR g [ ; RRER 90 30 =3
1611 | #4412A5H0 K3tHHET ®E g L RRER 140 90 =]
1612 | 5F4412A8A i EL) & g [ RREK 60 20 =]
1613 |[#4412A7TH FBRM |75 g [ RRER 100 35 (=3
1614 | 4#44£12A108  |#B#RT |[&EFAR g i RRER 100 30 =3
1615 |[4fMA%E12A118 | KFHHET RE g L HE 60 7 =]
1616 |4#4412A128 |EEMT  |EH ET L RRER 80 12 (=3
1617 |[9MA%E12A148 | KFHHET =E g L RRER 110 45 (=3
1618 |[4#4412A16R |#A#RET |&EHFW ik L RRER 150 100 =3
1619 | HMAL£12A17TR  |FBET |73 g [ RRER 80 23 (=]
1620 | HF4££12A25R |#AEET |&ETRE g L RRER 80 25 =3
1621 |[4f44£12A258  |#A#RET |[&EHW ik L RRER 85 25 =3
1622 |[4MAf%£12A250  |ZJIET AL g [ ; RRER 120 50 (=3
1623 |[4MA%E12A248 | KFHHET P bk L SHE 60 5 (=]
1624 |F45E12A268 | —=H #&HE ®ET s ; FRER 113 60 1
1625 |GHMAE12A288 | KHHT == e [ RRER 100 35 (=]
1626 |HHM5&1A4H K37 &= bk [ RRER 70 10 ]
1627 |&#5%1A4R BRMAT  |$iE ET L HE 1 1.5 ]
1628 |HHM5&1A2H EXH th Ik g | R AR 123 60 (=3
1629 |HMAF12A308 | FBRW |/ K ik [ RRER 90 15 (=]
1630 | M4F12A2718  FBRW |/ K i ;3 RRER 140 80 (=]
1631 |HHM5&E1ATH HiEET | RETRE g ;3 RRER 100 35 (=]
1632 |&HM5&1A8H EXH KE e i RRER 100 60 (=3
1633 |55 1A8R KT 1)) g i RRER 110 45 (=]
1634 | GFI5&E1A11H EXH iR g [ RRER 80 20 (=3
1635 |54 1A15R ¥R ET % b ;3 RRER 87 26 (=]
1636 | H5&1ATR FBRM |ER e ;3 RRER 145 75 (=3
1637 | HH5&1ATR FBRM |ER e 3 RRER 135 64 (=]
1638 |51 A17R K3tHHET == e 3 RRER 140 90 (=3
1639 |51 A 148 %Il Ey =ig e i RRER 100 40 (=3
1640 |GFI5&E1A1TH HERT  |REIR e 3 RRER 100 30 =]
1641 |55 1A18R KT K3tHET s [ HE 60 7 (=3
1642 | 5FI54&E1A19A HiEET | RETRE e [ RRER 100 40 =]
1643 | HH5%1A21R EXH L3EF e [ RRER 100 25 (=3
1644 | 551 A22R K37 RE g [ RRER 120 65 (=3
1645 |55 1A22R K37 pi s 3 RRER 70 12 =3
1646 |51 A22R KT == b [ RRER 100 40 =3
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1647 |HI54&E1H22H HiERT | RETRE g ; RRER 100 35 =]
1648 | #1541 H22H HiEERT | RETRE g ; RRER 140 70 =]
1649 | #1541 H24R KT /i e L RRER 120 60 =]
1650 | #1541 H24H HiEET | REFAR e it RRER 90 30 (=]
1651 | #1541 A25H KT /i b ; HE 60 8.5 =]
1652 |FI54E1H26H KItHHET pi s s RRER 70 15 =3
1653 | #1541 H28H AINF Bra s i RRER 130 50 =3
1654 | #1541 H28H HXERET R EME e ; RRER 100 35 =3
1655 |G#I54E1H29A NEL) L EME e L RRER 160 90 =3
1656 | #1541 A30H KT RE s L RRER 70 10 =]
1657 | #1541 H28H HERT  |REGR e L RRER 117 58 =3
1658 | #1541 A30H HERT | RREIR g L RRER 138 82 (=]
1659 |#I54&E1A31AH EXH iR bk L RRER 120 45 =3
1660 |HI5&E2A1H HiERT | RETRE bk [ ; RRER 85 28 =3
1661 |HI5&E2A1H NEL) % bk [ RRER 80 20 =3
1662 |HI54&E2A4H YR ET % bk h RRER 100 20 =3
1663 |HI54&E2A6H FFEH E&ER e L RRER 150 80 =3
1664 |FI54&E2A6H b 1) EXRNE g [ ; RRER 135 70 (=]
1665 |HI54E2A8H /ERT | LET e [ ; RRER 130 80 =]
1666 |FI54E2A8H b 1) - g i RRER 135 80 =]
1667 |HI54E2ATH #HERT |REDR e h RREK 139 97 =]
1668 |HI54E2A9H ¥R ET LEME e [ RRER 110 35 =3
1669 |HI54E2A9H HiERT | RETRE g [ ; RRER 100 35 =3
1670 |#I54E2A13H HiERT | REFAR g it RRER 150 80 =3
1671 |#I542A11H KItHHET RE g [ RRER 70 12 =]
1672 |[#I54E2A11H FANNF Bra g i RRER 110 44.5 (=3
1673 |#I54&2A11H FAINF Bra g i RRER 100 40 =]
1674 |HI542A 140 HERT |REIR g [ RRER 124 70 (=3
1675 | #1542 A15H HiERT | RETRE g [ RRER 60 15 =3
1676 |#I542H13H FSRMm | #/A g [ ; RRER 100 18 (=3
1677 |#I542A16H FiEH IE e [ RRER 110 60 (=3
1678 |FI542A16H KT 1) g [ RRER 130 80 (=3
1679 | &H5%2A16R KT =R e i RRER 110 40 =]
1680 |#I54&E2A17H HiEET | RETRE bk [ RRER 150 120 =]
1681 |&H5%2A17R =5 Ex4 ET [ RRER 114 50 ]k
1682 | H542A 18R KT Bl e i RRER 95 27 (=]
1683 | HH542A19R ¥R ET B e ;3 RRER 100 30 (=]
1684 |GFI54&E2A19H HiEET | REEHR g i RREK 120 70 (=]
1685 | #1542 A20R %Il Ey = g [ RRER 85 1.5 (=3
1686 |HH542A21R KT RE e i RRER 90 15 =]
1687 |#I54E2H22H EXH iR g [ RRER 60 20 (=3
1688 | H542A22R #HERT |[BRETARR g i RRER 130 70 (=3
1689 |H542A 23R KT RE e ;3 RRER 100 20 (=3
1690 |H542A23R ¥R ET BF b ;3 RRER 110 25 (=]
1691 | &H542A25R KT /i e ;3 RRER 100 21.5 =]
1692 | H542A 23R FBRM |ER e 3 RRER 105 20 (=]
1693 | H542A26R EXH AR e 3 RRER 95 18 (=3
1694 |H542A26R L) & e 3 RRER 120 70 (=3
1695 |H542A27R FB8RMm |=/EB e 3 RRER 115 40 =]
1696 |HHM5&3A3H HEET &R PR e 3 RRER 130 77 (=]
1697 |&HM5&3A5H HiRET | REHEW s [ RRER 70 20 (=3
1698 |HH5&3A6H KHHET /i e [ RRER 80 20 (=3
1699 | HH543A12R FB8RMm |=/EB e i RRER 90 18 (=3
1700 |#0543A12R FB8RMm |=/EB e i RRER 90 17 =3
1701 | &H543A12R FB8RMm |=/EB e 3 RRER 90 18 =3
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1702 |#I543A12H FHRMm R/ A g ; RRER 110 30 (=3
1703 |G#I543A12H RS8R /A s ; RRER 110 32 =]
1704 |#I543A12H FRERM |78 g y RRER 100 10 =]
1705 |#I54E3A14H FBERM |78 g L RRER 113 10 =3
1706 |#I543A15H HERT |REEHE ik ] L RRER 140 65 =]
1707 |#I54E3A16H EXH th Ik s ; RRER 105 35 =]
1708 |#I54E3A20H KT /i T ; RRER 90 25 =3
1709 |#I543H20H KT /i T ; RRER 95 30 =3
1710 |#1543H20H AINF Bra s ; RRER 122 75 =3
1711 | 5#543A 230 BEARE |EL g L RRER 110 30 =3
1712 | 5#543A24R ELARET ] s ; RRER 100 25 =]
1713 |5#543A27H HiERT | RETRE e ; RRER 130 95 (=]
1714 | 5#543A27H HERT |RETARR e i RRER 125 65 =]
1715 | 5#I543A29A EXH fRI bk L RRER 123 35 =]
1716 |[#I543A29A AINF Bra bk [ RRER 128 80 =3
1717 | 5#5%4A18 HERT |REEHE ik [ ; RRER 120 60 =]
1718 | H#I5%4A11H HiERT | RETRE e [ RRER 135 70 (=]
1719 | 5#I5%4A16H HERT |REEHE ik [ RRER 130 70 (=]
1720 |#1544A18H HiEERT | RETRE g h HE 65 25 (=]
1721 |5#544A 228 #HERT |[RETARR g i RRER 110 35 =3
1722 |5#154E4A19H FBRT |75 g B RRER 110 17 =3
1723 |5#1544A 220 BEARE |EL g L RRER 120 65 (=3
1724 |5#1544A23H FBRM |75 g [ RRER 90 15 =3
1725 |5#154E4A23H FBRM |75 g [ RRER 135 75 =]
1726 |#I54E4A29A YR ET % g L RRER 60 25 =]
1727 |5#1545A 130 HERT | REEF g [ RRER 130 30 (=3
1728 |%#1545A15H /MERT ER g L RRER 150 130 =]
1729 |5#1545A16H b 1) - g B HE 51 5 =3
1730 |#1545A 18R K3tHET P g [ RRER 40 90 =3
1731 | #I545A 19 HERT | REEF g [ ; RRER 120 60 (=]
1732 |5#154E5H20R HiERT | RETRE g L RRER 100 35 =3
1733 |%#154E5H20H KiHr RE g L RRER 131 25 (=3
1734 |#I545A21H HERT |REIR e ;3 RRER 120 55 (=3
1735 | #1545 22 HiERT | RETRE g ;3 RREK 70 25 =3
1736 | #1545 24R HiRET | REHEW g i RRER 100 40 (=3
1737 | #1545 26H HERT | REEH g [ RRER 120 40 (=]
1738 | #1545 A26H ZEHr —E g L SHE 53 3 =33
1739 | H556A4R KT == e ;3 RRER 120 45 (=]
1740 |%HM5&6A2H % )I18T NE g [ RRER 136 60 (=3
1741 |5HM5&6A2H HERT  |REIR e ;3 RRER 120 58 (=]
1742 | #1546 A10R HERT | REIR e ;3 RRER 125 60 (=]
1743 | HH5%6A 148 YR ET % b ;3 RRER 98 45 (=]
1744 | H55%6A 148 —Eir hE g ;3 HHE 54 5 (=3
1745 |&H55%6A13R KT P g ;3 HHE 50 5 (=]
1746 | HH5%6A17R KT m e [ RRER 130 80 (=3
1747 | &H55%6A16R mARE |BEL mE | R HR 70 3.5 (=3
1748 | HH55%6A17R MERET (BE g [ RRER 100 30 (=3
1749 | #1546 A18H HiEERTm | RETRE e i RREK 80 30 =]
1750 | #1546 A15H HEET | RERH g [ RRER 100 40 =]
1751 |[#I54E6 A19A FiEH &R ET [ HE 42 6 (=3
1752 |5#154E6 A25H AINF Bra s [ RRER 110 22 (=3
1753 |5 H54%6A25R KT RE g [ RRER 130 60 =]
1754 | 5H54%6A26R K37 RE g 3 HE 60 5 (=3
1755 |5H546A26R MERT (BE g [ RRER 110 45 (=3
1756 |&HM5&TA3H mARE |EL g [ HE 30 4 (=3
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1757 |[S#I5%7H2H HERT |REEFH g it HE 90 40 =]
1758 |S#I54E7TH2H HERT |REEFH s i HHE 80 30 =]
1759 |G#I547A5H KItHHET =E s i RRER 90 25 =]
1760 |HI54&ETATH K3tHHET m s i RRER 80 20 =3
1761 |#I547H8H K3tHHET P s L RRER 50 7 (=3
1762 |#I547H10R HERT |REEFH s i HE 40 10 =]
1763 |#I547H10H HERT |REEFH s i HE 40 10 (=3
1764 |FI54&E7H13H K3tHHET m s i HE 60 7 =3
1765 |#I54&ETA14RH KT 1)) T L RRER 49 20 =]
1766 |#I54E7H15H KT RE s L RRER 60 10 =]
1767 |#I54&7H16H Kilr B FF A48 s ; RRER 132 32 =]
1768 |#I54&ETH18H FFEH ITE s L HE 70 5 =3
1769 |G#I54E7H20R KT P bk L RRER 60 10 =3
1770 |#I54&7A19A Kilr RE e L RRER 88 12 =]
1771 | S#5%7A218 #HERT  |FARGR bk [ RRER 140 80 =3
1772 | 5#1547H20R ELARHT ] g | R B 120 40 =3
1773 |[5#5%ETA22H KT 1)) g L RRER 60 10 (=3
1774 |5#547H23H FBRM |75 g i RRER 110 50 =3
1775 | 5#I547H23H K3tHHET m g i HE 60 7 =3
1776 |HI54E7H26H FEH IE g [ HE 70 7 =]
1777 |HI54E7H24R RS8R | #/A g L HE 56 8 (=]
1778 |#I54E7H24R RS8R #/A bk [ ; HE 55 9 (=]
1779 | 5#I547H27H HEET | REDER e L RREK 125 75 (=]
1780 |#I54E7H28H EXH L35 g [ HE 80 10 =]
1781 | #1547 A30H KItHHET m g i HE 50 5 =]
1782 |#154E7A30H K3tHHET RE bk L RRER 60 10 (=3
1783 |#I54E7H29A HiEET | RE=7K ik [ SHE 80 8 =3
1784 |FI54&E7A31AH HiERT | RETRE g [ RRER 110 55 =3
1785 |HI548A1H HERT | REDEFH g it RRER 120 49.5 =3
1786 |#I54&E7A31A KT 1) g L SHE 60 7 (=3
1787 |S#I548A1H FiEH IE g L HE 70 6 (=3
1788 |HI548A1H FiEH IE g L HE 90 8 (=3
1789 | 4H5&8A1R FBERM |78 e ;3 RRER 105 40 (=3
1790 |&HM548A1H % )I18T e g i HE 40 15 =3
1791 |%HM5&8A1H HERT | RERH e [ HE 40 10 (=3
1792 |%#M548A3H KT AR g [ RRER 75 17 (=]
1793 | H548A6R ¥R ET % e ;3 RRER 50 10 (=]
1794 |5HM548A6H KT BE e i RRER 70 10 (=]
1795 |H548A3R %Il Ey = g [ RRER 128 52 (=3
1796 |H548ATRH FiFEH IE g [ RRER 85 12 =]
1797 | &H548A10R FiEH iR e i RRER 120 38 (=3
1798 | #1548 A10H KT m b ;3 HE 60 7 (=]
1799 | #1548 A14H HiEETm | REME b ;3 HE 60 15 (=3
1800 |#0548A16R KT m b ;3 HE 60 8 (=]
1801 | #1548 A20H HiEETm | REDE b [ HHE 50 8 =]
1802 | #0548A 18R YR ET % g [ RRER 120 70 (=]
1803 | HI548A19R KT B AT A 480 e 3 RRER 135 54 (=3
1804 |FI54E8A19H KigHr RE e i HE 80 8 (=3
1805 |#1548A 18R KHHET /i e 3 RRER 128 35 =3
1806 | #1548 A19H KigHr FR e 3 HE 75 7 =3
1807 |H0548A19R KHHET RE e 3 HE 78 8 =3
1808 | #0548 A20R KT m e b3 HHE 60 6 =]
1809 | #1548 A20H KT AR g [ HE 88 8 (=3
1810 |HI548A21R NEL) % g [ RRER 100 40 (=3
1811 | #1548 A20H KHHT AR e i HE 90 8 (=3
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1812 | #1548 A20H KT AR e L HHE 90 8 =3
1813 | #1548 H24H KHlr Bl FF A4 s ; RRER 127 34 =]
1814 | #1548 H26H YR ET % e L RRER 140 70 =]
1815 | #1548 A23H ZEHr thE HhE [ FER 87 12.5 =32
1816 |#I548H23H ot 1) - s it RRER 107 30 (=3
1817 | #1548 H26H ot 1) hE s i RRER 75 10 =3
1818 |#I548AH27H ot 1) hE s i HE 68 8 =3
1819 | #1548 H26H ot 1) hE s i HE 69 6 =3
1820 |#I548AH27H % )I18T hEFNE g L RRER 132 42 =3
1821 | #1548 H28H HiERT | RERH e ; RRER 70 20 (=]
1822 | #1548 A 28H HiERT | RERH g | R R 70 28 (=3
1823 | #1548 H25H HRET | RENH e ; RRER 60 30 (=]
1824 |5#1548 A30H KT wE bk it RRER 90 20 =3
1825 |#I548A31H Kilr B FF A48 g L RRER 115 43 =3
1826 | #1548 A30H HERT | REDEFH bk it RRER 140 39 =3
1827 |#I54E9A2H /MERT ER bk i RRER 100 40 (=]
1828 |H#I54E9A1H #HiEET | RE=7RK e L RRER 110 35 ]
1829 |HHI54E9A4H K3tHHET RE g L RRER 100 30 =]
1830 |HI54E9A5H K3tHHET RE g L RRER 80 15 =3
1831 | HI54E9A5H Kilr FR e [ RRER 95 20 =]
1832 |HI54E9A5H KHlr FR e [ ; RRER 96 20 =]
1833 |HI54E9A8H KHlr FR e [ RRER 130 34 =3
1834 |HI54E9A12H HERT |REIR e L RREK 130 66 (=]
1835 |HI54E9A13H HERT |REEHE ik it RRER 90 35 =3
1836 |HFI54E9A14H HiERT | RETRE g L RREK 100 40 (=3
1837 |#I54E9A15H HERT |REEHE ik i RRER 125 65 =]
1838 |HI54E9A16H HERT | RERH e [ RRER 70 40 (=]
1839 |#I54E9A15H /MERT (BE g i RRER 130 60 =3
1840 |FI54E9A19H EXH *E g i RRER 76 10 =3
1841 |FI54E9A19A EXH *E g i RRER 76 10 (=3
1842 | FI54E9A 18R K3tHHET P g [ RRER 100 20 (=3
1843 |FI54E9A 18R KT P g [ RRER 100 25 (=3
1844 | SHI549A19R —Eir hE i [ RRER 90 10 =]
1845 | HI549A20R FiFEH IE e i RRER 90 16 =3
1846 | HH549A21R KT == e ;3 RRER 110 25 (=3
1847 |#I54E9A21H KigHr RE e [ RRER 98 25 (=]
1848 | HI549A25R KT 1)z g [ RRER 120 45 (=]
1849 |FI54E9A24R FAINF BT # g i RRER 120 48 =]
1850 |#0549A26R —Eir hE e i RRER 107 21 (=3
1851 | 5154 9A25R %Il Ey = e [ RRER 95 45 =]
1852 | 5H0549A 28R EXH L3F e ;3 RRER 72 28 (=]
1853 |FI54E9A28H /MERET ER g i RRER 120 40 (=3
1854 | 5054 9A 28R KT == e i RRER 90 25 (=3
1855 | SH0549A29R KT P g [ RRER 100 25 (=]
1856 | HI549A29R KT =R e i RRER 110 30 (=3
1857 | 5054 9A30R K3tHHET == e i RRER 130 85 (=]
1858 |FI54E9A29H HEET | RERH e [ RRER 120 40 =3
1859 |FI54E9A30H HiEERTm | RETRE e [ RREK 120 65 =]
1860 |H15410A2R N:L) & e 3 RRER 60 20 =3
1861 |54 10A2R KT =2 e 3 RRER 90 15 =3
1862 |54 10A3R FB8Rm |=/EB e [ RRER 100 24 =]
1863 |54 10A3R FB8RMm |=/EB e [ RRER 100 15 =3
1864 |54 10A3R FB8RMm |=/EB e [ RRER 100 15 (=3
1865 | HI5410A3R FB8RMm |=/EB e [ RRER 100 15 =3
1866 | HI54&10A4R KHHT &R b [ RRER 85 10 =3
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1867 |%#15410A5H ¥R ET % s L RRER 80 30 =3
1868 |#I54E10A5H HiEERT | RETRE g ; RRER 120 65 =]
1869 | #I54E10A5H HiERT | RETRE e y RRER 120 65 (=]
1870 |#I54E10ATH HiERT | RETRE e L HE 60 7 (=]
1871 |#15410A6H MERT ER HhE i FER 95 38 =32
1872 |HH5410A10R | Z“EH hE s ; RRER 100 20 =]
1873 |#I5410A8H /MEET JBEN s B RRER 70 20 =3
1874 |[4#5&10A11A  |/hEHERMT  |#l s ; RRER 120 40 =3
1875 |HFISE10A11R  |#A#R™  |&E/DH ik ] s RRER 100 50 (=]
1876 |#15410A14R |ZEHr thE HhE [ FER 97 25 =32
1877 |4#054&10A138  |/hEHERM  |#il g ; RRER 120 38 =3
1878 |[HFI5EE10A13R  |#A#R™ |&EEW ik L RRER 130 85 (=]
1879 |HFI5E10A13R |#A#R™ |&E=7K ET L RRER 123 100 (=]
1880 |HAI54E10A16R | KFHHT =E g L RRER 80 20 =3
1881 |H#I54E10A16R | —EH hE bk [ RRER 118 70 =3
1882 |HHM5&10A15A | FBRW |/ K ik ] L RRER 102 74 =]
1883 |H#I54E10A16R |J{iARET |EF g [ ; RRER 60 20 =]
1884 |HH5E10A168 | FBRW |/ K ik L RRER 90 12 (=]
1885 |HH5E10A1TE | FBERW |/ K ik L RRER 140 85 (=]
1886 |H#I54E10A21R |#AHER™ |&ETRE g B RRER 90 35 =]
1887 |[4#I54E10A22A |#A#ER™ |&ETRE g L RRER 100 40 =3
1888 |&#15410A22R |/hAEIRT BRI HhE s FER 80 25 =33
1889 |H#I54E10A21R |J{iAKRET |EF bk [ ; RRER 100 20 (=]
1890 |H#I54E10A25R | KFHHT RE g L RRER 130 90 =]
1891 |[H#I54E10A28R |#A#R™ |&KERH ik h RREK 100 40 (=3
1892 |#I54E10A28R |J{iARET |ETF g [ RRER 60 20 (=3
1893 |[H#I54E10A29R |#AHEE™ |&EJIR ik L RRER 80 24 =3
1894 |HFI54E10A30R | KFHHT HE g [ RRER 100 30 =3
1895 |HFI54E10A29R  |®IIF BT # g L RRER 112 55 (=3
1896 |#I5&E11A1RH HERT |REIR g L RRER 130 60 (=]
1897 |#I5&E11A1RH HERT |REHFWU g [ ; SHE 60 9 (=3
1898 |#I5&E11A1RH i 1) - g L RRER 110 35 (=3
1899 | HH5&11A1R KT P i [ RRER 130 85 =]
1900 |#15411A5H HERT | RERH g [ RRER 125 80 (=3
1901 |#15411A5H HERT | RERH e i RRER 80 25 (=3
1902 |#I54&11A2H HiERT | RETRE g [ RREK 85 28 =3
1903 |#I54&E11A2H HiERT | RETRE g [ RRER 130 65 (=3
1904 |FI54E11A2H HiEET | RETRE g [ RREK 85 25 (=]
1905 |05 11A2R KT m g [ RRER 110 40 (=3
1906 |5 11A2R KT RE g i RRER 70 20 =]
1907 |H05%11A4R KT BE g [ RRER 80 20 (=3
1908 | #0154 11A5R KT P g i RRER 80 30 (=]
1909 |05 11A2R KT RE g [ RRER 80 25 (=3
1910 |55 11A5R —Eir =B g [ RRER 101 20 (=]
1911 | 5511468 —Eir hE ET [ RRER 102 40 (=3
1912 | 5#I5411A4R HERT | REPEH g [ RRER 130 30 =]
1913 |54 11A8R B ARHET =] e 3 RRER 100 25 (=3
1914 | 5#I5411A8H KT wE e i RRER 120 70 (=3
1915 | HHSE11A108 | KHH BE e 3 RRER 120 80 =3
1916 | SHMSENATIAR | K3HHET 1)) s [ RRER 110 60 (=3
1917 | GH5&E11A10R |#EET |&ETRE e 3 RRER 65 28 (=3
1918 | GHI5&E11A12A |[#AEET &R e 3 RRER 100 25 (=3
1919 |FH5&E11A12B /MARRM /MY e i RRER 120 40 (=3
1920 |GFI5E11A14R  |FIIF Bra T B RRER 140 70 =3
1921 |[GHI5EE11A13R |[#AEET  |&ERIIR i [ RRER 85 20 (=3




= ®5H TET# RRIER RERE A | BRERES | &kn) | KEKe) BRERR
1922 | GFI5E11A13R |#AEERT |&ERIIR ik L RRER 78 16 =]
1923 |HH5EI1TA14R | FIFEW ITE bk ; RRER 110 20 =53
1924 |HHSE1TA14R | KBEHT RE g y RRER 121 25 =]
1925 |HHI5E1TA14R | KBEHT RE g ; RRER 110 20 =3
1926 | GFI5E11A15A |#EERT |&EIIR ik ] L HE 76 15 =]
1027 |5#54&11A15A |EXW™ L35 bk L RRER 60 15 (=]
1928 | #5411A16A |/MHEHR™ AR HhiE s ; FRER 75 20 (7153
1029 |HHSENTAITR | KBEHT RE s L RRER 141 50 =3
1930 |HHSEFENTAITR | KHHET =E s L RRER 130 95 =3
1931 |HH5FEI1TA21R | Z“EH hE g L RRER 158 90 =3
1932 |#5&11A218  |/hAEIRT (B HhE s ; FER 110 70 =33
1933 |4#I5%&E11A22A |#AERT |&EPR ik L RRER 120 50 (=]
1934 | GF5&E11A23A |#AERT |&ETRE bk L RRER 65 28 (=]
1935 | H#I5E11A21R  |#AERT |&ETRE g L RRER 65 28 (=]
1936 |HFI5E11A21A  |#A#RT |[&EFAR ik L RRER 65 28 (=]
1937 |HH5E11A238 | KBEHT B AT A48 g L RRER 130 40 (=3
1938 |H#I5&E11A23R |HARET |EL g [ ; RRER 110 20 =]
1939 | HFI5&E11A24R |#A#RT |[&EFAR ik L RRER 155 97 (=]
1940 | HFI5E11A26R |#A#RT |GEFTE bk L RRER 108 48 (=]
1941 | 9#5%11A278 |FHFH FT&ER g L RRER 140 85 (=]
1942 | GFI54E11A28R |#A#RT |&EHFW ik [ RRER 112 67 =]
1943 | GFI54E11A29R |#AEERT |&ETRE g [ RRER 91 32 (=]
1944 | 5HI54E12A2H BEARE BT bk h RRER 60 1 =3
1945 |G#I54E12A1H FEARET A ET [ ; RRER 101 35 ]k
1946 |#154E12A3H NEL) & bk L RRER 80 15 ]k
1947 |#I54E12A6H K3tHHET =E bk L RRER 120 70 (=3
1948 | #I54E12A6H YR ET % bk L RRER 140 105 =]
1949 | GHI5412A7TH K3tHHET &= g B RRER 140 80 =3
1950 |G#I54E12A9A KItHET 1)) g [ RRER 160 95 (=3
1951 |5#154£12A8H FEARHET #/iR ®ET s ; FRER 84 30 (7153
1952 |[#I54E12A12R  |#A#FET  |&E/DE ik [ ; RRER 125 67 =3
1953 |[H#I5&E12A17TR  |HA#RT |GEXHFTE ik [ RRER 123 58 (=3
1954 |G#I54E12A23R | FNIF Bra e ;3 RRER 100 60 =3
1955 |#I54E12A24R  |+REEHET R EME e [ RRER 70 25 (=3
1956 |GFI54E12A24R  |+REEHET REME e [ RRER 140 85 (=3
1957 |[G#I54E12A25R  |#A#E™ |&EPR g ;3 RREK 90 34 =3
1958 |55 12A268 |#ERT |[RE=7K bk [ RREK 90 16.5 (=3
1959 |H#M5&12A228  |/MERT B g [ RRER 130 90 (=3
1960 |HH5E12A268 | KEEHT /i e ;3 RRER 105 16 (=3
1961 SH5&12A28H |HR#HH |BH g [ RRER 120 70 (=]
1962 |HH5E12A308 | KHHT = g [ RRER 100 40 (=]
1963 |HHSEI12A3E | KHH == e ;3 RRER 160 110 (=3
1964 |5HM5&12A31H  |HREHAH |BH g [ RRER 90 25 (=3
1965 |H#154E12A29R |[/MEEFE™ |AH g [ RRER 110 30 =3
1966 |HM5&12A298 |/hAIRT R g ;3 RRER 130 60 =]
1967 |&M6&E1A2H #HERT  |REHR b 3 RRER 135 84 =]
1968 |HHM6&£1A3H HiEETm | RETRE e [ RRER 95 27 =]
1969 |HM6&E1A4H HiEERTm | RETRE e [ RREK 115 45 =]
1970 |H65£1A4R FiEH ITE e 3 RRER 160 105 =3
1971 | 4651448 KT P g 3 RRER 130 100 (=3
1972 | 4H6£1A4R KT P g [ RRER 100 70 =3
1973 | 4651448 FBRm |ER e 3 RRER 156 80 (=3
1974 |5H5&12A318 | F#F8RWM /K i [ RRER 128 30 (=]
1975 |HHM6KF1ATH /MERET (BEN e i RRER 95 40 =3
1976 |HHM6E1A8H HiEET | RETRE e 3 RRER 60 20 (=3
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1977 |[5HM641H8H HiERT | RETRE g L RRER 60 20 =]
1978 | HM64E1H8H HERT |REEHE ik L RRER 125 60 =]
1979 | GH6£E1A11AH HiERT | RETRE e L RRER 115 55 (=]
1980 |FI64£1H10H BEARE |EL g ; RRER 50 40 =3
1981 | #I64E1H10A BEARE |BEL s L RRER 50 35 =]
1982 | FI64E1H10H BEARE |EL s ; RRER 50 40 =]
1983 |#I64E1H10H BEARE |BEL s L RRER 50 40 =3
1984 |FI64E1H10H BEARE |EL s ; RRER 120 65 =3
1985 |#I64E1A15H P L) /i e ; RRER 96 13 =3
1986 |HFI64E1H16H FFEH iR s L RRER 100 20 =]
1987 | #6441 A15H MERT (RF s L RRER 140 100 =]
1988 |#I64E1H15H MERT (RF s L RRER 135 80 (=3
1989 |HFI64E1H19H NzL) & bk L RRER 120 45 ]k
1990 | #1641 H20H NzL) & bk L RRER 80 25 ]
1991 | H#641H22H HERT |REIR bk [ RRER 80 24 =3
1992 | 5#64E1H22H HERT |REIR g [ ; RRER 75 22 (=3
1993 | H#64E1H24R EXH iR g L RRER 90 40 (=3
1994 | HI64E1H26R K3tHHET 1)) g [ RRER 110 45 (=3
1995 |#I64E1H26H =5 & ET s ; RRER 82 30 ]
1996 |HFI64E1H27H AINF Bra i L RRER 85 15 (=3
1997 |HM641H27H AINF Bora g [ ; RRER 120 23 =3
1998 |HI64E1H27H AINF Bora g L RRER 105 23 (=3
1999 |GH641H27H FANNF Bra g L RRER 130 57 =3
2000 |HI6£E1A25R HERT |REIR g L RRER 98 22 =3
2001 |H6£E1A29R HERT |[RETARR g i RREK 105 38 (=3
2002 |H6£E1A26R %1187 —25 g [ RRER 125 60 (=3
2003 |H6£E1A29R BEARET  (BAE g L RRER 100 70 (=3
2004 |SH6LE1A29R HEARE |EL g [ RRER 60 20 =3
2005 |HI6£E2A3H BEARE BT g [ RRER 60 21 =3
2006 |H6£E2A3AH BEARE BT g L RRER 65 23 =3
2007 |wH6£E2A1H BEARE |EL g L RRER 120 75 (=3
2008 |HI6£E2A3AH HERT |REIR g [ ; RRER 100 30 (=]
2009 |SFI6£2A5H HARE |EL g [ RRER 100 25 (=3
2010 |FI652A5H FiFEH IE e i RRER 163 100 =3
2011 | F6E2A6R KT R/ e [ RRER 105 16 (=3
2012 |5F6£2A108 EL#RHET His e [ RRER 150 70 (=]
2013 | F652A9R P L) RE e [ RRER 133 30 (=]
2014 |HH6£E2A9R HiEET | RETRE g ;3 RREK 95 28 (=]
2015 |HN6£F2A8A HERT  |BREIR e ;3 RRER 110 34 (=]
2016 |HH6£2A138 FB8RMm |=/B ET L RREK 142 75 (=]
2017 |HH6£2A138 L) % e ;3 RRER 90 28 (=3
2018 |HH6£2A138 FB8Rm |B/R g [ RRER 120 20 =3
2019 |HH6£E2A13R HERT | REIR g [ RRER 90 22 (=3
2020 |HFI6£2A158 HARE |EL g [ RRER 110 70 (=]
2021 |HH6£2A168 HARE |EL e ;3 RRER 100 20 (=3
2022 |HH6E£2A18R mARE |BEL e 3 RRER 140 90 (=]
2023 |SH6£E2A16R HiERT | RES5#E s [ RRER 90 25 =3
2024 |HH6E2A198 B ARHET =] e 3 RRER 50 10 (=3
2025 |HH6£2A19R 1) i ET [ FER 92 55 =3
2026 |H6£2A19R 1) i ET [ FER 102 70 =3
2027 |HH6£2/8208 /INERT MY s [ RRER 110 40 (=3
2028 |HHI6£2A218 /MERET R s 3 RRER 90 20 (=3
2029 |HH6£2A218 MERT (BE g [ RRER 70 20 (=3
2030 |HH6£E2A24R KigHr RE e 3 RRER 85 22 =3
2031 |H6£E2A24R KigHr RE b 3 RRER 87 23 (=313
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2032 |SH6£E2A24R FFEH ITE bk L RRER 140 60 =3
2033 |SHM6£E2A24R FFEH FT&ER bk ; RRER 125 50 =53
2034 |SHM6£E2A28R /MERT (BHEN s ; RRER 100 40 =]
2035 |H6£E3A2AH Kier B AT A4 g L RRER 149 61 =3
2036 |H6£E3A2AH BERET  |EHE s ; RRER 50 10 =]
2037 |%HM6£E3A3A /NERT (FEIII s L RRER 125 60 =]
2038 |H6£E3A4RH FFEH ITE s ; RRER 120 55 =3
2039 |SH6LE3A4RH HiERT | RERH s ; RRER 140 60 =]
2040 |H6£E3A3AH HERT |REFWU g ; RRER 110 45 =3
2041 |5H6£E3A3A AINF Bra g  ; RRER 100 30 =3
2042 |H6£E3A5H KT P s L RRER 110 45 =3
2043 |H6LE3A4RH BEARE |EL s ; RRER 70 20 =]
2044 |SH6£E3ATH b 1) hE bk h RRER 113 30 =3
2045 |H6£E3A8H HiERT | RERH g [ RRER 90 30 =3
2046 |H6£E3A10R ¥R ET % bk s RRER 110 70 (=]
2047 |HH6£3A10R NzL) & bk L RRER 80 40 ]
2048 |H6£E3A11R b 1) hE g [ ; RRER 123 40 (=3
2049 |SH6£E3A13R /MNERT (FEIII g L RRER 120 50 =3
2050 |H6£E3A12R /NEERT (FEIII g [ ; RRER 140 70 =]
2051 |H6£E3A12R HERT | RERH g L RRER 140 70 =]
2052 |H6£E3A14R HERT | RE=H g h RREK 95 19 =]
2053 |SH6£E3A15R #HERT |[RETARER ik i RRER 110 40 =]
2054 |SH6£E3A1TRH EXH iR g [ RRER 118 40 =3
2055 |H6£E3A1TRH EXH LERIL g [ RRER 112 35 =]
2056 |SH6£E3A1TRH KItHHET RE g L RRER 140 85 =]
2057 |H6£E3A15R 1L 3k Er HRAFH g [ RRER 100 30 (=3
2058 |H6LE3A1TRH ITp1A:) EHEN g L RRER 140 75 =]
2059 |H6£E3A18R K3tHHET m g [ ; RRER 150 100 =3
2060 |H6£E3A21R HiEET | REME g [ RRER 80 15 (=3
2061 |H6£E3A21R /NEERT (FEII g L RRER 100 50 =3
2062 |H6£E3A22R MERET |BE g L RRER 90 20 (=3
2063 |H6£E3A22R HERT |REIR g L RRER 94 28 (=]
2064 |GH6LE3A23R HiERT | RETRE e [ ; RREK 90 25 =3
2065 |HHI64£3A23A HEARE |EL e ;3 RRER 95 15 (=3
2066 |HHI6E3A27H YR ET % e ;3 RRER 100 50 (=3
2067 |H6£E3A31R KT AR e i RRER 133 36 (=]
2068 |HI6LE3A29R HERT |RREIR e ;3 RRER 105 34 =]
2069 |HH6LE3A31R HiEET | RETRE g [ RREK 125 70 (=]
2070 |HF6£3A31A HERT |RE=# g [ RRER 125 30 (=]
2071 |HF65£3A30R HERT |RE=3# s [ RRER 92 15.2 ]
2072 |[HH6£FAA1R /MERT (BEN g [ RRER 115 40 (=]
2073 |SF6E4A4R HEARET  (BAE g [ RRER 120 52 =3
2074 |HH6£E4A4R #HERT  |REGR b ;3 RRER 90 22 (=3
2075 |SHI6E4A6R /MEET (R g i RRER 110 40 (=]
2076 |HH6£F4A5R KT P g i RRER 90 40 (=3
2077 |SF6E4A6R K3tHHET == e 3 RRER 130 90 (=]
2078 |HH6£F4A5R HiRET | RENH s [ RRER 110 40 =3
2079 |SH6£E3A28R /IR OE g [ RRER 115 40 (=3
2080 |H6£F4A6R HiEETm | RE=7K e 3 RRER 120 31 =]
2081 |FI6E4A6H B ARHET =] s [ RRER 100 30 (=3
2082 |FI6E4A9R B ARHET =] e 3 RRER 90 20 =3
2083 |HN6£F4A8H #HERT |REIR g [ RRER 90 22 (=]
2084 |HI6E4A10R EXH AR g 3 RRER 119 35 (=3
2085 |HI6E4A10R EXH AR s 3 RRER 140 70 =3
2086 |wHI6LE4A14R HiEET | REFAR i [ RRER 115 55 (=313
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2087 |H6£E4A9A HiERT | RETRE g ; RRER 110 45 =]
2088 |H6LF4A11R HERT | REDEH s ; RRER 165 64 =]
2089 |HH6LE4A14R HERT |REIR s ; RRER 90 22 =]
2090 |SH6£F4A13R FHRMm | #/A s ; RRER 110 28 =3
2091 |H6£F4A15R /MERT ER s L RRER 100 40 =]
2092 |SH6LE4A19R KItHHET 1)) s s RRER 110 50 =3
2093 |SH6£E4A25R EXH fR s L RRER 116 33 =3
2094 |SH6£E4A27RH BEARET  (BAE s L RRER 120 45 =3
2095 |H6£E4A25R HERT  |REHR g L RRER 140 98 =3
2096 |H6£E4A29R BEARE |EL g L RRER 95 20 =3
2097 |H6£E5A5H AINF Bra s L HEK 40 3 =]
2098 |H6LE5A4R EXH L35 s L RRER 63 40 =]
2099 |SH6LES5A4R EXH g bk L HER 132 41 =3
2100 |H6£E5A2A HERT  |REIR g L RRER 95 26 =3
2101 |H6£E5A5H AINF Bra bk L HEK 40 3 =3
2102 |HM6£E5A2AH b 1) hE g [ RRER 120 30 =3
2103 |H6£E5A6H /MEET BEN g [ ; RRER 115 50 =]
2104 |5H6£E5A8H K3tHHET 1)) g L RRER 120 60 =]
2105 |H6£E5A9A K3tHHET wE g [ ; RRER 90 25 =3
2106 |H6£E5A10R BEARE BT i L RRER 70 25 (=3
2107 |SH6£E5A10R ELARHT ] g L RREK 125 40 =3
2108 |H6£E5A12R KT ®E g B RRER 90 20 =3
2109 |SH6£E5A14R HERT |REFWU bk [ ; HE 95 25 (=]
2110 |SH6£E5A17RH KItHHET =E g [ RRER 100 35 (=]
2111 |5HM6£E5A18R KItHHET =E g L RRER 80 20 =]
2112 |5HM6£E5A17RH HERT |RETARR e i RRER 125 70 =]
2113 |S5HM6£E5A23R KItHHET pi g [ ; SHE 100 40 (=]
2114 |5H6£E5A26R HERT |[RETARR g b3 RRER 125 65 =3
2115 |5H6£E5A29R b 1) hE g L RRER 138 40 =3
2116 |5H6£E5A29R HERT |[RETARR g 3 HE 85 25 =3
2117 |5H6£E5A30R i 1) hE g L HE 129 50 (=3
2118 |H6£E5A30R KiHr RE g L HE 65 8 (=3
2119 |SH6£E5A30R KiHr RE i [ SHE 65 8 =]
2120 |SH6£E5A30R KigHr RE e i HE 65 8 =3
2121 |5H6£E5A30R KiHr RE g [ HE 65 8 (=3
2122 |5H6£E5A30R KigHr RE g [ HE 65 8 (=]
2123 |HM6£5A318 1) - e ;3 HHE 64 5 (=]
2124 | SHM6E6A1R KT RE e ;3 RRER 110 40 (=]
2125 | HH6£E6A4R —Eir - ET [ HHE 56 3 (=3
2126 | SH6E6A6H HEARET  (BAE b i RRER 145 45 (=3
2121 |SM6E6ATH KT RE e [ RRER 100 40 ]
2128 |HH6LE6ATRH KigHr RE e i HHE 50 4 (=]
2129 | HH6LE6ATRH KigHr RE e ;3 HHE 50 4 (=3
2130 | HF6E6ATH KHHET RE g [ RRER 115 40 (=]
2131 | HM6E6A9A KT RE e [ RRER 100 30 (=3
2132 | SM6E6A9R KT RE e [ RRER 100 30 (=]
2133 | HM6E6ATH /MERT (BEN s [ RRER 110 50 (=]
2134 | SM6E6A8H L ET E# g [ RRER 120 50 (=3
2135 |FHI6LE6A17RH KHHET BAR e 3 HE 50 2 =3
2136 |HH6LE6A1TRH KHHET AR e 3 HE 50 2 (=3
2137 |SH6L6A1TRH KHHET BAR s [ HE 50 2 (=3
2138 |HH6LE6A1TRH KHHET BAR s [ HE 50 2 (=3
2139 |HH6L£E6A19R ot 1) - e 3 HE 72 5 (=3
2140 |HH6£E6A20R K37 = e 3 HE 60 7 =3
2141 | HH6E6A228 KHHT RE b [ HE 60 2.5 =3
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2142 |5H6£E6A22R MERET BRI s ; RRER 125 50 =i
2143 |SHM6£E6A27RH ot 1) -= s L HHE 67 2 =i
2144 |5H6£E6A27RH K3tHHET m s ; SHE 70 5 =i
2145 |SH6£E6A29R K37 33 bk s ; RRER 120 35 ]
2146 |5H6£E6A30R K3tHHET P s ; HE 50 5 =i
2147 |SH6L£ETATRA /MEET R s L RRER 125 60 =i
2148 |SH6£ETA3A ot 1) hE s L HE 68 5 =i
2149 |SH6LETA6H /MERET R s L RRER 100 40 =i
2150 |H6LETASH Kilr RE s ; RRER 110 35 =i
2151 |SH6£ETASAH Kilr RE s ; RRER 110 35 =i
2152 |SH6£ETAIA ITp14:) s s ; RRER 120 45 =i
2153 |SH6LETASH ITP14:) s s ; RRER 110 40 =i
2154 |SH6LETAIA Kilr RE e L RRER 120 65 =i
2155 |FH6£ETA10R P L) /i e [ RRER 110 40 =i
2156 |FH6L£ETA10R P L) /i e L HEK 50 3 =i
2157 |SH6£ETAIA Kilr RE e L RRER 120 65 =i
2158 |HFH6L£ETA10R P L) /i e [ ; HE 50 3 =i
2159 |FH6L£ETA10R KT /i e [ ; HHE 50 3 =i
2160 |FH6£ETA10R P L) /i e [ ; HER 50 3 =i
2161 |SH6L£ETAIIR HiERT | RE=7K ik L RRER 160 144 =i
2162 |SH6£ETA12R #HERT |REIR g h RREK 120 43 =i
2163 |FH6LETAIIR KHlr RE e [ RRER 60 10 =i
2164 |SH6L£ETA13R /MEERT BRI g [ RRER 115 60 =i
2165 |FH6LETAIIR KHlr FR g [ HE 60 4 =i
2166 |SH6LETAIIR KHlr FR g L HE 60 4 =i
2167 |SH6L£ETAI3R Kilr RE e [ HE 60 7 =i
2168 |FH6L£LTAI3R KHHr RE e [ ; SHE 60 7 =i
2169 |SH6L£LTA14R K3tHHET pi g [ ; HE 60 5 =i
2170 |SH6L£ETA14R K3tHET P g L HHE 70 6 =i
2171 |5H6L£ETA14R FEET =/ F g [ ; SHE 60 7 =i
2172 |5H6L£ETA16R KiHr B AT A 450 g L RRER 130 80 pEft
2173 |SH6LTATTR /MEET R g L RRER 80 15 =i
2174 |HM6ETA18A KT =R i [ RRER 110 20 =i
2175 |HM6ETA18A MERT |BE g [ RRER 110 30 pEft
2176 |HM6ETA19A KT RE g [ RRER 70 15 =i
2177 |HM6ETA19A /MEET R g i RRER 120 60 =i
2178 |SH6L£ETA20R /MERT (BEN g [ HE 60 5 =i
2179 |SH6L£TA20R /MEET R g [ HE 50 5 =i
2180 |HH6ETA24R KT RE e i HHE 70 10 =i
2181 |HHM6£TA218 FB8RMm |=/B e ;3 RRER 115 50 =i
2182 |HM6£TA3IA L) % e ;3 RRER 65 10.5 =i
2183 |HHM6£TA3IA —Eir - e i RRER 83 15 =i
2184 | H648A1R KT RE g ;3 RRER 150 100 =i
2185 | HM64£8A1R KT m b [ RRER 80 15 =i
2186 |H648A3A —Eir hE g i RRER 80 12 =i
2187 |HH6£E8AS5RH MERET (R e 3 HE 70 7 =i
2188 |HH6£F8AS5H /MERT (BEN s [ HE 70 5 =i
2189 |HH648A2H FB8RMm |=/EB e 3 RRER 130 50 =i
2190 |HH6£F8A6H RS8R | #/A g [ HE 70 9 =i
2191 |68 A6RH RS8R #/A g [ HE 70 9 =i
2192 | HH6£E8ATH FSRMm | #/A g [ HE 70 10 =i
2193 |68 ABA /MERT (BEN g [ HHE 70 5 =i
2194 |68 A8A MERET (RF g [ HE 70 5 =i
2195 | SH648A9A K37 1)) s 3 RRER 110 40 =i
2196 |SH64£8A9A NEL) % e 3 RRER 60 15 =i
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2197 |5H6£E8A10R Kilr RE e s HE 70 8 =i
2198 |FH6£E8A10R KHlr RE e L HHE 70 8 =i
2199 |SH6LE8AT11R MERT |BE g L RRER 100 40 =i
2200 |H6£E8A11R ITP1A:) s g L RRER 130 50 =i
2201 |5H6£E8A12R K3tHHET P s L RRER 70 50 =i
2202 |5H6£E8A13R L) % s s RRER 90 32 =i
2203 |H6£E8A16R /MERET (R s ; RRER 90 30 =i
2204 |5H6£E8A1TRH HERET B s ; RRER 90 45 =i
2205 |H6£E8A 18R /MERET R s ; RRER 80 10 =i
2206 |H6£E8A20R HERET | HEL s L RRER 130 20 =i
2207 |%HM6£E8A21R KT HE s ; RRER 70 15 =i
2208 |H6£E8A23R Kilr RE e ; HE 70 7 =i
2209 |H6£E8A25R KT /i e [ HER 70 7 =i
2210 |H6£E8A22R /MERT R g L RRER 110 50 =i
2211 |5H6£E8A23R /MERT (BEN g [ RRER 110 50 =i
2212 |5H6£E8A26R b 1) hE g L HER 80 5 =i
2213 |SHM6£E8A28R KT A e i RRER 70 15 =i
2214 |S5HM6£E8A31R HERT | REEF g [ ; RRER 120 40 =i
2215 |5H6£E9A2AH K3tHHET wE g L RRER 150 110 =i
2216 |H6£E9A3AH HRET | RENH g L RRER 120 40 =i
2217 |H6£E9A4R KHlr FR g L RRER 80 12 =i
2218 |H6£E9A4RH KHlr FR g [ RRER 80 12 =i
2219 |SH6LE9ATH KT =E g L RRER 60 10 =i
2220 |H6£E9A8H /INERT [T g [ RRER 80 30 =i
2221 |5H6£E9A6H HiERT | RE=7K ik h HE 80 1.4 =i
2222 |5H6£E9A8H K3tHHET 1)) bk L RRER 90 25 =i
2223 |H6£E9A9A b 1) - g [ ; RRER 120 50 =i
2224 |SH6£E9A13R K3tHHET &= g B RRER 80 15 =i
2225 |HI6£E9A4R RS8R #/A g L RRER 80 10 =i
2226 |H6LE9A8H FSRMm | #/A g L RRER 80 10 =i
2227 |HM6£9A8H #8RT |=/E HhE [ FER 75 10 =353
2228 |HM6£E9A8H #8RT |=/E HhE s FER 75 10 =33
2229 | S6EIASH FB8RT |=/B g [ ; RRER 75 10 =i
2230 | SF6EIASH FB8Rm |=/B g [ RRER 75 10 =i
2231 | SM6E9IASH FB8RT |=/B g [ RRER 75 10 =i
2232 |HH6E9IA14R KT == e [ RRER 60 110 =i
2233 |HM6E9IA14R ¥R ET % g [ ; RRER 120 60 =i
2234 |HH6EIATTA ¥R ET % g [ RRER 72 12.7 =i
2235 |HM6EIATTA KT BE e [ RRER 120 65 =i
2236 |HM6EIA1TA KT BE e [ RRER 60 15 =i
2237 |HM6E9IA18A /MERET ER g [ RRER 70 30 =i
2238 |H6LEIA18R /MERET ER e ;3 RRER 70 30 =i
2239 |HH6LEIA18R /MERT ER e i RRER 70 35 =i
2240 |SH6LE9A18R /MERT ER e i RRER 70 30 =i
2241 |5H6LEIA18R /MERT ER e ;3 RRER 70 30 =i
2242 | HM6£9IA23A YR ET % g [ RRER 80 16 =i
2243 |HM6£9A20R /INERT MY g [ RRER 70 30 =i
2244 | HM6E9IA23A KT 1)) s [ RRER 70 15 =i
2245 |HM6£9IA23A KT == e 3 RRER 60 12 =i
2246 |SHI6£E9A20R HERT | REEH g [ RRER 110 40 =i
2247 |SH6£E9A20R HERT | REEH s [ RRER 70 13 =i
2248 |HM6E9IA24R 1) - g [ RRER 94 10 =i
2249 |HH6£9IA24R EXH L3EF e ;3 RRER 101 28 =i
2250 |HHI6£9A24R /MEET R g [ RRER 60 15 =i
2251 |5H6£E9A24R MERT |BE g [ RRER 60 20 =i
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2252 |SH6£E9A19R K3tHHET EXH s ; RRER 60 15 =i
2253 |H6£E9A26R K3tHHET &= s L RRER 140 70 =i
2254 |SHI6£E9A29R KItHHET RE s L RRER 90 12 =i
2255 |HI6£E9A29R K3tHHET wE s s RRER 100 15 =i
2256 |H6£E9A28R K3tHHET wE s ; RRER 70 15 =i
2257 |H6£E9A30R /INERT [T s i RRER 85 40 =i
2258 |H6£E9A28R L) % s L RRER 105 50 =i
2259 |SH6£E9A30R HERT |REEF s i RRER 80 14 =i
2260 |H6£E9A30R /MERT |BE s ; RRER 60 20 =i
2261 |H6£E9A28R YR ET % s L RRER 85 25 =i
2262 |SH6£E9A26R MERT (RF s L RRER 75 25 =i
2263 |HHM6£E10A2H K37 7RH HhE B FER 60 10 =353
2264 |5H6£E9A30R ITp14:) N bk L RRER 100 42 =i
2265 |HI6£E9A30R BEARE |EL g L RRER 100 45 =i
2266 |H6£E10A3R KT 1)) g L RRER 130 65 =i
2267 |[HHM6£10A3H KT 7RH HhE [ FER 130 65 =353
2268 |SH6£E10A4R EXH iR g [ ; RRER T 30 =i
2269 |SH6£E10A4R EXH iR g [ ; RRER T 30 =i
2270 |SH6£E10A4R EXH iR g L RRER T 35 =i
2271 |5H6£E10A6R /MERT MEETER ik i RRER 78 27 =i
2272 |5H6£E10A6R /MERT MEETER ik i RRER 80 30 =i
2273 |5H6£10A6R KT KItETHRE g L RREK 120 70 =i
2274 |5H6£E8A31R FBRM |FBRW=/F ik [ RRER 150 60 =i
2275 |H6£E9A4RH FBRM  |FEERTE/ A ik [ ; RRER 70 10 =i
2276 |H6LE9A4R FBRM  |FEERHE/ A ik [ RRER 70 10 =i
2277 |SHM6£E10A9R HXERET REETE g L RRER 130 70 =i
2278 |SH6£E10A9R KItHHET KIHETHRE g L RRER 80 70 =i
2279 |SH6L£10A9R K3tHHET KIHETHRE g L HE 7 6 =i
2280 |H6£E10A9R #HERT | HERTRESEH ik L RRER 70 15 =i
2281 |M6£10A108 |—EHT “EE—& ik [ RRER 134 40 =i
2282 |HM6££10A4H b IIES) ARy & HhE [ FER 90 23 =353
2283 |HHM6LEI10A138 | KIHHT 7rH HhE [ FER 60 15 =33
2284 | DH6LEI10A148 | KHHT == e ;3 RRER 130 80 =i
2285 |[4M6L£10A158 |/MERT |AF g [ RRER 80 20 =i
2286 |[HF6LE10A168 | KHH RE g [ RRER 100 35 =i
2287 |5H6L10A168 |/hEET |EBR g [ RRER 94 45 =i
2288 |HM6L£10A158  |/hART R g ;3 RRER 90 20 =i
2289 |[HHM6L£10A168 |/MART |ITZH ik [ RRER 90 30 =i
2290 |[HHFM6LEI0A1TE | KHH BE b i RRER 110 30 =i
2291 |[HM6LFI0A1TE  |HERET |RE=7XK i [ RRER 86 12 =i
2292 |[HM6L£10A188 | ZEH - e ;3 RRER 97 25 =i
2293 |HM6E10A198 | HAMHET % e i RRER 90 30 =i
2294 | HM6£10A228  |/MERT  |ER b ;3 RRER 125 80 =i
2295 |GH6L£10A21H  |#HERT | KEHH e i RREK 110 30 =i
2296 |HM6£10A228 | HMAMHET % g [ RRER 115 50 =i
2297 |SHM6L£10A23H |HHERT |[&KEEH g 3 RRER 80 30 =i
2298 |GH6L£10A23H |HHERT [ &KEEH i [ RRER 80 30 =i
2299 |HM6LF10A238 |HEET |[RE=7XK i [ RRER 110 28.2 =i
2300 |HM6L£10A278  |/MERT |AF e 3 RRER 130 80 =i
2301 | HM6LEI10A2TH | KHHT BE e 3 RRER 90 15 =i
2302 |[HHM6LEI10A2TH | KHHT RE s [ RRER 100 35 =i
2303 |[HM6LEI10A2TH | KHHT RE s 3 RRER 70 15 =i
2304 | DHM6LEI10A2TH | KHHT RE g ;3 RRER 120 70 =i
2305 |HM6E£10A28A | Z“HHT hE g [ RRER 138 50 =i
2306 |HM6LI0A198 |FBET W/ A i 3 RRER 90 15 =i
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2307 |[HHM6LE10A28R | KREHET /i e L RRER 80 18 =i
2308 |HM6LE10A268 |FBERT |H/A ik ; RRER 106 20 =i
2309 |HM6L10A288 |FBERT |H/A ik ] y RRER 120 18 =i
2310 |SHM6£F10A25H |#EHERT  |[&ETRE e ; RRER 60 25 =i
2311 |HM64F10A28R | KFHHET =E s L RRER 100 25 =i
2312 |4M6£10A30R | “EHT hE s L RRER 100 60 =i
2313 |[HM6LF10A31H | KFHHET rH s L RRER 120 70 =i
2314 |SM6£10A31A  |/MART  |BR HhE B FER 135 60 =353
2315 |[4M64F10A31H  |EERHET ] s ; RRER 90 10 =i
2316 |[HHM64F10A31H | EERHET ] g L RRER 95 15 =i
2317 |SHM6£E11A2R YR ET % s L RRER 80 20 =i
2318 |HM6E10A31H  |/MART  |BII HhE [ FER 80 20 =353
2319|6411 A3A K37 (17)::] HhE B FER 90 25 =353
2320 |[#6£E11AH6H KT 7rH HhE [ FER 80 20 =353
2321 |SH6£E11A6R /INERT |/ bk L RRER 100 35 =i
2322 |5H6£E11A6R /MERT K g L RRER 85 30 =i
2323 |SH6LE11A6R FaRm |B/R g [ ; RRER 120 65 =i
2324 |HM6LE10A268 |FBERT |H/A ik [ RRER 100 17 =i
2325 |M6L11A108  |/MERM  |[HBEN ik L RRER 80 30 =i
2326 |SM6LE11A108 |/NERM  |/MT g L RRER 100 30 =i
2327 |[HHM6LFITANIR | KRAHET B AT A48 g L RREK 100 30 =i
2328 |[HHM6LFITANIR | KREHET RE g [ RRER 95 30 =i
2329 |[HHM6LFITANIR | KRAHET RE g [ RRER 95 30 =i
2330 |[HM6LFI11AI0B  |FBERT  |H/A ik L RRER 120 70 =i
2331 |SHM6LF11A12E  |#HERT  |[&EHIR ik h RREK 140 60 =i
2332 |[HHM6LEI11ANIR  |HAEHET % g L RRER 120 65 =i
2333 |[HM6LFI11A12E  |FBERT  |H/RA ik L SHE 85 7.8 =i
2334 |SHM6L11AI13E RN ®KRE=7K ik ] [ ; RRER 80 10 =i
2335 |GH6L11AI13E |HHERT |[&ERME ik [ RRER 135 72 =i
2336 |SH6L11A13E  |HERT | &KEEH ik L RRER 80 30 =i
2337 |SH6LFITAI3E  |FEBREW |EEK g [ ; RRER 110 10 =i
2338 |[HM6LFI11AI13E |FHEET |BR g [ RRER 90 15 =i
2339 |[4M6L11A13E  |/MhEET B8R e ;3 RRER 125 50 =i
2340 | HM6LFI1TA14E  |FBET |BR g [ RRER 152 85 =i
241 |[4M6L11A14R  /DEEFRT  |AF e ;3 RRER 70 20 =i
2342 |HSH6LE1TA148 | KHHET FiR e i RRER 90 30 =i
2343 |HSH6LE1TA148 | KHHET FiR e i RRER 90 30 =i
2344 |SH6L11A168  |HHERT |[&KEEH g ;3 RREK 90 35 =i
2345 |GH6LF11AISE  |FEBREM  |EEK g [ HHE 73 9 =i
2346 |GH6LFI11AISE |FEBREM |EEK e ;3 HE 73 9 =i
2347 |HM6E11A16A  |ILJLET =l g [ RRER 125 60 =i
2348 |HM6L11A18A  |/MERT  |RFFI i [ HE 90 30 =i
2349 \[HM6L£11A18A  |/pAIRT R g ;3 RRER 110 50 =i
2350 |[HF6LEI1TA18E | KHH RE g [ RRER 90 25 =i
2351 |HH6LEI1TA148 | KFHHET BE e ;3 RRER 110 40 =i
2352 | SM6E11A16A  |EXTH iR e 3 RRER 103 40 =i
2353 |SH6L11A18E |#HERT | &KEEH e 3 RRER 75 30 =i
2354 |HHM6L11A208 |/ERT  |(BEN i i RRER 90 30 =i
2355 | GM6E11A21A  |EXTH aR g 3 RRER 110 50 =i
2356 |[HM6LF11A21  |/hERT |BAF g [ RRER 90 20 =i
2357 |[HM6LF11A218  |/pART R g 3 RRER 85 30 =i
2358 |[HM6LF11A218  |/pERT  |RII g 3 RRER 100 70 =i
2359 |HHM6LF11A238 |HZARAT | BEWM i [ RRER 100 30 =i
2360 \HM6LEI11A248 | ZEH - g [ RRER 100 25 =i
2361 |[HM6LF11A238 |EARW L% e 3 RRER 50 20 =i
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2362 |SHM6LF11A23 |#EERT | KEHH ik ; RRER 110 35 =i
2363 |HM6&E11H250 | EERHET ] s L RRER 100 20 =i
2364 |SM6&E11A238  |LLHLHET BAF s L RRER 100 28 =i
2365 |HM6&E11H220 | KFHHET m s L RRER 110 35 =i
2366 |TM6L£11A228 |/MERT | LB ik L RRER 100 25 =i
2367 |HM6&E11H248 | KFHHET RE s L RRER 150 90 =i
2368 |HHM6EI11A248 | KIHHT 7rH HhE i SHE 60 10 =353
2369 |HM6LE11H250 | KFHHET m s L RRER 100 35 =i
2370 |[4M6LF11A248  |/MEET [T s L RRER 98 30 =i
2371 |[HM6LF11A268 |FEERT |BR e i RRER 147 80 =i
2372 |SM6LE11H288 | KFHHET #E s ; RRER 100 25 =i
2373 |[4M6L£11A29R |/MDHEERW |ASF g L RRER 100 40 =i
2374 |SHM6£E12A2R EXH g bk L RRER 100 50 =i
2375 |SH6£E12A2R KT 1)) bk [ RRER 130 60 =i
2376 |SH6£E12A1R ITp1A:) s bk L RRER 80 22 =i
2377 |5HM6£E12A3R /MERT | LB g L RRER 125 40 =i
2378 |SH6£E12A4R #HiERT | RE=7K ik L RRER 130 56 =i
2379 |SHM6£E12A5R HERET | HEL g L RRER 100 25 =i
2380 |HM6E11A308 |/MAERT  |BII HhE s ; FLER 95 35 =353
2381 |5H6£E12A6R BEARET | BAE g [ ; RRER 80 30 =i
2382 |H6£E12A9R MEHERT | LEE g L RREK 140 95 =i
2383 |SH6£E12A6R KT 1)) g B RRER 100 35 =i
2384 |4HM6£E12A8H #8RT |=/E HhE [ FER 110 35 =353
2385 |HI6£E12A9R 1L 3k Er HRAFH g [ RRER 125 60 =i
2386 |GHM6E12A108 |#EERT |[&KEEH ik L RREK 80 25 =i
2387 |M6412A120  |RHHET % g [ RRER 90 25 =i
2388 |HHM6L12A12E |(FBRT =/ B fhE s ; FER 158 70 =353
2389 |M6L£12R128  |/MERT  |[BEN ik [ RRER 90 30 =i
2390 |GH6L£L12A148  |HEERT  |[&KETRE g [ RRER 85 20 =i
2391 |SH6L12A130  |#HERT |[&KEEH ik L RRER 120 100 =i
2392 |HSM6&E12A128  /MAEERT  |BII HhE s ; FER 90 30 =353
2393 |HM6LE12A138 | KFHHAT =E g [ RRER 90 40 =i
2394 | HM6L£12A138 | ZEH - e ;3 RRER 79 33 =i
2395 |HM6LF12A16B |FHEET |ER g [ RRER 135 60 =i
2396 |HM6LE12A188 | KHHT RE g [ RRER 90 25 =i
2397 |[HM6LF12A188 |FRWT |BR g [ RRER 80 30 =i
2398 |GH6L£12A18H |#HERT | KEDHH g i RRER 110 42 =i
2399 | HM6LE12A208 | KHHT =R e i RRER 130 90 =i
2400 \HHM6£12A238  |/MERT  |ER e ;3 RRER 135 50 =i
2401 |HM6£12A228 | IULET e g [ RRER 130 70 =i
2402 |HM6£12A248 | LULET =l g ;3 RRER 90 25 =i
2403 |HHM6L£12A250 |HEERT  |[&KESHRE g [ RRER 90 28 =i
2404 |HM6E12A25 | “EHET hE g i RRER 150 65 =i
2405 |HM6E12A25A | “EHET hE g i RRER 115 30 =i
2406 \HM6LF12A18 |FEBERT =/ F ik ] [ RREK 122 30 =i
2407 |[HM6E12A258 | KHHT BE e 3 RRER 140 95 =i
2408 |HM6E12A25A | “EHET hE g 3 RRER 115 28 =i
2409 |HM6E12A25A | “EHET hE g i RRER 150 65 =i
2410 | HHTE1A5R KigHr RE s [ RRER 140 125 =i
2411 |HM6E12A308 | Z“HHET INFT e 3 RRER 91 33 =i
2412 |HM6£12A308 | Z“HHET N s [ RRER 84 26 =i
2413 |HM6£12A308 | Z“HHET I s [ RRER 87 31 =i
2414 |HHM6£12A318  |WLdLHET EHN e i RRER 110 45 =i
2015 | HHMTE1A6R /MERET (BEN e i RRER 90 25 =i
2416 | HHMTE1A6R /MERET R e i RRER 90 30 =i
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2417 |SHTE1A9A K3tHHET =E bk L RRER 90 15 =i
2418 |SHTLEE1A9A MHERT | LEB s L RRER 120 40 =i
2419 |SHTE1A14R KItHHET =E s s RRER 140 90 =i
2420 |SHT£E1A13R ITP1A:) 2 s s RRER 100 22 =i
2421 |SHT4E1A13R ITp1A:) 2 s ; RRER 95 21.5 =i
2422 |SHTE1A13R ITp1A:) 2 s s RRER 110 27 =i
2423 |SHT1E1A14R ot 1) - s ; RRER 113 40 =i
2024 | HM6LF12A308 |FBERT  |H/A ik L RRER 150 120 =i
2425 |SHTE1A2AH FaRm |B/R s ; RRER 110 40 =i
2426 |SHTE1A14R FRRT |ER g  ; HE 64 7 =i
2427 |SHT14E1A15R HiEET | RETRE g ; RRER 70 20 =i
2428 |SHTEE1A16R ot 1) - s ; RRER 90 29 =i
2429 |SHTEE1A16R b 1) - bk h RRER 88 27 =i
2430 |SHTE1A15R ITp1A:) s bk L RRER 120 50 =i
2431 |SHT1£E1A17R HARE |BEL bk L RRER 100 60 ]
2432 |SHT4E1A18R BEARET  (BAE g L RRER 130 50 =i
2433 |SHTE1A19R EXH L35 bk L RRER 122 53 =i
2434 |SHT£E1A20R /MERT (BEN g [ ; RRER 90 30 =i
2435 |SHTE1A21R L) % g L RRER 100 30 =i
2436 |SHTEE1A20R b 1) - g L RRER 106 30 =i
2437 |SHT1E1A21R HiERT | RETRE g L RRER 110 60 =i
2438 |SHT4E1A22R HERT | REEF g L RRER 60 20 =i
2439 | HHMTE1A24R NzL) & bk [ RRER 80 15 ]
2440 |SHITEE1A26R HiERT | RETRE g h RRER 110 60 =i
2441 | SHT4E1A22R /MEERT R bk [ RRER 68 10 =i
2442 |SHT4E1A26R /MERT ER g L RRER 118 70 =i
2443 |SHTEE1A26R KItHHET =E g [ ; RRER 100 30 =i
2444 | SHTEE1A26R /INERT |7OE g [ RRER 90 20 =i
2445 |SHITEE1A26R /MERET (R g [ RRER 90 20 =i
2446 |SHITLEE1A28R KT HE g [ RRER 80 25 =i
2447 |SHTE1A29R i 1) hE g L RRER 129 55 =i
2448 |SHTE1A29R i 1) - g L RRER 121 35 =i
2449 | SHTE1A298 —Eir hE i [ RRER 135 70 =i
2450 |HHTE1A298 —Eir - e i RRER 100 20 =i
2451 |[HMTE1A298 /MEET |2l g ;3 RRER 75 28 =i
2452 | SMTE1A298 1) hE g [ RRER 115 70 =i
2453 |HMTE1A298 1) - e ;3 RRER 90 35 =i
2454 |HHTE1A308 ¥R ET % e ;3 RRER 70 30 =i
2455 |HMTE1A298 MERET R g i RRER 160 72 =i
2456 |HHTE1A308 —Eir - e i RRER 125 60 =i
2457 |SMTE1A318 /INERT Iz e ;3 RRER 120 80 =i
2458 |HTLE1A31R KT &= e i RRER 110 40 =i
2459 |HHTE2A1R /NERT (FEII e i RRER 130 50 =i
2460 |HHTE2A1R HERT | REEF e i RRER 150 120 =i
2461 | HHTEE2A3A HiEETm | RETRE e i RREK 125 70 =i
2462 | SMTE2A38 mARET  (BAE b 3 RRER 60 12 =i
2463 |HHMTE2A3A MHET  (BEAE e 3 RRER 128 63 =i
2464 | HHTEE2A5R /MERET (BEN s [ RRER 80 20 =i
2465 | HHTEHE2A4R HiEET | REAME e 3 RRER 123 54 =i
2466 | HHTE2A4R HEET | RERME e 3 RRER 113 50 =i
2467 | HHTE2A6R /MERT R s [ RRER 95 40 =i
2468 | SMTE2ATH /MERT R e 3 RRER 110 80 =i
2469 | SHTE2A5H /MEET R g [ RRER 85 20 =i
2470 | HHTE2A6R HiEETm | RE=7K e 3 RRER 125 40 =i
2471 | HHTE2A9R HEET | REAME e 3 RRER 127 65 =i
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2472 |SHT4E1A28R FaRm |B/R g L RRER 127 50 =i
2473 |SHTE1A29R FRRT |ER bk i RRER 145 60 =i
2474 |SHT14E2A8AH FERT =/ F s L RRER 116 20 =i
2475 |SHT14E2A11R K3tHHET =E s L RRER 90 30 =i
2476 |SHT1E2A11R L) % s L RRER 75 25 =i
2477 |SH14E2A12R ot 1) - s s RRER 110 30 =i
2478 |SHMT14E2A12R ot 1) - s ; RRER 112 35 =i
2479 |SHT14E2A12R KT /i e ; RRER 80 20 =i
2480 |SHT4E2A12R P L) /i e L RRER 100 35 =i
2481 |SHT42A13R /MERT |BE g  ; RRER 100 50 =i
2482 |HT14E2A15R /INERT [T s L RRER 94 56 =i
2483 |SHT142A16R (L 3k Er HRAFH s L RRER 80 20 =i
2484 |SHT14E2A16R 1L 3k Er HRAFH bk B RRER 80 20 =i
2485 |SHT4E2A14R 1L 3k By HRAFH g [ RRER 85 20 =i
2486 |SHT4E2A16R L3k Er 2 g [ RRER 100 20 =i
2487 |HT14E2A16R b 1) hE g L RRER 120 64 =i
2488 |HT14E2A18R b 1) - g [ ; RRER 104 30 =i
2489 |SHTEE2A19R K3tHHET 1)) g L RRER 120 60 =i
2490 |SHTEE2A19R /IERT K g L RRER 100 50 =i
2491 |SHT4E2A18R P L) /i e [ ; RRER 80 25 =i
2492 |SHT4E2A18R P L) /i e [ ; RRER 80 25 =i
2493 |SHT4E2A18R KT /i e [ RRER 80 25 =i
2494 |SHT4E2A20R 1L 3k Er RE g L RRER 85 20 =i
2495 |SHT4E2A20R ITp1A:) EHN g L RRER 100 30 =i
2496 |SHT4E2A18R FANF Bra bk [ RRER 102 16 =i
2497 |SHT14E2A18R FANNF Bra g [ RRER 95 12 =i
2498 |SHT£E2A20R KItHHET &= g L RRER 70 20 =i
2499 |SHT4E2A22R Kilr RE g [ ; RRER 140 125 =i
2500 |HI74E2A24R Kilr RE g L RRER 130 90 =i
2501 |5H74E2A25R KT 1 g L RRER 90 15 =i
2502 |H74E2A25R MEET BEI g [ RRER 80 25 =i
2503 |SHT42A27R /MERT R bk B RRER 120 30 ]
2504 |HHT4£2A238 FRRT |ER g [ RRER 93 14 (=3
2505 |SHT43A1R 1L 3k Er 2 g [ RRER 140 70 =3
2506 |HHT4£2A28R8 KT m e ;3 RRER 110 40 (=3
2507 | SHT43A4R 1) hE g i RRER 106 42 (=]
2508 |HHNTE3A4R HiERT | RE=7K bk [ RRER 100 17 (=3
2509 |HHTE£3A5RH /MERET (BEN e ;3 RRER 95 40 (=3
2510 |HHNTE3A9R Kighr FR e i RRER 90 30 (=3
2511 | SHT43A9R KigHr FR g [ RRER 90 25 =]
2512 |HH714£3A108 KT =R e i RRER 100 40 (=3
2513 |HH714E3A11R8 YR ET % g [ RRER 80 30 (=]
2514 |HHT43A138 KT RE g [ RRER 130 90 (=3
2515 |HHT43A138 KT P g ;3 RRER 140 80 (=]
2516 |HMT4£3A14R L) % e ;3 RRER 90 30 (=3
2517 |HM7143A148 K3tHHET P g 3 RRER 90 25 (=]
2518 |HH74£3A 158 K3tHHET == e 3 RRER 110 60 (=3
2519 |HH743A17H KT $RFETA e 3 RRER 100 25 (=]
2520 |HHT4E3A1TH mARET  (BAE g [ RRER 50 22 =]
2521 |5HI714E3A16R L ET HBXRH e [ RRER 150 55 (=]
2522 |HIT4E3A18R LiSEEr =EHN e 3 RRER 120 40 (=3
2523 |SfTE3A24H ZEHr —f& ®ET [ AR 150 75 (=4
2524 |SHT4E3A2TRH MERET (BE g [ RREK 90 40 =3
2525 |HIT4E3A2TRH KT AR e ;3 RRER 100 30 ]
2526 |HHT14£3A21H HARMET ] s [ RRER 110 25 ]
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2527 |SHT4E3A28R ELARET ] bk s RRER 110 25 ]
2528 |SHT4E3A31R HERT |REEFH s ; RRER 110 50 =]
2529 |SHT14E4A2AH HERT |REEF s L RRER 70 15 =]
2530 |SHT€E4A2AH HERT | REEF s ; RRER 70 15 =]
2531 |SHT14E4A4R /INERT K s L RRER 110 60 =]
2532 |SHT14E4A4R L) % s L RRER 100 35 =]
2533 |HT4E4A5H BEARET  (BAE s ; RRER 70 26 =3
2534 |SHT4E4A6H BEARE |EL s ; RRER 110 60 =3
2535 |GHIT4E4A6H BEARE |EL s L RRER 95 35 =3
2536 |SHT4E4ATH HERT  |REGR s ; RRER 100 30 (=]
2537 |SHT4E4A9A 1L 3k Er 2 s ; RRER 130 50 =3
2538 |SHT4E4A14R KT P s ; RRER 70 15 =3
2539 |SHT44A16R b 1) - bk h RRER 100 25 =3
2540 |SHT4E4A16R KT 1)) bk L RRER 155 100 =3
2541 |SHT4E4A17R BEARE BT bk L RRER 80 19 =3
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